NAS10-99001 Section J, Attachment J-3 (Mod 381)

NAS10-99001
JOINT BASE OPERATIONS AND SUPPORT

CONTRACT

ATTACHMENT J-3

GOVERNMENT FURNISHED PROPERTY FOR
POTENTIAL USE IS LOCATED IN THE
NASA EQUIPMENT MANAGEMENT SYSTEM
DATABASE (NEMS)

Revision 1 (updated as of October 9, 2006)



Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

2 1{534000K073967 | CATCH:CLAMPING,QUICK RELEASE OVER CENTER,SS SE 10  $9.99 $99.90
SCREW,SELF-TAPPING:#10-16 DIA,2" LG,GIMLET POINT,PAN PHILLIPS

3 2|5305004977410 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $0.18 $18.00
SCREW,SELF-TAPPING:#12-11 DIA,3/4" LG,GIMLET POINT,PAN PHILLIPS

4 415305000582092 |HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $5.71 $5.71
SCREW,SELF-TAPPING:#12-11 DIA,1/2" LG,GIMLET POINT,PAN PHILLIPS

5 6|5305000582090 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $0.68 $68.00
SCREW,SELF-TAPPING:#12-11 DIA,1" LG,GIMLET POINT,PAN PHILLIPS

6 8|5305000547539 [HD,PASSIVATED CRES 410 SS,FF-S-107 TYPE 1 EA 1] $0.10 $0.10
SCREW,SELF-TAPPING:#12-11 DIA,1-1/2" LG,GIMLET POINT,PAN PHILLIPS

7 10|5305000527435 |HD,CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1] $4.06 $4.06
SCREW,SELF-TAPPING:1/4"-14 DIA,5/8" LG,DOG POINT,PAN PHILLIPS

8 12(5305010864025 |HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $1.04] $104.00
SCREW,SELF-TAPPING:1/4" DIA,1" LG,GIMLET POINT,PAN PHILLIPS

9 14|5305004324254 |HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1  $3.77 $3.77
SCREW,SELF-TAPPING:1/4"-14 DIA,1-1/4" LG,GIMLET POINT,PAN PHILLIPS

10 16|5305004324255 |HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1]  $9.38 $9.38
SCREW,SELF-TAPPING:#10-12 DIA,3/4" LG,GIMLET POINT,PAN PHILLIPS

11 18[5305004770122 |HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $3.53 $3.53
SCREW,SELF-TAPPING:3/16"-16 DIA,1" LG,GIMLET POINT,PAN PHILLIPS

12 20[5305004770124 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $5.01 $5.01
SCREW,SELF-TAPPING:#10-12 DIA,1-1/4" LG,GIMLET POINT,PAN PHILLIPS

13 22(5305007575931 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $0.09 $9.00
SCREW,SELF-TAPPING:#10-12 DIA,1-1/2" LG,GIMLET POINT,PAN PHILLIPS

14 24{5305006197712 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100] $0.14 $14.00
SCREW,SELF-TAPPING:#10-16 DIA,0.625" LG,DOG POINT,PAN PHILLIPS

15 26|5305004324202 [HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1]  $2.05 $2.05
SCREW,SELF-TAPPING:#10-16 DIA,0.5" LG,DOG POINT,PAN PHILLIPS

16 28/5305008368476 |[HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1]  $2.52 $2.52
SCREW,SELF-TAPPING:#10-16 DIA,3/4" LG,GIMLET POINT,PAN PHILLIPS

17 30[5305004324203 [HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1 $2.16 $2.16
SCREW,SELF-TAPPING:#10-16 DIA,1-3/4" LG,GIMLET POINT,PAN PHILLIPS

18 32(5305004977409 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 200 $0.74] $148.00

1 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,SELF-TAPPING:#8-18 DIA,3/4" LG,GIMLET POINT,PAN PHILLIPS

19 34/5305004324172 |HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1] $2.95 $2.95
SCREW,SELF-TAPPING:#8-18 DIA,3/4" LG,GIMLET POINT,PAN PHILLIPS

20 36[5305004333685 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $3.14 $3.14
SCREW,SELF-TAPPING:#8-18 DIA,0.969"-1.031" LG,GIMLET POINT,PAN

21 38/5305004327954 |PHILLIPS HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1]  $2.18 $2.18
SCREW,SELF-TAPPING:#8-18 DIA,1" LG,GIMLET POINT,PAN PHILLIPS

22 40]5305005176323 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 1] $0.05 $0.05
SCREW,SELF-TAPPING:#8-18 DIA,1-1/4" LG,GIMLET POINT,PAN PHILLIPS

23 4215305001473241 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $0.13 $13.00
SCREW,SELF-TAPPING:#8-18 DIA,1-1/2" LG,GIMLET POINT,PAN PHILLIPS

24 4415305001373042 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 100 $0.09 $9.00
SCREW,SELF-TAPPING:#10-12 DIA,1/2" LG,GIMLET POINT,PAN PHILLIPS

25 46|5305001473238 [HD,PASSIVATED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $3.35 $3.35
SCREW,SELF-TAPPING:#10-12 DIA,5/8" LG,GIMLET POINT,PAN PHILLIPS

26 48|5305004770120 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 2 $2.83 $5.66
SCREW,MACHINE:#10 DIA,24 UNC-2A,3/8" LG,PAN PHILLIPS

27 50[{5305000509227 [HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $3.53 $3.53
SCREW,MACHINE:#12 DIA,24 UNC-2A,1-1/4" LG,ROUND SLOTTED HD,CAD

28 52(5305000132992 [PLTD STEEL,FF-S-92 TYPE 1 STYLE 1S EA 50 $0.10 $5.00
SCREW,WOOD:#6 DIA,18 TPI,3/4" LG,ROUND PHILLIPS HD,CAD CHROMATE

29 54{5305001513723 [PLTD STEEL,QQ-P-416 TYPE 2 CL 3,FF-S-111 TYPE 1 HD 1] $0.61 $0.61
SCREW,SELF-TAPPING:#6-20 DIA,3/8" LG,GIMLET POINT,PAN PHILLIPS

30 56(5305001473228 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 2] $1.81 $3.62
SCREW,SELF-TAPPING:#6-20 DIA,1/2" (0.469"-0.531") LG,GIMLET POINT,PAN

31 58(5305004977401 [PHILLIPS HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 EA 200] $0.03 $6.00
SCREW,SELF-TAPPING:#6-18 DIA,7/8" LG,GIMLET POINT,PAN PHILLIPS

32 60[5305004324167 |[HD,CASE HARDENED CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1 $11.77 $11.77
SCREW,SELF-TAPPING:#8-18 DIA,3/8" LG,GIMLET POINT,PAN PHILLIPS

33 62(5305001396757 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1]  $5.40 $5.40
SCREW,SELF-TAPPING:#8-18 DIA,1/2" LG,GIMLET POINT,PAN PHILLIPS

34 64{5305004333711 [HD,PASSIVATED HARDENED CRES 410 SS,FF-S-107 TYPE 1 HD 1] $251 $2.51

2 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,MACHINE:#10 DIA,24 UNC-2A,7/16" LG,DRILLED FILLISTER
SLOTTED HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-

35 66[5305009399187 [92,MIL-I-17214 EA 100 $0.04 $4.10
SCREW,MACHINE:#10 DIA,24 UNC-2A,1" LG,DRILLED FILLISTER SLOTTED

36 68[5305009425121 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 |EA 100[ $0.10 $10.00
SCREW,MACHINE:#10 DIA,24 UNC-2A,1-3/4" LG,DRILLED FILLISTER
SLOTTED HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-

37 70[5305009399211 [92,MIL-I-17214 EA 50 $0.17 $8.60
SCREW,MACHINE:#10 DIA,32 UNF-2A,1/2" LG,DRILLED FILLISTER SLOTTED

38 74{5305009124838 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 [HD 1] $8.55 $8.55
SCREW,MACHINE:#10 DIA,32 UNF-2A,3/4" LG,DRILLED FILLISTER SLOTTED

39 76[5305009124833 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 |EA 100[ $0.07 $7.00
SCREW,MACHINE:#10 DIA,32 UNF-2A,1" LG,DRILLED FILLISTER SLOTTED

40 78[5305009124819 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 |EA 50| $0.09 $4.50
SCREW,MACHINE:#6 DIA,32 UNC-2A,1/2" LG,DRILLED FILLISTER SLOTTED

41 82(5305009409491 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 [HD 1] $6.17 $6.17
SCREW,MACHINE:#6 DIA,32 UNC-2A,1" LG,DRILLED FILLISTER SLOTTED

42 84{5305009422168 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 |EA 100[ $0.09 $9.40
SCREW,MACHINE:#6 DIA,32 UNC-2A,1-1/2" LG,DRILLED FILLISTER SLOTTED

43 86[5305009409498 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 |EA 100[ $0.25 $25.00
SCREW,MACHINE:#8 DIA,32 UNC-2A,1/2" LG,DRILLED FILLISTER SLOTTED

44 88[5305009428431 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 [HD 1] $6.78 $6.78
SCREW,MACHINE:#10 DIA,24 UNC-2A,3/4" LG,DRILLED FILLISTER SLOTTED

45 90[{5305009399190 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92,MIL-1-17214 [HD 1] $6.70 $6.70

3 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,MACHINE:#8 DIA,32 UNC-2A,2" LG,DRILLED FILLISTER SLOTTED

46 94{5305009399257 [HD,PASSIVATED CRES 302,303,304,305,316,0R 384 SS,FF-S-92 MIL-1-17214 |EA 50 $0.36 $18.00
SCREW,MACHINE:#8 DIA,32 UNC-2A,1" LG,PAN PHILLIPS HD,PASSIVATED

47 98[5305000546674 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 HD 1] $3.91 $3.91
SCREW,MACHINE:#10 DIA,24 UNC-2A,1/2" LG,PAN PHILLIPS

48 100|5305000509229 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $4.42 $4.42
SCREW,MACHINE:#10 DIA,32 UNF-2A,3/8" LG,PAN PHILLIPS

49 102|5305000593657 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $3.70 $3.70
SCREW,MACHINE:#10 DIA,32 UNF-2A,1/2" LG,PAN PHILLIPS

50 104|5305000593659 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1 $2.72 $2.72
SCREW,MACHINE:#10 DIA,32 UNF-2A,3/4" LG,PAN PHILLIPS

51 106|5305000593661 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $3.13 $3.13
SCREW,MACHINE:#10 DIA,32 UNF-2A,1" LG,PAN PHILLIPS HD,PASSIVATED

52 108|5305000593663 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1 $4.77 $4.77
SCREW,MACHINE:#10 DIA,32 UNF-2A,1-1/4" LG,PAN PHILLIPS

53 110|5305000593664 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $5.35 $5.35
SCREW,MACHINE:#10 DIA,32 UNF-2A,1-1/2" LG,PAN PHILLIPS

54 112|5305000593665 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 50 $0.09 $4.50
SCREW,MACHINE:#6 DIA,32 UNC-2A,5/8" LG,PAN PHILLIPS HD,PASSIVATED

55 114]5305000546655 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $2.45 $2.45
SCREW,MACHINE:#6 DIA,32 UNC-2A,3/4" LG,PAN PHILLIPS HD,PASSIVATED

56 116|5305000546656 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $3.11 $3.11
SCREW,MACHINE:#6 DIA,32 UNC-2A,7/8" LG,PAN PHILLIPS HD,PASSIVATED

57 118|5305000546657 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $4.97 $4.97
SCREW,MACHINE:#6 DIA,32 UNC-2A,1-1/4" LG,PAN PHILLIPS HD,CAD PLTD

58 120]5305009846222 |CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AlSI C1010,C1011,C1012 OR C1013 HD 1]  $0.99 $0.99
SCREW,MACHINE:#8 DIA,32 UNC-2A,1-1/4" LG,PAN PHILLIPS

59 122|5305000546675 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $4.68 $4.68
SCREW,MACHINE:#8 DIA,32 UNC-2A,1-1/2" LG,PAN PHILLIPS

60 12415305000546676 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $4.73 $4.73

4 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,MACHINE:#8 DIA,32 UNC-2A,2" LG,PAN PHILLIPS HD,PASSIVATED

61 126|5305000546680 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 50 $0.18 $9.00
SCREW,MACHINE:#8 DIA,32 UNC-2A,3" LG,PAN PHILLIPS HD,PASSIVATED

62 128|5305000549226 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 50 $1.24 $62.00
SCREW,SELF-TAPPING:#10-12 DIA,0.75" LG,GIMLET POINT,82 DEG FLAT

63 130]5305008550836 | COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1]  $5.90 $5.90
SCREW,SELF-TAPPING:#10-16 DIA,2" LG,GIMLET POINT,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE 2 CL

64 132|5305004830553 |3,FF-S-107C EA 100 $0.12 $12.00
SCREW,SELF-TAPPING:#12-11 DIA,0.75" LG,GIMLET POINT,82 DEG FLAT

65 134|5305000578471 | COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,FF-S-107 TYPE 1 EA 100 $0.27 $27.00
SCREW,SELF-TAPPING:#12-11 DIA,1.5" LG,GIMLET POINT,82 DEG FLAT

66 136|5305000528244 |COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,FF-S-107 TYPE 1 HD 1] $5.80 $5.80
SCREW,MACHINE:#4 DIA,40 UNC-2A,1/2" LG,PAN PHILLIPS HD,CAD PLTD

67 138|5305008892999 |CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AlSI C1010,C1011,C1012 OR C1013 HD 1]  $0.47 $0.47
SCREW,MACHINE:#4 DIA,40 UNC-2A,1-1/4" LG,PAN PHILLIPS

68 140]5305000545656 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1] $2.35 $2.35
SCREW,MACHINE:#6 DIA,32 UNC-2A,3/8" LG,PAN PHILLIPS HD,CAD PLTD

69 142|5305009844988 |CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AlSI C1010,C1011,C1012 OR C1013 HD 1]  $1.09 $1.09
SCREW,MACHINE:#6 DIA,32 UNC-2A,1/2" LG,PAN PHILLIPS HD,PASSIVATED

70 14415305000546654 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1]  $2.66 $2.66
ANCHOR,TOGGLE BOLT:1/4" DIA,4" LG,82 DEG FLAT COUNTERSUNK

71 146|5306002093770 |HD,CAD,CHROMIUM OR ZINC FINISHED STEEL,FF-B-588 BX 1] $13.50 $13.50
SCREW,SELF-TAPPING:#6-20 DIA,0.5" LG,GIMLET POINT,82 DEG FLAT

72 148|5305004324388 | COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE 2 CL 3|HD 1 $2.94 $2.94
SCREW,SELF-TAPPING:#6-20 DIA,0.75" LG,GIMLET POINT,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE 2 CL

73 150]5305004324390 |3,FF-S-107C EA 100 $0.09 $9.00

5 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,SELF-TAPPING:#8-18 DIA,0.5" LG,GIMLET POINT,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE 2 CL

74 152|5305004324394 |3,FF-S-107C EA 100 $0.09 $9.00
SCREW,SELF-TAPPING:#8-18 DIA,0.75" LG,GIMLET POINT,82 DEG FLAT

75 15415305004830554 |COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE Il CL 3|HD 1]  $7.00 $7.00
SCREW,SELF-TAPPING:#8-18 DIA,1.5" LG,GIMLET POINT,82 DEG FLAT

76 156|5305004328219 |COUNTERSUNK PHILLIPS HD,CAD W/CHROMATE CS,QQ-P-416 TYPE 2 CL 3 |BX 2| $0.94 $1.88
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1-1/2" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S

77 168|5305007195001 192 TYPE IlI,MIL-1-17214 EA 50 $0.09 $4.50
SCREW,MACHINE:1/4" DIA,20 UNC-2A,2" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,CAD CHROMATE FINISHED CS,FF-S-92 TYPE 1,AISI

78 170]5305009585482 |C1010,C1011,C1012 OR C1013 HD 1] $4.67 $4.67
SCREW,MACHINE:1/4" DIA,20 UNC-2A,2-1/2" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD CHROMATE FINISHED CS,FF-S-92 TYPE

79 172|5305009585249 |1,AISI C1010,C1011,C1012 OR C1013 HD 1 $2.20 $2.20
SCREW,MACHINE:5/16" DIA,18 UNC-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

80 176|5305007637830 |I-17214 HD 1] $12.88 $12.88
SCREW,MACHINE:3/8" DIA,16 UNC-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

81 178|5305000826739 |I-17214 HD 1] $21.45 $21.45
SCREW,MACHINE:3/8" DIA,16 UNC-2A,2" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,80000 PSI MIN

82 180]5305000592503 |TENSILE STRENGTH,RIGHT HAND THREAD HD 1] $60.04 $60.04
SCREW,MACHINE:#10 DIA,24 UNC-2A,1-1/2" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S

83 184|5305007015121 192 TYPE IlI,MIL-1-17214 HD 1] $10.12 $10.12
SCREW,MACHINE:#12 DIA,24 UNC-2A,1/2" LG,82 DEG FLAT COUNTERSUNK

84 186|5305008838689 |SLOTTED HD,CRES STEEL,FF-S-92 TYPE 1 STYLE 1S EA 10| $0.03 $0.30

6 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL

1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
SCREW,MACHINE:1/4" DIA,28 UNF-2A,3/4" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

85 188|5305007195093 |I-17214 EA 100 $0.10 $10.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,3/4" LG,82 DEG FLAT COUNTERSUNK

86 190|5305009585246 |PHILLIPS HD,CAD OR ZINC FINISHED CS,FF-S-92 TYPE 1 HD 1] $5.25 $5.25
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

87 192|5305007195007 |I-17214 HD 1  $6.27 $6.27
SCREW,MACHINE:1/4" DIA,28 UNF-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

88 194|5305007195121 |I-17214 EA 100 $0.29 $29.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1-1/4" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD OR ZINC FINISHED CS,FF-S-92 TYPE

89 196|5305009901347 |1,AISI C1010,C1011,C1012 OR C1013 HD 1] $1.92 $1.92
SCREW,MACHINE:#10 DIA,32 UNF-2A,3/8" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

90 198|5305000711320 |I-17214 HD 2l $2.15 $4.30
SCREW,MACHINE:#10 DIA,32 UNF-2A,7/16" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

91 200[{5305000711321 [I-17214 HD 1] $4.35 $4.35
SCREW,MACHINE:#10 DIA,24 UNC-2A,1/2" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

92 202(5305007015074 [1-17214 HD 1]  $3.40 $3.40
SCREW,MACHINE:#10 DIA,32 UNF-2A,1/2" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

93 204{5305000711322 [1-17214 HD 1] $6.10 $6.10
SCREW,MACHINE:#10 DIA,24 UNC-2A,3/4" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

94 206[5305007015078 [1-17214 EA 100 $0.07 $7.00
SCREW,MACHINE:#10 DIA,24 UNC-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

95 208(5305007015118 [I1-17214 HD 1] $5.85 $5.85

7 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,MACHINE:#10 DIA,32 UNF-2A,3/4" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

96 210[{5305000711324 [1-17214 HD 1]  $5.50 $5.50
SCREW,MACHINE:#10 DIA,32 UNF-2A,1" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

97 212(5305000711326 [I-17214 HD 1] $4.80 $4.80
SCREW,SELF-TAPPING:#8-32 DIA,5/8" LG,PAN PHILLIPS HD,PASSIVATED

98 214{5305000529052 |HARDENED CRES 410 OR 420 SS,FF-S-107 TYPE 1 HD 1  $8.77 $8.77
SCREW,SELF-TAPPING:#10-16 DIA,3/4" LG,PAN PHILLIPS HD,#3 ZINC

99 216(5305012796311 |COATED STEEL BX 1] $32.08 $32.08
SCREW,CAP:1/4" DIA,20 UNC-2A,7/8" LG,HEX HD,CAD CHROMATE STEEL

100 218(5305000712505 |ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 HD 1] $2.23 $2.23
SCREW,MACHINE:#6 DIA,32 UNC-2A,1/2" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

101 220[5305007195064 [1-17214 HD 1] $1.96 $1.96
SCREW,MACHINE:#6 DIA,32 UNC-2A,1-3/4" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

102 222(5305007654337 [1-17214 EA 50 $0.12 $6.00
SCREW,MACHINE:#8 DIA,32 UNC-2A,3/8" LG,82 DEG FLAT COUNTERSUNK
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE IlI,MIL-

103 224{5305007654257 [1-17214 HD 1 $1.57 $1.57
WASHER,FLAT:0.281" ID,0.625" OD,0.065" THK,PASSIVATED CRES

104 226[5310005825677 |STEEL,QQ-S-00766,FF-W-92,MIL-I-17214 HD 2| $5.75 $11.50
WASHER,FLAT:5/16" NOM,0.328" ID,0.562" OD,0.063" THK,PASSIVATED

105 228|5310001670803 |CRES STEEL,FF-W-92 MIL-S-5059,AMS 5510 OR 5512 HD 1] $1.60 $1.60
WASHER,FLAT:3/8" NOM,0.39" ID,0.625" OD,0.063" THK,PASSIVATED CRES

106 230[5310001670804 |STEEL,FF-W-92 MIL-S-5059,AMS 5510 OR 5512 HD 1] $1.98 $1.98

107 232(5310001670765 |WASHER,FLAT:#10 NOM,0.875" OD,0.063" THK,ZINC FINISHED STEEL HD 3 $2.29 $6.87
WASHER,FLAT:0.375" ID,0.875" OD,0.083" THK,CHROMATE CAD PLTD CS,FF-

108 234{5310000877493 |W-92 HD 2| $2.33 $4.66

109 236|5310001670766 |WASHER,FLAT:1/4" NOM,0.125" OD,0.063" THK,ZINC FINISHED STEEL HD 3] $3.01 $9.03

110 238|5310001670767 |WASHER,FLAT:5/16" NOM,1.375" OD,0.063" THK,ZINC FINISHED STEEL HD 2] $4.81 $9.62

111 240|5310001670768 |WASHER,FLAT:3/8" NOM,1.625" OD,0.063" THK,ZINC FINISHED STEEL HD 1] $6.41 $6.41

8 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

WASHER,FLAT:0.156" ID,0.312" OD,0.035" THK,PASSIVATED CRES

112 242(5310007225998 |STEEL,QQ-S-00766,FF-W-92 MIL-I-17214 HD 1] $0.30 $0.30
WASHER,LOCK:SPLIT HELICAL RING,#8 NOM,0.296" OD,0.043"

113 244(5310000453299 |THK,CHROMATE CAD PLTD CS,FF-W-84 HD 1] $0.31 $0.31
WASHER,FLAT:#8 NOM,0.174" ID,0.375" OD,0.032" THK,PASSIVATED CRES

114 246(5310006853744 |STEEL,FF-W-92 MIL-S-5059,AMS 5510 OR 5512 HD 1] $0.76 $0.76
WASHER,FLAT:#10 NOM,0.203" 1D,0.438" OD,0.032" THK,PASSIVATED CRES

115 248(5310001670812 |STEEL,MIL-S-5059,MIL-S-6721 GR2CLBTYA,RECTANGULAR SHAPE HD 5 $0.71 $3.55
WASHER,FLAT:#8 NOM,0.174" 1D,0.375" OD,0.032" THK,CAD PLTD CS,FF-W-

116 250[5310005158058 |92,MIL-S-7952 HD 1] $0.58 $0.58
WASHER,FLAT:1/4" NOM,0.255"-0.275" ID,0.495"-0.52" OD,0.057"-0.069"

117 252(5310013529593 |THK,PASSIVATED CRES STEEL,QQ-P-35 HD 2| $1.44 $2.88
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1-1/4" LG,PAN PHILLIPS

118 254{5305000712087 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 50 $0.13 $6.50
SCREW,MACHINE:1/4" DIA,28 UNF-2A,1-1/4" LG,PAN PHILLIPS

119 256(5305000712094 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 75  $0.17 $12.45
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1-1/2" LG,PAN PHILLIPS

120 258(5305000712088 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 50 $0.12 $6.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,2" LG,PAN PHILLIPS HD,PASSIVATED

121 264{5305000712093 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 EA 1] $0.24 $0.24
WASHER,FLAT:#6 NOM,0.149" ID,0.375" OD,0.032" THK,CAD PLTD CS,FF-W-

122 266(5310001670816 |92,MIL-S-7952 HD 1] $0.52 $0.52
SCREW,MACHINE:#12 DIA,24 UNC-2A,0.75" LG,#2 PAN SLOTTED

123 268[5305009145151 |HD,PASSIVATED CRES 316 SS,ASTM A193-62T EA 100 $0.13 $13.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,1" LG,PAN PHILLIPS HD,PASSIVATED

124 270[{5305000711318 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 EA 100 $0.07 $7.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,2" LG,PAN PHILLIPS HD,PASSIVATED

125 272(5305000711315 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 HD 1] $3.98 $3.98
SCREW,MACHINE:1/4" DIA,28 UNF-2A,1/2" LG,PAN PHILLIPS

126 274{5305000593675 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 100 $0.15 $15.00
SCREW,MACHINE:1/4" DIA,20 UNC-2A,3/4" LG,PAN PHILLIPS

127 276[5305000826721 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1]  $5.59 $5.59

9 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,CAP:1/4" DIA,20 UNC-2A,3/8" LG,HEX HD,PASSIVATED CRES

128 282(5305005766107 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.13 $6.50
SCREW,MACHINE:#10 DIA,32 UNF-2A,2" LG,PAN PHILLIPS HD,PASSIVATED

129 284{5305000593667 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 EA 100 $0.10 $10.00
SCREW,MACHINE:#10 DIA,24 UNC-2A,3" LG,PAN PHILLIPS HD,CAD PLTD

130 288[5305009847365 |CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AISI C1010,C1011,C1012 OR C1013 HD 1] $10.48 $10.48
SCREW,MACHINE:#10 DIA,24 UNC-2A,3/4" LG,PAN PHILLIPS

131 290[5305000509231 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 HD 1]  $3.29 $3.29
SCREW,MACHINE:#10 DIA,24 UNC-2A,1" LG,PAN PHILLIPS HD,PASSIVATED

132 292(5305000509233 |CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-I-17214 HD 1] $6.51 $6.51
SCREW,MACHINE:#10 DIA,24 UNC-2A,1-1/2" LG,PAN PHILLIPS

133 294{5305000509235 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 100] $0.14 $14.00
SCREW,MACHINE:#10 DIA,24 UNC-2A,1-3/4" LG,PAN PHILLIPS HD,CAD PLTD

134 296[5305009846217 |CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AISI C1010,C1011,C1012 OR C1013 HD 1] $1.28 $1.28
SCREW,MACHINE:#10 DIA,24 UNC-2A,2-1/2" LG,PAN PHILLIPS

135 298(5305000509239 |HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE 1,MIL-1-17214 EA 100 $0.27 $27.00
SCREW,CAP:3/8" DIA,16 UNC-2A,2" LG,HEX HD,PASSIVATED CRES

136 300{5305006389837 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 1] $0.52 $0.52
SCREW,CAP:3/8" DIA,24 UNF-2A,2-1/4" LG,HEX HD,PASSIVATED CRES

137 302[5305005919257 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 25 $1.36 $33.95
SCREW,CAP:3/8" DIA,16 UNC-2A,2-1/4" LG,HEX HD,PASSIVATED CRES

138 304{5305004550315 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 10| $0.27 $2.70
SCREW,CAP:3/8" DIA,16 UNC-2A,2-1/2" LG,HEX HD,PASSIVATED CRES

139 306{5305008225853 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.47 $23.50
SCREW,CAP:3/8" DIA,16 UNC-2A,2-3/4" LG,HEX HD,PASSIVATED CRES

140 308{5305009640635 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 1] $0.61 $0.61
SCREW,CAP:3/8" DIA,16 UNC-2A,3" LG,HEX HD,PASSIVATED CRES

141 310{5305005434406 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.69 $34.50
SCREW,CAP:3/8" DIA,16 UNC-2A,3-1/4" LG,HEX HD,PASSIVATED CRES

142 312(5305008798351 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.84 $42.00
SCREW,CAP:3/8" DIA,16 UNC-2A,5/8" LG,HEX HD,PASSIVATED CRES

143 314{5305006559711 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.55 $27.50

10 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,CAP:3/8" DIA,16 UNC-2A,3/4" LG,HEX HD,PASSIVATED CRES

144 316{5305006322777 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.26 $13.00
SCREW,CAP:3/8" DIA,16 UNC-2A,7/8" LG,HEX HD,PASSIVATED CRES

145 318[5305007175460 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.20 $10.00
SCREW,CAP:3/8" DIA,16 UNC-2A,1" LG,HEX HD,PASSIVATED CRES

146 320[5305005765417 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 1 $0.27 $0.27
SCREW,CAP:3/8" DIA,16 UNC-2A,1-1/8" LG,HEX HD,PASSIVATED CRES

147 322(5305007215665 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.30 $15.00
SCREW,CAP:3/8" DIA,16 UNC-2A,1-1/4" LG,HEX HD,PASSIVATED CRES

148 324{5305007175467 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 100 $0.33 $33.00
SCREW,CAP:3/8" DIA,16 UNC-2A,1-1/2" LG,HEX HD,PASSIVATED CRES

149 326[5305000213740 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 HD 2| $34.27 $68.54
SCREW,CAP:3/8" DIA,16 UNC-2A,1-3/4" LG,HEX HD,PASSIVATED CRES

150 328(5305008471159 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 15  $0.36 $5.40
BOLT,MACHINE:5/16" DIA,18 UNC-2A,3/4" LG,HEX HD,PASSIVATED CRES

151 330[{5306006379675 |302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 1] $0.10 $0.10
BOLT,MACHINE:5/16" DIA,18 UNC-2A,1" LG,HEX HD,PASSIVATED CRES

152 332(5306005434405 |302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 100 $0.12 $12.00
BOLT,MACHINE:5/16" DIA,18 UNC-2A,1-1/4" LG,HEX HD,PASSIVATED CRES

153 334{5306006379674 |302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 100] $0.14 $14.00
BOLT,MACHINE:5/16" DIA,18 UNC-2A,1-1/2" LG,HEX HD,PASSIVATED CRES

154 336[5306006556170 |302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 50 $0.22 $11.00
SCREW,CAP:5/16" DIA,24 UNF-2A,2" LG,HEX HD,PASSIVATED CRES

155 338[5305002525082 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 100 $0.87 $87.00
BOLT,MACHINE:5/16" DIA,18 UNC-2A,2-1/2" LG,HEX HD,PASSIVATED CRES

156 340[5306009827942 |1302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 100 $0.52 $52.00
SCREW,CAP:5/16" DIA,18 UNC-2A,5" LG,HEX HD,PASSIVATED CRES

157 342(530500K026961 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 25 $1.63 $40.75
SCREW,CAP:3/8" DIA,16 UNC-2A,1/2" LG,HEX HD,PASSIVATED CRES

158 344{5305004780273 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.38 $19.00
SCREW,CAP:5/16" DIA,24 UNF-2A,1/2" LG,HEX HD,PASSIVATED CRES

159 346[5305002525101 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.10 $4.95

11 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,CAP:1/4" DIA,20 UNC-2A,3" LG,HEX HD,PASSIVATED CRES

160 348(5305007029070 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.29 $14.50
SCREW,CAP:1/4" DIA,20 UNC-2A,3-1/4" LG,HEX HD,PASSIVATED CRES

161 350[5305004767475 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 100 $0.52 $52.00
SCREW,CAP:1/4" DIA,20 UNC-2A,3-1/2" LG,HEX HD,PASSIVATED CRES

162 352(5305001538804 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.42 $21.00
SCREW,CAP:1/4" DIA,20 UNC-2A,3-3/4" LG,HEX HD,PASSIVATED CRES

163 354{5305009107231 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 25 $0.18 $4.50
SCREW,CAP:1/4" DIA,20 UNC-2A,4" LG,HEX HD,PASSIVATED CRES

164 356[5305001458406 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 25 $0.58 $14.50
SCREW,CAP:1/4" DIA,20 UNC-2A,4-1/2" LG,HEX HD,PASSIVATED CRES

165 358(5305009640634 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.53 $26.50
SCREW,CAP:1/4" DIA,20 UNC-2A,5" LG,HEX HD,PASSIVATED CRES

166 360[{5305000227971 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 25 $1.25 $31.25
BOLT,MACHINE:5/16" DIA,18 UNC-2A,1/2" LG,HEX HD,PASSIVATED CRES

167 362(5306008071213 |302,303 OR 304 SS,FF-F-85,MIL-1-17214 EA 50 $0.34 $17.00
SCREW,CAP:1/4" DIA,20 UNC-2A,2-3/4" LG,HEX HD,PASSIVATED CRES

168 364{5305008020016 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 15| $0.37 $5.55
SCREW,CAP:1/4" DIA,20 UNC-2A,2-3/4" LG,HEX HD,CAD CHROMATE STEEL

169 366[5305000712514 |ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 EA 15| $0.08 $1.20
SCREW,CAP:1/4" DIA,20 UNC-2A,2-1/2" LG,HEX HD,CAD CHROMATE STEEL

170 368[5305000712513 |ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 EA 50 $0.08 $4.00
SCREW,CAP:1/4" DIA,20 UNC-2A,2-1/2" LG,HEX HD,PASSIVATED CRES

171 370[{5305007218005 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.26 $13.00
SCREW,CAP:1/4" DIA,20 UNC-2A,2-1/4" LG,HEX HD,PASSIVATED CRES

172 372(5305006556974 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 75 $0.30 $22.50
SCREW,CAP:1/4" DIA,20 UNC-2A,2" LG,HEX HD,CAD CHROMATE CS,QQ-P-

173 374{5305000712237 |416 TYPE 2 CL 3,FF-S-85,GR 5 EA 50 $0.12 $6.20
SCREW,CAP:1/4" DIA,20 UNC-2A,1-3/4" LG,HEX HD,PASSIVATED CRES

174 376[5305006166370 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.09 $4.50
WASHER,FLAT:#4 NOM,0.125" ID,0.312" OD,0.016" THK,PASSIVATED CRES

175 378[5310005956425 |STEEL,FF-W-92 MIL-S-5059,AMS 5510 OR 5512 HD 1] $0.75 $0.75

12 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,CAP:1/4" DIA,28 UNF-2A,1-3/4" LG,HEX HD,PASSIVATED CRES

176 380[5305006858105 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.22 $11.00
SCREW,CAP:1/4" DIA,28 UNF-2A,2" LG,HEX HD,PASSIVATED CRES

177 382(5305008147395 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.29 $14.50
SCREW,CAP:1/4" DIA,28 UNF-2A,3" LG,HEX HD,PASSIVATED CRES

178 384{5305007214439 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $0.13 $6.50
SCREW,CAP:1/4" DIA,28 UNF-2A,3-1/4" LG,HEX HD,PASSIVATED CRES

179 386[5305007208247 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 10  $7.49 $74.90
SCREW,CAP:1/4" DIA,28 UNF-2A,3-3/4" LG,HEX HD,PASSIVATED CRES

180 388[5305009037706 |302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 15  $2.92 $43.80
SCREW,CAP:1/4" DIA,28 UNF-2A,4" LG,HEX HD,PASSIVATED CRES

181 390{5305010424434 1302,303,0R 304 SS,FF-S-85,MIL-I-17214 EA 50 $1.47 $73.50
SCREW,CAP:1/4" DIA,20 UNC-2A,1-1/8" LG,HEX HD,CAD CHROMATE STEEL

182 394{5305002253842 |ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 HD 1] $3.44 $3.44
SCREW,CAP:1/4" DIA,28 UNF-2A,1-1/4" LG,HEX HD,PASSIVATED CRES

183 396[5305004562430 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 HD 1]  $9.47 $9.47
SCREW,CAP:1/4" DIA,20 UNC-2A,1-1/4" LG,HEX HD,CAD CHROMATE CS,QQ-

184 398(5305000680509 |P-416 TYPE 2 CL 3,FF-S-85,GR 5 EA 50 $0.03 $1.50
SCREW,CAP:1/4" DIA,20 UNC-2A,1-1/4" LG,HEX HD,PASSIVATED CRES

185 400]5305000213668 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 HD 1]  $9.63 $9.63
SCREW,CAP:1/4" DIA,20 UNC-2A,1-1/2" LG,HEX HD,CAD CHROMATE STEEL

186 402|5305000712509 [ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 HD 1] $5.30 $5.30
SCREW,CAP:1/4" DIA,28 UNF-2A,1-1/2" LG,HEX HD,PASSIVATED CRES

187 404]5305006882019 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 50 $0.69 $34.50
SCREW,CAP:1/4" DIA,20 UNC-2A,1-3/4" LG,HEX HD,CAD CHROMATE STEEL

188 406|5305000712510 [ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 HD 1] $5.93 $5.93
SCREW,CAP:1/4" DIA,20 UNC-2A,1-1/2" LG,HEX HD,PASSIVATED CRES

189 408|5305002072297 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 HD 1] $11.46 $11.46
SCREW,CAP:1/4" DIA,20 UNC-2A,5/8" LG,HEX HD,CAD CHROMATE CS,QQ-P-

190 410|5305000680501 (416 TYPE 2 CL 3,FF-S-85,GR 5 HD 1] $2.64 $2.64
SCREW,CAP:1/4" DIA,20 UNC-2A,5/8" LG,HEX HD,PASSIVATED CRES

191 412]5305000213616 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 HD 1] $5.64 $5.64

13 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

SCREW,CAP:1/4" DIA,28 UNF-2A,3/4" LG,HEX HD,PASSIVATED CRES

192 414]5305006853511 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 HD 1] $7.82 $7.82
SCREW,CAP:1/4" DIA,20 UNC-2A,3/4" LG,HEX HD,PASSIVATED CRES

193 416|5305007024523 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 HD 1] $3.14 $3.14
SCREW,CAP:1/4" DIA,20 UNC-2A,3/4" LG,HEX HD,CAD CHROMATE CS,QQ-P-

194 418|5305000680502 (416 TYPE 2 CL 3,FF-S-85,GR 5 HD 1 $2.72 $2.72
SCREW,CAP:1/4" DIA,20 UNC-2A,1/8" LG,HEX HD,CAD CHROMATE STEEL

195 420]|5305002253843 [ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 8 HD 1]  $3.02 $3.02
SCREW,CAP:1/4" DIA,28 UNF-2A,1" LG,HEX HD,PASSIVATED CRES

196 422]5305005907863 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 HD 1] $12.95 $12.95
SCREW,CAP:1/4" DIA,20 UNC-2A,1" LG,HEX HD,PASSIVATED CRES

197 424]15305002078253 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 1] $0.09 $0.09
SCREW,CAP:1/4" DIA,28 UNF-2A,3/8" LG,HEX HD,PASSIVATED CRES

198 426|5305006882021 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 50 $1.01 $50.50
SCREW,CAP:1/4" DIA,28 UNF-2A,7/16" LG,HEX HD,PASSIVATED CRES

199 428|5305008445960 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 50 $0.16 $8.00
SCREW,CAP:1/4" DIA,28 UNF-2A,1/2" LG,HEX HD,PASSIVATED CRES

200 430]5305000521457 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 50 $0.12 $6.00
SCREW,CAP:1/4" DIA,20 UNC-2A,1/2" LG,HEX HD,CAD CHROMATE CS,QQ-P-

201 432|5305000680500 (416 TYPE 2 CL 3,FF-S-85,GR 5 HD 1] $1.49 $1.49
SCREW,CAP:1/4" DIA,20 UNC-2A,1/2" LG,HEX HD,PASSIVATED CRES

202 434]5305007193997 [302,303,0R 304 SS,FF-S-85,MIL-I-17214 HD 1] $9.42 $9.42
SCREW,CAP:1/4" DIA,20 UNC-2A,9/16" LG,HEX HD,PASSIVATED CRES

203 436|5305007253626 [302,303,0R 304 SS,FF-S-85,MIL-1-17214 EA 1] $0.10 $0.10
WASHER,LOCK:SPLIT HELICAL RING,#10 NOM,0.334" OD,0.047"

204 438|5310009338120 [THK,PASSIVATED CRES STEEL,FF-W-84 HD 2|  $0.72 $1.44
WASHER,LOCK:SPLIT HELICAL RING,1/4" NOM,0.489" OD,0.062"

205 440|5310009338121 [THK,PASSIVATED CRES STEEL,FF-W-84 HD 3] $2.34 $7.02
WASHER,LOCK:SPLIT HELICAL RING,5/16" NOM,0.586" OD,0.078"

206 44215310009746623 [THK,PASSIVATED CRES STEEL,QQ-P-35,BLACK COLOR OVERALL HD 1] $4.64 $4.64
WASHER,LOCK:SPLIT HELICAL RING,3/8" NOM,0.683" OD,0.094"

207 44415310009847042 [THK,PASSIVATED CRES STEEL,FF-W-84 HD 3] $4.60 $13.80

14 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

WASHER,LOCK:SPLIT HELICAL RING,3/8" NOM,0.638" OD,0.094"

208 446|5310000115093 [THK,PHOSPHATE FINISHED CS,FF-W-84 HD 1] $1.88 $1.88
WASHER,LOCK:SPLIT HELICAL RING,7/16" NOM,0.784" OD,0.114"

209 448|5310002090965 [THK,CHROMATE CAD PLTD CS,FF-W-84 HD 1] $154 $1.54
WASHER,LOCK:SPLIT HELICAL RING,3/8" NOM,0.779" OD,0.109"

210 450]|5310009738786 |[THK,PASSIVATED CRES STEEL,FF-W-84 HD 1] $8.35 $8.35
WASHER,LOCK:SPLIT HELICAL RING,1/2" NOM,0.873" OD,0.125"

211 452|5310009338778 |[THK,PASSIVATED CRES STEEL,FF-W-84 HD 1] $6.28 $6.28
WASHER,FLAT:0.406" ID,0.812" OD,0.065" THK,PASSIVATED CRES

212 45415310007737618 [STEEL,QQ-S-00766,FF-W-92 MIL-I-17214 HD 2| $3.17 $6.34
WASHER,FLAT:0.469" ID,0.922" OD,0.08" THK,PASSIVATED CRES STEEL,QQ-

213 456|5310001848628 [S-00766,FF-W-92 MIL-I-17214 EA 100 $0.03 $3.00
WASHER,FLAT:0.5" ID,1.25" OD,0.083" THK,PASSIVATED CRES STEEL,QQ-S-

214 458|5310006143506 [00766,FF-W-92 MIL-I-17214 EA 200] $0.10 $20.00
WASHER,FLAT:0.531" ID,1.062" OD,0.095" THK,PASSIVATED CRES

215 460]|5310007679425 [STEEL,QQ-S-00766,FF-W-92 MIL-I-17214 HD 1]  $6.47 $6.47
WASHER,LOCK:SPLIT HELICAL RING,#6 NOM,0.25" OD,0.031"

216 462|5310009296395 [THK,PASSIVATED CRES STEEL,FF-W-84 HD 1] $0.52 $0.52
WASHER,LOCK:SPLIT HELICAL,0.115"-0.121" 1D,0.209" OD,0.025"-0.031"

217 464|5310009338118 [THK,PASSIVATED STEEL RC 35-43,QQ-P-35 HD 1] $0.54 $0.54
WASHER,LOCK:SPLIT HELICAL RING,#8 NOM,0.293" OD,0.04"

218 466|5310009338119 [THK,PASSIVATED CRES STEEL,FF-W-84 HD 1] $0.58 $0.58
WASHER,LOCK:SPLIT HELICAL RING,#10 NOM,0.337" OD,0.05"

219 468|5310000453296 [THK,CHROMATE CAD PLTD CS,FF-W-84,CID A-A-55610 HD 1] $0.60 $0.60
NUT,HEX:7/16" DIA,14 UNC-2B,0.25" OVERALL HT,PASSIVATED CRES

220 470|5310008976080 [STEEL,FF-N-836 EA 50 $0.31 $15.50
NUT,HEX:7/16" DIA,14 UNC-2B,0.375" HT,PASSIVATED CRES 303,304 OR 305

221 472|5310009651800 [SS,QQ-P-35,FF-N-836,MIL-I-17214 EA 50 $0.35 $17.50
NUT,HEX:7/16" DIA,20 UNC-2B,0.385" HT,PASSIVATED CRES 303,304 OR 305

222 47415310009895944 [SS,QQ-P-35,FF-N-836,MIL-I-17214 EA 50 $0.20 $10.00
NUT,HEX:1/2" DIA,13 UNC-2B,0.312" OVERALL HT,PASSIVATED CRES

223 476|5310009895945 [STEEL,FF-N-836 EA 50 $0.16 $8.00

15 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

NUT,LOCK:SELF LOCKING NYLON INSERT HEX,1/2" DIA,13 UNC-3B,CAD

224 478|5310005957421 [PLTD CHROMATE FINISHED STEEL ALLOY,QQ-P-416,MIL-N-25027 QPL,GR 8 |EA 100 $0.43 $43.00
NUT,HEX:1/2" DIA,13 UNC-2B,0.448" HT,CAD PLTD CS,QQ-P-416 TYPE 2 CL

225 480]|5310007613706 [C,FF-N-836 EA 25 $0.12 $3.00
NUT,HEX:1/2" DIA,13 UNC-2B,0.448" HT,PASSIVATED CRES 303,304 OR 305

226 482|5310007680321 [SS,QQ-P-35,FF-N-836,MIL-I-17214 EA 1] $0.24 $0.24
NUT,HEX:1/2" DIA,20 UNF-2B,0.448" HT,PASSIVATED CRES 303,304 OR 305

227 48415310009248210 [SS,QQ-P-35,FF-N-836,MIL-I-17214 EA 50 $0.29 $14.50
NUT,HEX:5/16" DIA,18 UNC-2B,0.273" HT,PASSIVATED CRES 303,304 OR 305

228 486|5310007670445 [SS,QQ-P-35,FF-N-836,MIL-I-17214 HD 1] $3.92 $3.92
NUT,HEX:5/16" DIA,24 UNC-2B,0.273" HT,PASSIVATED CRES 303,304 OR 305

229 488|5310009392655 [SS,QQ-P-35,FF-N-836,MIL-I-17214 EA 100 $0.17 $17.00

230 490[5310004838793 [NUT,LOCK:SELF LOCKING HEX,3/8" DIA,16 UNC-2B,CAD PLTD STEEL EA 100 $0.19 $18.80
NUT,HEX:3/8" DIA,16 UNC-2B,0.227" OVERALL HT,PASSIVATED CRES

231 492|5310009895956 [STEEL,FF-N-836 EA 50 $0.47 $23.50
NUT,HEX:1/4" DIA,20 UNC-2B,0.226" HT,PASSIVATED CRES 303,304 OR 305

232 49415310009035966 [SS,QQ-P-35,FF-N-836,MIL-I-17214 HD 3] $5.10 $15.30
NUT,HEX:3/8" DIA,24 UNF-2B,0.218" OVERALL HT,PASSIVATED CRES

233 496|5310009265913 [STEEL,FF-N-836 EA 50 $0.91 $45.50
NUT,HEX:3/8" DIA,24 UNF-2B,0.337" HT,PASSIVATED CRES 303,304 OR 305

234 498|5310009031524 [SS,QQ-P-35,FF-N-836,MIL-I-17214 HD 1] $15.28 $15.28
NUT,LOCK:SELF LOCKING HEX,3/8" DIA,24 UNF-3B,CAD PLTD STEEL,QQ-P-

235 500{5310008071477 [416 TYPE 2 CL 3 EA 50 $0.37 $18.50
NUT,LOCK:SELF LOCKING HEX,1/4" DIA,20 UNC-2A,PASSIVATED SURFACE

236 502[531000K060782 |TREATED CRES STEEL EA 100] $0.14 $14.00
NUT,HEX:1/4" DIA,20 UNC-2B,0.185" OVERALL HT,PASSIVATED CRES

237 504{5310002509477 |STEEL,FF-N-836 HD 3] $3.41 $10.23
NUT,HEX:3/8" DIA,16 UNC-2B,0.337" HT,PASSIVATED CRES 303,304 OR 305

238 506{5310009138881 |SS,QQ-P-35,FF-N-836,MIL-I-17214 HD 2|  $5.44 $10.88
NUT,HEX:1/4" DIA,20 UNC-2B,0.226" HT,CAD PLTD CS,QQ-P-416 TYPE 2 CL

239 508{5310009050762 |C,FF-N-836 HD 2]  $3.60 $7.20

16 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

NUT,HEX:1/4" DIA,28 UNF-2B,0.226" HT,PASSIVATED CRES 303,304 OR 305

240 510{5310009051691 |SS,QQ-P-35,FF-N-836,MIL-I-17214 HD 1] $5.43 $5.43
NUT,HEX:1/4" DIA,28 UNF-2B,0.156" OVERALL HT,PASSIVATED CRES

241 512(5310008405785 |STEEL,FF-N-836 HD 1] $4.21 $4.21
NUT,LOCK:SELF LOCKING HEX,5/16" DIA,18 UNC-3B,PASSIVATED CRES

242 514{5310002416606 |STEEL,MIL-N-25027 QPL EA 2l $0.21 $0.42
NUT,HEX:5/16" DIA,18 UNC-2B,0.187" OVERALL HT,PASSIVATED CRES

243 516[5310009895953 |STEEL,FF-N-836 HD 2|  $8.63 $17.26
NUT,HEX:0.164" DIA,32 UNJC-3B,0.114" HT,CAD PLTD CS,QQ-P-416 TYPE 2

244 518(5310007254712 |CL 2,FF-N-836 HD 1] $0.50 $0.50
NUT,HEX:#6 DIA,40 UNF-2B,0.114" OVERALL HT,PASSIVATED CRES

245 520[5310009349752 |STEEL,FF-N-836 HD 1] $3.70 $3.70
NUT,HEX:#10 DIA,32 UNF-2B,0.13" OVERALL HT,CAD PLTD CHROMATE

246 522(5310009349751 |TREATED STEEL,FF-N-836 HD 1] $0.67 $0.67
NUT,HEX:#10 DIA,24 UNC-2B,0.13" OVERALL HT,CAD PLTD CHROMATE

247 524{5310009349758 |TREATED STEEL,FF-N-836 HD 1] $0.80 $0.80
NUT,HEX:#10 DIA,24 UNC-2B,0.13" OVERALL HT,PASSIVATED CRES

248 526[5310009349760 |STEEL,FF-N-836 HD 3] $16.15 $48.45
NUT,HEX:#10 DIA,32 UNF-2B,CAD OR ZINC PLTD STEEL,FF-N-836 TYPE 2

249 528(5310005501467 |STYLE1 GR C HD 1 $2.47 $2.47
NUT,HEX:#10 DIA,32 UNF-2B,0.125" OVERALL HT,PASSIVATED CRES

250 530[{5310009349765 |STEEL,FF-N-836 HD 1] $1.91 $1.91

251 532(5310000121743 |NUT,HEX:#12 DIA,24 UNC-2B,CAD OR ZINC PLTD STEEL,FF-N-836 HD 1] $1.15 $1.15
BOLT:SEX,1/4" DIA,20 UNC,1.75" SCREW LG,82 DEG FLAT COUNTERSUNK

252 534{5340005377304 |PHILLIPS HD,DULL FINISHED BRASS EA 25| $4.88] $122.00
NUT,HEX:#6 DIA,32 UNC-2B,0.078" OVERALL HT,CAD PLTD CHROMATE

253 536[5310006806627 |TREATED STEEL,FF-N-836 HD 1]  $1.09 $1.09
NUT,HEX:#6 DIA,32 UNC-2B,0.109" OVERALL HT,PASSIVATED CRES

254 538(5310009349761 |STEEL,FF-N-836 HD 1] $1.16 $1.16
NUT,HEX:#6 DIA,32 UNC-2B,0.098" HT,PASSIVATED CRES STEEL,MIL-S-

255 540[5310006168660 |7720,MIL-S-933 HD 1] $9.81 $9.81
NUT,HEX:#6 DIA,40 UNF-2B,0.114" OVERALL HT,CAD PLTD CHROMATE

256 542(5310009349755 |TREATED STEEL,FF-N-836 HD 1] $0.76 $0.76

17 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

NUT,HEX:#8 DIA,32 UNC-2B,0.078" OVERALL HT,CAD PLTD CHROMATE

257 544{5310006602971 |TREATED STEEL,FF-N-836 EA 50 $0.10 $5.00
NUT,HEX:#8 DIA,32 UNC-2B,0.13" OVERALL HT,CAD PLTD CHROMATE

258 546(5310009349757 |TREATED STEEL,FF-N-836 HD 1]  $0.90 $0.90
NUT,HEX:#8 DIA,36 UNF-2B,0.13" OVERALL HT,CAD PLTD CHROMATE

259 548(5310009349754 |TREATED STEEL,FF-N-836 HD 1] $1.76 $1.76

260 550|5310005434717 |NUT,WING:3/8" DIA,16 UNC-2B,COLD FORGED BRASS,FF-N-845 EA 50 $0.51 $25.50

261 552|5310005159254 |NUT,WING:5/16" DIA,18 UNC-2B,COLD FORGED BRASS,FF-N-845 HD 1] $32.79 $32.79

262 554|5310009826827 |NUT,WING:1/4" DIA,20 UNC-2B,COLD FORGED BRASS,FF-N-845 EA 100 $0.08 $8.00
NUT,WING:1/4" DIA,20 UNC-2B,COLD FORGED CAD PLTD CHROMATE

263 556[5310000808495 |TREATED STEEL,FF-N-845 HD 1] $3.91 $3.91

264 558(5310009826826 |NUT ,WING:#10 DIA,24 UNC-2B,COLD FORGED BRASS, FF-N-845 EA 50 $0.07 $3.65

265 560[5310009826825 |NUT ,WING:#8 DIA,32 UNC-2A,COLD FORGED BRASS,FF-N-845 EA 25 $0.11 $2.75
NUT,HEX:#4 DIA,40 UNC-2B,0.093" OVERALL HT,PASSIVATED CRES

266 562(5310009349748 |STEEL,FF-N-836 HD 1 $1.02 $1.02
NUT,HEX:#4 DIA,40 UNC-2B,0.098" OVERALL HT,CAD PLTD CHROMATE

267 564{5310009349739 |TREATED STEEL,FF-N-836 HD 1] $1.44 $1.44
NUT,WING:#10 DIA,24 UNC-2B,COLD FORGED CAD PLTD CHROMATE

268 566(5310005159267 |TREATED STEEL,FF-N-845 EA 1] $0.12 $0.12
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,180 GRIT,SILICON

269 568(5350007218117 |CARBIDE,CLOSE COATED,P-P-101,CID A-A-1200 PG 1 $12.72 $12.72
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,100-1/0

270 570[5350006199166 |GRIT,SILICON CARBIDE,CLOSE COATED,P-P-101,CID A-A-1047 PG 1] $9.91 $9.91
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,360 GRIT,SILICON

271 572(5350002247202 |CARBIDE,CLOSE COATED,P-P-101,CID A-A-1200 PG 1] $14.62 $14.62
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,240-7/0

272 574{5350002247207 |GRIT,SILICON CARBIDE,CLOSE COATED,P-P-101,CID A-A-1047 PG 1] $14.62 $14.62
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,400-10/0

273 576[5350002247201 |GRIT,SILICON CARBIDE,CLOSE COATED,P-P-101 PG 1) $10.49 $10.49
ABRASIVE,SHEET:WET OR DRY SANDING,9" WD,11" LG,600-12/0

274 578(5350002247215 |GRIT,SILICON CARBIDE,CLOSE COATED,P-P-101 PG 1] $14.62 $14.62

275 580[5350005844653 |ABRASIVE,SHEET:9" WD,11" LG,MEDIUM GRIT,EMERY,CLOSE COATED PG 1] $32.52 $32.52

18 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

ABRASIVE,SHEET:9" WD,11" LG,CROCUS,CLOSE COATED,JEAN CLOTH

276 582(5350002210872 |BACKING,P-C-458,CID A-A-1206 TYPE 1 PG 1] $39.84 $39.84
RIVET,BLIND:STRAIGHT STEM,0.125" DIA,MODIFIED TRUSS HD,0.063"-0.125"

277 584{5320010040238 |GRIP RANGE,CAD PLTD STEEL HD 1] $2.49 $2.49
RIVET,BLIND:0.187" DIA,0.126"-0.25" GRIP RANGE,ALUM ALLOY

278 588(5320013673970 |[SLEEVE,STEEL PLTD STEM EA 100 $0.05 $5.00
RIVET,BLIND:OPEN END,0.125" DIA,MODIFIED TRUSS HD,0.376"-0.5" GRIP

279 590[5320008503282 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 1] $1.98 $1.98
RIVET,BLIND:0.187" DIA,0.188"-0.25" GRIP RANGE,ALUM ALLOY

280 592(5320013673972 |SLEEVE,STEEL PLTD STEM EA 400 $0.03 $11.20
RIVET,BLIND:0.187" DIA,0.251"-0.375" GRIP RANGE,ALUM ALLOY

281 594{5320013673971 |SLEEVE,STEEL PLTD STEM EA 2| $0.08 $0.16
RIVET,BLIND:STRAIGHT STEM,0.125" DIA,MODIFIED TRUSS HD,0.376"-0.5"

282 596(5320001702993 |GRIP RANGE,CAD PLTD STEEL HD 1] $1.66 $1.66
RIVET,BLIND:0.125" DIA,0.275" LG,BUTTON HD,0.063"-0.125" GRIP
RANGE,0.25" HD WD,CHROMATE SURFACE TREATED ALUM ALLOY

283 600[{5320005107823 |5052,ALUM ALLOY 7178 MANDREL,MIL-C-5541 HD 5 $1.24 $6.20
RIVET,BLIND:OPEN END,0.187" DIA,MODIFIED TRUSS HD,0.501"-0.625" GRIP

284 602[5320005712363 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 1 $2.22 $2.22
RIVET,BLIND:OPEN END,0.187" DIA,MODIFIED TRUSS HD,0.251"-0.375" GRIP

285 604{5320009624693 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 2| $2.28 $4.57
RIVET,BLIND:OPEN END,0.125" DIA,MODIFIED TRUSS HD,0.188"-0.25" GRIP

286 606[5320010232529 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 3] $1.20 $3.60
RIVET,BLIND:0.187" DIA,0.376"-0.5" GRIP RANGE,ALUM ALLOY

287 608[5320012803574 |SLEEVE,STEEL PLTD STEM EA 200] $0.09 $18.00
RIVET,BLIND:0.156" DIA,0.126"-0.187" GRIP RANGE,ALUM ALLOY

288 610[5320013673969 |SLEEVE,STEEL PLTD STEM EA 1] $0.04 $0.04
RIVET,BLIND:OPEN END,0.156" DIA,MODIFIED TRUSS HD,0.126"-0.25" GRIP

289 612(5320008503270 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 5 $2.01 $10.05
RIVET,BLIND:STRAIGHT STEM,0.156" DIA,MODIFIED TRUSS HD,0.188"-0.25"

290 614{5320008503219 |GRIP RANGE,CAD PLTD STEEL HD 1] $3.03 $3.03
RIVET,BLIND:OPEN END,0.125" DIA,MODIFIED TRUSS HD,0.251"-0.312" GRIP

291 616[5320002758344 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 2] $1.41 $2.82

19 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

RIVET,BLIND:OPEN END,0.125" DIA,MODIFIED TRUSS HD,0.313"-0.375" GRIP

292 620[5320009657109 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL EA 500, $0.01 $5.00
RIVET,BLIND:KNOB STEM-TYPE K,0.125" DIA,0.063"-0.125" LG,ALUM ALLOY

293 622(5320010195694 |SLEEVE STEEL MANDREL EA 500, $0.01 $5.00
RIVET,BLIND:STRAIGHT STEM,0.125" DIA,MODIFIED TRUSS HD,0.188"-0.25"

294 624{5320008658994 |GRIP RANGE,CAD PLTD STEEL BX 3] $9.31 $27.93
RIVET,BLIND:OPEN END,0.187" DIA,MODIFIED TRUSS HD,0.126"-0.25" GRIP

295 626[5320009662386 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 6] $2.05 $12.30
RIVET,BLIND:STRAIGHT STEM,0.187" DIA,MODIFIED TRUSS HD,0.251"-0.375"

296 628[5320008503241 |GRIP RANGE,CAD PLTD STEEL EA 500, $0.03 $15.00
RIVET,BLIND:KNOB STEM,0.188" DIA,0.45" LG,OVAL TRUSS HD,0.126"-0.25"

297 630[5320009567355 |GRIP RANGE,0.375" MAJOR HD WD,ALUM ALLOY HD 5 $5.45 $27.25
RIVET,BLIND:SELF PLUGGING,0.14" DIA,0.205" OVERALL LG,0.063"-0.125"
GRIP RANGE,CHROMATE SURFACE TREATED ALUM ALLOY BODY,CAD

298 632|5320010339127 |PLTD STEM,QQ-A-430,MIL-R-7885/6 HD 1] $23.95 $23.95
RIVET,BLIND:0.125" DIA,0.02"-0.062" GRIP RANGE,0.032" HD WD,ALUM

299 634{5320005712379 |ALLOY SLEEVE,STEEL PLTD STEM HD 1 $1.02 $1.02
RIVET,BLIND:SELF PLUGGING,0.14" DIA,0.33" OVERALL LG,0.188"-0.25"
GRIP RANGE,CHROMATE SURFACE TREATED ALUM ALLOY BODY,CAD

300 636/5320010341883 |PLTD STEM,QQ-A-430,MIL-R-7885/6 HD 1) $25.17 $25.17
RIVET,BLIND:OPEN END,0.156" DIA,MODIFIED TRUSS HD,0.251"-0.375" GRIP

301 638[5320008503267 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 2| $2.04 $4.08
RIVET,BLIND:SELF PLUGGING,0.14" DIA,0.267" OVERALL LG,0.126"-0.187"
GRIP RANGE,CHROMATE SURFACE TREATED ALUM ALLOY BODY,CAD

302 640|5320010341885 |PLTD STEM,QQ-A-430,MIL-R-7885/6 HD 1 $14.11 $14.11
RIVET,BLIND:STRAIGHT STEM,0.125" DIA,MODIFIED TRUSS HD,0.126"-0.187"

303 642(5320009717870 |GRIP RANGE,CAD PLTD STEEL HD 2|  $0.89 $1.78
RIVET,BLIND:STRAIGHT STEM,0.125" DIA,MODIFIED TRUSS HD,0.251"-0.312"

304 644{5320009717871 |GRIP RANGE,CAD PLTD STEEL HD 2l $1.21 $2.42
RIVET,BLIND:0.156" DIA,0.02"-0.125" GRIP RANGE,ALUM ALLOY

305 646[5320013669838 |SLEEVE,STEEL PLTD STEM EA 200]  $0.40 $80.00
RIVET,BLIND:OPEN END,0.187" DIA,MODIFIED TRUSS HD,0.02"-0.125" GRIP

306 648[5320008503266 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 2|  $3.07 $6.14

20 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

RIVET,BLIND:STRAIGHT STEM,0.187" DIA,MODIFIED TRUSS HD,0.501"-0.625"

307 650[{5320010303218 |GRIP RANGE,CAD PLTD STEEL EA 100 $0.08 $8.10
RIVET,BLIND:OPEN END,0.187" DIA,MODIFIED TRUSS HD,0.376"-0.5" GRIP

308 652(5320008503264 |RANGE,ALUM ALLOY SLEEVE,STEEL MANDREL HD 1 $2.20 $2.20

309 654|5315002341852 |PIN,COTTER:1/32" DIA,1" LG,CAD PLTD CS,FF-P-386 HD 1] $1.83 $1.83

310 656|5315006197976 |PIN,COTTER:3/64" DIA,3/4" LG,CAD PLTD CS,FF-P-386 HD 1] $0.56 $0.56

311 658|5315006821460C |PIN,COTTER:1/16" DIA,1-1/4" LG,CAD PLTD CS,FF-P-386 HD 1 $1.79 $1.79

312 662|531500241733C |PIN,COTTER:3/32" DIA,1-1/4" LG,CAD PLTD CS,FF-P-386 HD 1] $2.50 $2.50

313 664|5315002451254 |PIN,COTTER:3/32" DIA,2" LG,CAD PLTD CS,FF-P-386 HD 1 $2.90 $2.90

314 666|5315000590491 |PIN,COTTER:1/8" DIA,1-1/4" LG,CAD PLTD CS,FF-P-386 HD 1] $5.23 $5.23
FLUX:SOLDERING,PASTE,2 OZ,LEAD TIN ALLOY; U/O ALL METALS EXCEPT
ALUMINUM,NOT INTENDED FOR USE ON ELECTRICAL CIRCUITS OR

315 668[3439002554571 |[ELECTRONICS CN 2] $0.51 $1.02

316 670]5306009540806 |BOLT,EYE:1/4" DIA,20 UNC,2" LG,1/2" ID EYE,ZINC SURFACE TREATED CS |EA 30 $0.52 $15.60

317 672|5306005192871 |BOLT,EYE:3/8" DIA,16 UNC,4" LG,3/4" ID EYE,ZINC SURFACE TREATED CS |EA 12|  $0.62 $7.44
SCREW,EYE:15/32" ID EYE,13/16" SHANK LG,1-5/8" OAL,BRIGHT ZINC

318 674{5305010128373 |FINISHED CS EA 100 $0.07 $7.00
SCREW,EYE:5/8" ID EYE,1-1/8" SHANK LG,2-3/16" OAL,BRIGHT ZINC

319 676[5305005978028 |FINISHED CS EA 50 $0.16 $8.00
LOCK:BARREL BOLT,1" WD X 2-1/2" LG PLATE X (5/16" DIA X 2-1/2" LG)

320 678[5340013882275 |BOLT,BRIGHT ZINC PLTD STEEL EA 10 $1.95 $19.50
LOCK:BARREL BOLT,1-1/8" WD X 4" LG PLATE X (5/16" DIA X 4" LG)

321 680[5340006641363 |BOLT,JAPANNED FINISH ZINC PLTD STEEL,CID A-A-466A TYPE 1 BX 10[ $11.50 $115.00
LOCK:BARREL BOLT,1-5/16" WD X 5" LG PLATE X (11/32" DIA X 5" LG)

322 682(5340006641362 |BOLT,JAPANNED FINISH ZINC PLTD STEEL,CID A-A-466A TYPE 1 EA 10| $0.96 $9.60
HOOK,LOAD RATED:CHAIN "S",75 LB LOAD,0.091" WIRE DIA,PASSIVATED

323 684{4030008218404 |CRES STEEL EA 100 $0.17 $17.00
HOOK,LOAD RATED:CHAIN "S",0.105" WIRE DIA X 1-1/4" REACH,CRES

324 686(4030010124409 |STEEL EA 100 $0.10 $10.00

325 688(4030002811683 |HOOK,LOAD RATED:CHAIN "S",0.187" WIRE DIA X 2" OAL,GALV CS EA 50 $0.40 $20.00

21 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

ANCHOR,SCREW:HOLLOW WALL MACHINE SCREW EXPANSION

326 690|5340009273852 |SHIELD,5/16" DRILL,2" LG,#6-32 UNC SCREW,CAD PLTD STEEL EA 100 $0.25 $25.00
ANCHOR,SCREW:HOLLOW WALL MACHINE SCREW EXPANSION

327 692|5340009966675 |SHIELD,5/16" DRILL,2-1/2" LG,#6-32 UNC (1/8") SCREW,CAD PLTD STEEL EA 50 $0.19 $9.50

328 694(5340004402277 |ANCHOR,SCREW:EXPANSION SHIELD,1" LG,#10-#12 SCREW,PLASTIC HD 4/  $1.52 $6.08
ANCHOR,SCREW:MASONRY & CONCRETE EXPANSION SHIELD,7/8" OD,1/4"-

329 696[5340006643099 |20 UNC SCREW,LEAD ALLOY SHIELD,STEEL CORE,FF-S-325,CID A-A-1922 [BX 1] $6.31 $6.31
ANCHOR,SCREW:MACHINE BOLT DOUBLE INTERLOCKING EXPANSION

330 698|5340004983277 |SHIELD,1/2" DRILL,1-1/2" LG,1/4" SCREW,ZINC ALLOY EA 100] $0.84 $84.00
ANCHOR,SCREW:MASONRY EXPANSION SHIELD,3/16" BODY OD,1-1/4"

331 700{5340013603620 |OVERALL LG,ALUM BODY,CRES STEEL PIN EA 100] $0.24 $23.50
ANCHOR,SCREW:MASONRY EXPANSION SHIELD,1/4" BODY OD,3/4"

332 702(5340004666605 [OVERALL LG,ALUM BODY,CRES STEEL PIN EA 100 $0.18 $18.00
ANCHOR,SCREW:MASONRY EXPANSION SHIELD,1/4" BODY OD,1"

333 704{5340004666595 |OVERALL LG,ALUM BODY,CRES STEEL PIN EA 100 $0.27 $27.00
ANCHOR,SCREW:MASONRY EXPANSION SHIELD,1/4" BODY OD,1-1/4"

334 706[5340011388783 |OVERALL LG,ALUM BODY,CRES STEEL PIN EA 100] $0.34 $34.00
ANCHOR,SCREW:HOLLOW WALL MACHINE SCREW EXPANSION

335 708|5340009966568 |SHIELD,1/4" DRILL,1-7/16" LG,#6-32 UNC (1/8") SCREW,CAD PLTD STEEL EA 100 $0.09 $9.00

336 710]5340007818259 |HASP:SINGLE HINGED SAFETY,FIXED STAPLE,2-1/2" STRAP,STEEL EA 10 $0.72 $7.20
HASP:SINGLE HINGED SAFETY,ADJUSTABLE STAPLE,3-1/2" CLOSED

337 712(5340006641707 |HINGED LG,STEEL,CID A-A-472 BX 1] $9.01 $9.01
HINGE:FULL MORTISE KNUCKLE BUTT,4-1/2" X 4-1/2" X 0.134"

338 714{5340004446888 |THK,WROUGHT STEEL EA 2| $13.91 $27.82
HINGE:FULL MORTISE KNUCKLE FRICTION BUTT,4" OAL X 0.13"
THK,SURFACE PRIMED WROUGHT STEEL BODY,STEEL BUTTON TIP &

339 716(5340006641326 |PIN,FF-H-116,CID A-A-218 PG 2 $3.96 $7.92
HINGE:KNUCKLE FRICTION BUTT,3.5" OAL X 0.123" THK,WROUGHT STEEL

340 718(5340002436193 |BODY,STEEL BUTTON TIP & PIN,FF-H-116 PR 2l  $2.86 $5.72
HINGE:KNUCKLE FRICTION BUTT,3" OAL X 0.092" THK,SURFACE PRIMED

341 720[5340006641328 |WROUGHT STEEL BODY,STEEL BUTTON TIP & PIN,FF-H-116,CID A-A-218 PG 2l $3.17 $6.34

342 722|5340004666698 |HASP:SINGLE HINGED SAFETY,SWIVEL STAPLE,3-1/2",STEEL EA 10| $3.67 $36.70

22 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

LINK,LOAD RATED CHAIN:CONNECTING,1/4" DIA X (1" WD X 1.5" LG)

343 724{4010001910091 |OUTSIDE,4500 LB,FORGED STEEL,RR-C-271 TYPE 2 BX 3] $10.20 $30.59

344 726|4010006290274 |LINK,LOAD RATED CHAIN:COLD SHUT,3/16",ZINC FINISHED EA 10|  $1.47 $14.70
WHEEL,WIRE:CRIMPED ROTARY END BRUSH,1" DIA,1/4" DIA X 7/8" LG

345 732(5130013860371 |STEM,20000 RPM,0.006" WIRE,302 SS EA 30] $9.81] $294.30
BRUSH,WIRE:SCRATCH,3/8" X 1-3/8" BRISTLE,7-3/4" OAL,SS

346 733[7920009003577 |BRISTLE,TOOTHBRUSH HANDLE EA 50 $1.51 $75.50
BRUSH:ACID SWABBING FLAT,3/8" WD X 3/4" LG BRISTLE,HORSEHAIR &
BRISTLE BRISTLE,5-3/4" OVERALL LG,5" L METAL HANDLE,FLAT SHAPED

347 734|7920005142417 |BRUSH; HANDLE IS 1/4" DIA EA 25| $0.07 $1.82
BRUSH,WIRE:SCRATCH,1-1/8"-1-1/4"LG BRISTLE,4 X 18 ROWS,STEEL
BRISTLE,8" LG HANDLE,BRUSH 5-1/2 - 6" L; CURVED HANDLE ROCKER,;

348 736[7920002915815 |RECTANGULAR FACE EA 5 $2.81 $14.05
ANCHOR,TOGGLE BOLT:#10 DIA,3" LG,ROUND SLOTTED
HD,CAD,CHROMIUM OR ZINC FINISHED STEEL,FF-B-588 TYPE 1 CL A

349 738[5306002093755 |STYLE 1 BX 1] $7.05 $7.05
PAD,CLEANING:SCOURING,6" WD X 9-1/2" LG X 1/4" THK,PERMANENT
ABRASIVE NYLON WEB,L-P-50 TYPE Il CL 1,NOT SOAP

350 740|7920007535242 |IMPREGNATED,10/PG PG 1]  $3.29 $3.29
BLADE,STRAIGHT SAW:HAND HACK,12" LG,18 TPI,ALL HARD HSS

351 742(5110002774590 |BLADE,GGG-B-451 TYPE1 CL1GRA BD 12|  $6.32 $75.84
BLADE,STRAIGHT SAW:HAND HACK,12" LG,24 TPI,FLEXIBLE HSS

352 744{5110002774591 |BLADE,GGG-B-451 TYPE1 CL2 GR A BD 12|  $6.32 $75.84
BLADE,STRAIGHT SAW:HAND HACK,12" LG,32 TPI,FLEXIBLE HSS

353 746(5110002774592 |BLADE,GGG-B-451 TYPE1 CL 2 GR A BD 10| $6.32 $63.20
COMPOUND,SEALING:SILICONE RUBBER THIXOTROPIC BASE,WHITE,10.3

354 750{8040002254548 |OZ,MIL-A-46106 KT 3| $4.74 $14.22
ADHESIVE:CLEAR SILICONE RUBBER PASTE,3 OZ, TRANSLUCENT

355 752(8040008430802 |PASTE,MSDS REQUIRED KT 6] $3.66 $21.96

356 754{534000K277588 |[HANDLE:BAIL,0.194" HOLE DIA X 4.125" LG,BLACK STEEL EA 12 $2.71 $32.51
GLOVES:MENS CLUTE CUT WORK,UNIVERSAL,COTTON CANTON

357 756[8415002688330 |FLANNEL,NATURAL,KNIT CUFF,MIL-G-1008 CL 1 PR 4/  $0.43 $1.72

23 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

GLOVES,CHEMICAL RESISTANT:CURVED FINGER,10,12" LG,SOFT COTTON

358 758(8415010083335 |FLOCK LINED 0.015 GA BUNA-N,EMBOSSED FINISH,STRAIGHT CUFF PR 12 $1.19 $14.28
TOWEL:FOLDED SANITARY,250" SQ,3 PLY WHITE CELLULOSE PAPER,UU-T-

359 760[7920009651709 [598 PG 15|  $3.60 $54.07
BAG:NON-FOOD CONTACT,8" WD X 8" LG X 0.004" THK,UNTREATED PE,L-P-

360 762(8105008377755 |378 TYPE 2 CL 1,PPP-B-26 HD 1] $4.73 $4.73
BAG:NON-FOOD CONTACT,10" WD X 10" LG X 0.004" THK,UNTREATED PE,L-
P-378 TYPE 2 CL 1,PPP-B-26,CID A-A-1668,INTERLOCKING SEAL CLOSURE;

361 764{8105008377756 |FLAT STYLE; NATURAL COLOR,HEAT SEAL ASSEMBLY METHOD HD 1] $7.33 $7.33
BAG:TRASH CAN WET WASTE LINER,22" WD X 60" LG X 0.004 MIL THK X 14"

362 765[810500K045005 |GUSSET,BUFF UNTREATED RECYCLED PE BX 1] $32.24 $32.24
BAG:NON-FOOD CONTACT,12" WD X 12" LG X 0.004" THK,UNTREATED PE,L-
P-378 TYPE 2 CL 1,PPP-B-26,CID A-A-1799,INTERLOCKING SEAL CLOSURE;

363 766[8105008377757 |FLAT STYLE; NATURAL COLOR,HEAT SEAL ASSEMBLY METHOD HD 1] $8.98 $8.98
REPELLENT:INSECT MOSQUITO & TICK,PUMP SPRAY,1.00 FL OZ,100
PERCENT DEET, TRADE NAME: REPEL 100; SPECTRUM,; SPRAYS ON SKIN

364 768/684000K059856 |OR CLOTHING;,PROTECTS AGAINST MOSQUITOS & TICK FOR 10 HOURS BT 12| $5.99 $71.88
TAPE:MASKING,1" WD X 60 YD LG,PAPER BACKED CREPE,OPAQUE

365 770[7510002666712 [MANILA,PPP-T-42 TYPE 1 RO 12|  $0.98 $11.76
TAPE:ANTI-SEIZING,1/2" WD X 260" LG X 0.0035" THK,PTFE,MIL-T-27730,CID

366 772(8030008893535 |A-A-58092 EA 5 $3.99 $19.95
TAPE:2" WD X 60 YD LG,CLOTH BACKING,LIGHT GRAY (36373),PPP-T-60

367 774{7510005016373 |[TYPEIVCL 1 RO 12|  $5.09 $61.08
TAPE:MASKING,2" WD X 60 YD LG,PAPER BACKED CREPE,OPAQUE

368 776[7510002666710 [MANILA,PPP-T-42 TYPE 1 RO 3] $2.35 $7.05
RESPIRATOR:DISPOSABLE,AIR FILTERING,ONE FITS ALL,NIOSH
APPROVED,NONREPLACEABLE; FIBER MATERIAL; COOL FLOW
EXHALATION VALVE,FACESEAL & DOUBLE ADJUSTABLE ELASTIC STRAPS,;

369 778|4240014758293 |20/BX BX 3| $120.22] $360.66

24 of 27

As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

CLEANER,HAND:BIO-DEGRADABLE SKIN PROTECTIVE,PASTE,2000 ML (4.15
LB),DIRECT REPLACEMENT PART,MSDS REQUIRED,MIXTURE,SPEC GRAV

370 780[852000K255287 |1,BBU N,KIT A PCT WT 100,KIT B PCT WT 0,WASTE CD 1 D001 BT 12|  $6.15 $73.80
CLEANER:GENERAL PURPOSE NON-MEDICATED DETERGENT,LIQUID,16
OZ PLASTIC SPRAY BOTTLE,P-D-1747 CL 1,HOMOGENOUS,READY TO USE;
PH OF NO GREATER THAN 12.8,MSDS REQUIRED,KIT A PCT WT 100,KIT B

371 782(7930009265280 |PCT WT 0 PT 1] $1.34 $1.34

372 784{684000K270191 [INSECTICIDE:FLIES & MOSQUITOS,12 OZ CAN CN 12|  $3.66 $43.92
LUBRICANT:WD40,AEROSOL,8-16 OZ CAN,MIXTURE,SPEC GRAYV 1,BBU

373 786[915000K028532 |N,KIT A PCT WT 100,KIT B PCT WT 0,WASTE CD 1 D001 CN 12|  $3.94 $47.28
FLUID,CUTTING:BASIC SOLVENT,1 PT CAN,MSDS REQUIRED,FOR ALL

374 788(9150001759154 IMETALS EXCEPT ALUMINUM PT 12  $9.35 $112.20

375 790[{915000261789S |LUBRICANT:PENETRATING OIL,LIQUID,1 PT,VV-P-216 PT 3] $1.90 $5.70
POLISH:AIRCRAFT ALUM,CHEMICALLY IMPREGNATED COTTON

376 792(7920008239817 |WADDING,5 OZ,MIL-1-22590 CN 4 $4.31 $17.24

377 794{9150005421430 |OIL:GENERAL PURPOSE,4 OZ,MIL-L-7870 QPL CN 12| $13.24] $158.88

378 796(8040010340401 |ADHESIVE:EPOXY,1 OZ TUBE KT 4/  $6.17 $24.68
KIT,ADHESIVE:EPOXY RESIN,TRANSPARENT WHEN DRY,3 OZ TUBE
EPOXY RESIN,1-3/4 OZ TUBE HARDENER,MSDS REQUIRED; ADHESIVE
PASTE,; FOR GENERAL USE BONDING,TRADE NAME LOCTITE; STORE AT

379 798(8040000618303 |75 DEG F OR LESS KT 3] $8.49 $25.47
BRUSH,PAINT:FLAG END PRESERVED,2" WD X 2-1/2" LG X DOUBLE X THK

380 800{8020002601304 |BRISTLE,HOG BRISTLE,FLAT,HARDWOOD HANDLE,H-B-420 EA 12| $2.72 $32.64
COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,ALMOND,10.3 OZ

381 801{803000K060551 |CARTRIDGE CA 12|  $3.78 $45.36
BRUSH,PAINT:EXTERIOR & INTERIOR,4" WD X 4-1/8" LG BRISTLE,HOG

382 802(8020002454516 |BRISTLE,H-B-420 CL 1 GR A EA 12[ $10.31] $123.72
COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,WHITE,10.3 OZ

383 803[{803000K060549 | CARTRIDGE CA 12|  $3.25 $39.00
RAG:CLEANING CLOTH,10.375" WD X 3600" LG,PURIFIED CRIMPED & LINT

384 804{7920010047847 |FREE CHEESECLOTH,WHITE RO 3] $12.31 $36.93

25 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST

GLOVES:MENS & WOMENS WORK SHELL,COLD WEATHER,2,COWHIDE OR

385 805(8415002687872 |HORSEHIDE,CREAM,STRAP FASTENER BACK,MIL-G-2366 TYPE 1 PR 3] $16.55 $49.65
GLOVES:MENS & WOMENS WORK SHELL,COLD WEATHER,4,COWHIDE OR

386 806(8415002687870 |HORSEHIDE,CREAM,STRAP FASTENER BACK,MIL-G-2366 TYPE 1 PR 12| $14.40 $172.80
GLOVES:MENS & WOMENS WORK SHELL,COLD WEATHER,5,COWHIDE OR

387 808(8415002687868 |HORSEHIDE,CREAM,STRAP FASTENER BACK,MIL-G-2366 TYPE 1 PR 10[ $14.40] $144.00
GLOVES:MENS & WOMENS WATER REPELLENT WORK,4,CATTLEHIDE
LEATHER,BLACK,SNAPHOOK & O-RING BACK,GAUNTLET CUFF,CID A-A-

388 809(8415013107337 |52055 PR 12[ $18.90] $226.80

389 810{5130013517454 |WHEEL ,WIRE:SOLID END BRUSH,1" DIA,0.006" THK,SS BX 1] $76.70 $76.70
WHEEL,GRINDING:4-1/2" DIA,1/4" THK,ALUM OXIDE,36 GRIT,7/8" ARBOR

390 812(513000K057867 |HOLE,13300 RPM,FIBERGLASS REINFORCED BX 1] $26.50 $26.50
WHEEL,GRINDING:7" DIA,1/4" THK,ALUM OXIDE,36 GRIT,7/8" ARBOR

391 814{513000K057866 |[HOLE,8500 RPM,FIBERGLASS REINFORCED BX 1] $51.99 $51.99
WHEEL,GRINDING:4-1/2" DIA,1/4" THK,SILICON CARBIDE,24 GRIT,7/8"

392 816[513000K057865 |ARBOR HOLE,13300 RPM,FIBERGLASS REINFORCED,C24ALU BX 1) $112.00] $112.00
WHEEL,GRINDING:4-1/2" DIA,1/4" THK,7/8" ARBOR HOLE,12000 RPM,RESIN

393 818[513000K057868 |[BOND BX 40| $29.75] $1,190.00
SCREW,SELF-TAPPING:#10-16 DIA,1-1/2" LG,#2 POINT,HEX HD,STALGARD

394 820[530500K056195 |FINISH BX 1) $126.19] $126.19
SCREW,SELF-TAPPING:#10-16 DIA,1" LG,PAN PHILLIPS HD,#3 ZINC

395 821{530500K053601 |COATED STEEL HD 2l $2.99 $5.98
DETECTOR,LEAK:LOX SEAL CHECK,4 OZ BOTTLE,LIQUID; NON-
FLAMMABLE,NON-CORROSIVE,NON-IMPACT SENSITIVE,LOW-RESIDUE;

396 822(6850010845111 [IMSDS REQUIRED; LOZ SEAL CHECK BUBBLE FLUID BT 12|  $4.10 $49.20

397 900{7930013000812 |CLEANER:DETERGENT,LIQUID SOLVENT,1 QT BOTTLE BX 12| $26.00 $312.00

398 901{5340010537122 |HANDLE:BOW,4.562" OAL,NICKEL PLTD BRASS EA 12|  $8.14 $97.68
HANDLE:BOW,4.88" OAL,BRIGHT BLACK OXIDE FINISHED BRASS,QQ-B-626

399 902(5340008400954 |COMPOSITION 22,Q0Q-N-290 TYPE 5 CL 1,MIL-F-495 EA 6] $4.02 $24.12
HANDLE:BOW,6.75" OAL,BRASS,QQ-B-626 COMPOSITION 22,QQ-N-290

400 903(5340008400955 |[TYPE 5 CL 1,MIL-F-495 EA 6] $11.27 $67.62
WHEEL,GRINDING:4" DIA,3/16" THK,ALUM OXIDE,24 GRIT,5/8" ARBOR

401 1806|5345012803561 |HOLE,13690 RPM EA 10| $8.36 $83.60

26 of 27 As of 10/6/2006




Bench Stock 20061006.xls

SB1107
Building M6-486, Metal Shop, KSC

A B C D E F G
ITEM
CONTROL UNIT OF UNIT | TOTAL
1 [ NUMBER [ ITEM NUMBER ITEM NAME ISSUE |QUANTITY| COST | COST
WHEEL,GRINDING:7" DIA,1/4" THK,ALUM OXIDE,24 GRIT,7/8" ARBOR
402 1807|346000K040848 |HOLE,RESINOID BOND EA 12|  $3.90 $46.80
CLEANER:DEGREASER,AEROSOL SOLVENT,15 OZ,KIT A PCT WT 100,KIT B
403 2025[6850013718048 |PCT WT O CN 6] $10.42 $62.52
404 2030[{915000K059712 |OIL:GENERAL PURPOSE,2 OZ BOTTLE BT 6] $2.45 $14.70
COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,ALUM GRAY,10.3 OZ
405 2035[803000K060554 | CARTRIDGE CA 12|  $3.78 $45.36
COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,CLEAR,10.3 OZ
406 2036[803000K060550 |CARTRIDGE CA 12|  $3.00 $36.00
407 2037|803000K060552 | COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,BRZ,10.3 OZ CARTRIDGE |CA 12|  $3.66 $43.95
COMPOUND,CAULKING:ALL PURPOSE ADHESIVE,BLACK,10.3 OZ
408 2038[803000K060553 |CARTRIDGE CA 12|  $3.78 $45.36
409
410|TOTALS 407 Line ltems $9,653.48

27 of 27

As of 10/6/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL

1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
TEMPLATE,DRAWING:1/2" LOGIC SYMBOLS,3" WD X 5" LG X

2 |P10A014F023A  |6675005183484 |0.06" THK 2|EA $2.32 $4.64
PROTRACTOR:IRREGULAR FRENCH CURVE,STYLE 90

3 |P10A014G015A  [6675008470224 |PATTERN 34,METHACRYLATE PLASTIC,GG-C-871 TYPE 1 5|EA $4.25 $21.25
RULER:ENGINEERS DRAFTING CHAIN SCALE,1" WD X 6"
LG,10,30,40,50 PARTS/INCH GRDTNS,PLASTIC FACED

4 |P10A014G017A  |6675005144118 |WOOD 1|EA $32.00 $32.00
TEMPLATE,DRAWING:3/8"
NUMBERS,LETTERS,PUNCTUATION MARKS,12"

5 |P10A014J017A  |6675002267318 |OAL,PLASTIC 1|EA $2.91 $2.91
PROTRACTOR:DRAFTING TRIANGLE, 10" LG,PLASTIC,45

6 |P10A014J033A  [6675001905863 |DEG,GG-T-671,CID A-A-843 4|EA $4.95 $19.80
TEMPLATE,DRAWING:SMALL MACHINE SCREW SYMBOLS,5"

7 |P10A014N021A  |6675000861388 |WD X 6.875" LG X 0.03" THK,PLASTIC 1|EA $9.75 $9.75

8 |P10A020CO17A  |7530012554118 |FILM,TRANSPARENCY:YELLOW,8-1/2" X 11" 11|BX $16.25 $178.75

9 |P10A020G007A  |7520009863998 |SET.TECHNICAL FOUNTAIN PEN 1|SE $35.65 $35.65
PAPER,PRINTER/COPIER:PROGRAMMABLE CALCULATOR

10 |P10A020G029A  |742000K029437 |THERMAL 2|PG $19.80 $39.60

11 [P10A020H007A  |6750005293702 |UNIT:AUTOMATIC CAMERA PHOTOFLASH LAMP 1|DZ $27.93 $27.93
LUBRICANT:PRINTER SILICONE OIL,LIQUID,1000 ML OR 34

12 |P10A020MO50A  [9150014083623 |0Z BOTTLE 1|EA $19.95 $19.95
TONER:LASER PRINTER INDIRECT ELECTROSTATIC

13 |P10A020P034A  |6850013183904 |PROCESSING,MAGENTA 2|EA $208.80 $417.60
TONER:LASER PRINTER INDIRECT ELECTROSTATIC

14 |P10A020P046A  |6850013183446 |PROCESSING,BLACK 1|EA $133.75 $133.75
DEVELOPER:LASER PRINTER INDIRECT ELECTROSTATIC

15 |P10A022E018A  |6850013183442 |PROCESSING 5|BT $66.17 $330.85

16 |P10A028A043A  |751000K059941 [INK:PRINTER,BLACK,CARTRIDGE 4|EA $9.45 $37.80

17 [P10A028EO49A  |7510012553676 |PRINTWHEEL.CARTRIDGE,BOLDFACE,96 CHAR 5|EA $27.41 $137.04
PRINTWHEEL.TYPING CARTRIDGE,PRESTIGE ELITE,96

18 |P10A028J033B  |7510012359825 |CHAR,12 PITCH 2|EA $33.48 $66.97
DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,36 POINT BLACK
FUTURA BOLD,WAXED PRESSURE SENSITIVE COLORLESS

19 |P10ARACK-13 7510004226852 |BACKGROUND ACETATE FILM 15|SH $9.00 $135.00

1 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs GFE Material
NASA Property Only

A B C D E F G
UNIT OF UNIT TOTAL
BIN ITEM NOMENCLATURE QUANTITY| ISSUE COST COST

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,24 POINT BLACK
FUTURA DEMIBOLD,WAXED PRESSURE SENSITIVE
P10ARACK-14 7510010088125 |[COLORLESS BACKGROUND ACETATE FILM,L-S-1805 4|SH $7.00 $28.00

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,48 POINT BLACK
BODONI BOLD,WAXED PRESSURE SENSITIVE COLORLESS
P10ARACK-17 7510013902693 [BACKGROUND ACETATE FILM 7{SH $5.50 $38.50

DECAL:DRY TRANSFER SHEET,11-1/4" WD X 8-1/4"
LG,ALPHA,120 POINT BLACK EGYPTIAN,WAXED PRESSURE
P10ARACK-19 7510005029286 [SENSITIVE COLORLESS BACKGROUND ACETATE FILM 11|SE $3.66 $40.30

P10ARACK-2 7510009822171 |SCREEN:LINE CUT 16|SH $9.00 $144.00

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,48 POINT EXTRA
CONDENSED BLACK FRANKLIN GOTHIC,WAXED PRESSURE
P10ARACK-20 7510013901834 [SENSITIVE COLORLESS BACKGROUND ACETATE FILM 13|SH $9.25 $120.25

DECAL:DRY TRANSFER SHEET,12" WD X 16"

LG,CAPS,LOWER CASE & NUMERALS,36 POINT (7/16") RED
BODONI BOLD,WAXED PRESSURE SENSITIVE COLORLESS
P10ARACK-23 751000K059845 [BACKGROUND ACETATE FILM 19|SH $3.13 $59.47

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,36 POINT WHITE
BODONI BOLD,WAXED PRESSURE SENSITIVE COLORLESS
P10ARACK-28 7510013913552 [BACKGROUND ACETATE FILM 3{SH $4.75 $14.25

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,NUMERALS,12 POINT BLACK FUTURA DEMIBOLD,WAXED
PRESSURE SENSITIVE COLORLESS BACKGROUND
P10ARACK-3 7510013901836 [ACETATE FILM 15|SH $4.23 $63.47

DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,36 POINT BLACK
BODONI BOLD,WAXED PRESSURE SENSITIVE COLORLESS
P10ARACK-5 7510013902699 [BACKGROUND ACETATE FILM 35|SH $5.90 $206.50

2 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL

1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,24 POINT (1/4") BLACK
BODONI BOLD,WAXED PRESSURE SENSITIVE COLORLESS

29 |P10ARACK-6 751000K058751 |BACKGROUND ACETATE FILM 39[sH $4.75 $185.25
DECAL:DRY TRANSFER SHEET,12" WD X 16"
LG,CAPS,LOWER CASE & NUMERALS,12 POINT BLACK
FUTURA DEMIBOLD,WAXED PRESSURE SENSITIVE

30 |P1OARACK-9 7510013901835 |COLORLESS BACKGROUND ACETATE FILM 1|SH $6.00 $6.00
FILM,PHOTO:COLOR,NEGATIVE, 135MM WD,ASA 400,36

31 |P10AREFBRA 6750013293108 |EXPOSURE 17|PG $16.44 $279.48
SYRINGE:DISPOSABLE LOCK TIP HYPODERMIC,3 CC

32 |P11A-CAB-L11  |664000K049532 |[CAPACITY 3|PG $14.93 $44.78
GAUGE,PRESSURE:0-5000 PSI RANGE, 4-1/2" DIAL,1/2"

33 |P11A003D001A  |668500K045739 [NPT,POLISHED SS CASE,BACK,FLUSH MOUNT 1|EA $195.86 $195.86
ADAPTER,TUBE TO HOSE:3/8" TUBE,INT THD 37 DEG FLARE
SWIVEL NUT,0.313" HOSE,SWAGE GRIPPING

34 |P11A00SE130A  [4730001630206 |NIPPLE,PASSSIVATED CRES 304 SS 17|EA $15.01 $255.19
TURNBUCKLE:CLOSE EYE ENDS,5/16" SHANK DIA,4-1/2"

35 |P11A005L004A  |5340005016188 |TAKEUP,GALV STEEL,FF-T-791 FORM 1 TYPE 1 CL 4 4|EA $10.87 $43.48

36 |P11A007K045A  [5935009252506 |CONNECTOR,COMMUNICATION:BANANA TIP PLUG,15A,RED 25|EA $2.45 $61.25

37 [P11A0O07K063A  |593500K059030 |MOLD:ELECTRICAL CONNECTOR POTTING 455|EA $1.60 $728.00
SCREW,SET #4 DIA,40 UNC-3A,0.178"-0.198" LG,FLAT

38 |P11A008C051B  [5305001829577 |POINT,INT SOCKET HD,CRES 303 SS 26|EA $0.20 $5.20

39 |P11A00SEO44A  |5930008569671 |SWITCH, TOGGLE:250VAC/DC 10A,DPST,SCREW TERMINAL 2|EA $8.53 $17.06

40 [P11A008F056A  |531000K040104 |WASHER,FLAT:3/16" ID,3/8" OD,1/32" THK,FIBER 67|EA $0.03 $2.01

41 [P11A008F057C 5935001372212 |CONNECTOR,COMMUNICATION:RF PLUG 2|EA $5.47 $10.94
KNOB:SET SCREW,ROUND,0.625" DIA X 0.253" SHAFT,BLACK

42 |P11A008H062B 5355007675030 |PHENOLIC BODY 6|EA $4.94 $29.64
CLIP,ELECTRICAL:NEEDLE TEST,2.25" LG X 0.5" JAW

43 |P11A008HO76B 5999005188333 |OPENING,20A,UNINSULATED,W-C-440 CL 1 25|EA $0.56 $14.00

44 [P11A008H082C  |343900K274977 |ROD,WELDING: TUNGSTEN 7|EA $9.10 $63.70
NIPPLE.ELECTRICAL CABLE STRAIGHT,FLEXIBLE RED

45 |P11A008HO86A  |5975009028238 |RUBBER 10|EA $0.07 $0.69

3 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL

1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
LIGHT,INDICATING:INCANDESCENT,10V,RED,0.281" DIA X
0.33" OAD X 0.265" LG X 1.14" OAL,(2) POLARIZED PIN

46 |P11A008K055C 6240006722662 |CONTACT 2|EA $2.72 $5.44

47 [P11A008K072C _ |5340007917821 |BLANK:BUTTON PLUG,5/8" CHASSIS,NICKEL PLTD STEEL 164|EA $0.19 $31.65
SCREW,MACHINE #6 DIA,32 UNC-2A,3/8" LG,100 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,0R

48 |P11A008K074B  |5305009582918 |304 SS,FF-S-92 TYPE 1 2|HD $1.80 $3.60
SCREW,SELF-TAPPING:LATHE CUT POINT,HEX SLOTTED

49 |[P11A008K08OC  |530500K046971 |EXTENDED WASHER HD,ZINC PLTD STEEL 3|HD $2.90 $8.70

50 [P11A008L078C _ |593000K046947 |SWITCH,TOGGLE:120VAC,28VDC,DPDT,ON/NONE/OFF 3|EA $13.85 $41.55
RELAY:OPTO ISOLATED DC INPUT SOLID STATE,2.5A 24-
140VAC,3-32VDC COIL,(4) LUG OR BARE WIRE

51 |P11A00SMO54B  |5945005744376 [TERMINAL,1.75" WD X 2.25" LG X 0.875" HT 4|EA $17.03 $68.12
CLAMP:ELECTRICAL CONNECTOR CABLE,20 SHELL,CAD

52 |P11A00SMO60B  |5935011836491 |PLTD STEEL,MIL-C-85049/52 3|EA $3.42 $10.26
SCREW,MACHINE #4 DIA,40 UNC-2A,1" LG,PAN PHILLIPS
HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE

53 |P11A008MO74B  |5305000545655 |1,MIL-1-17214 43|EA $0.07 $2.97
CONNECTOR,CABLE/CONDUIT:WATERTIGHT ROMEX,3/8"

54 |P11A00SMOSOC  |5975009587462 |HUB,1/4"-3/8",GLAND NUT,STRAIGHT DEG,GALV STEEL 2|EA $5.18 $10.36
ELBOW,PIPE ADAPTER,REDUCING:3/8" X 1/4",HOSE,PIPE,90

55 |P11A011Q111A  [4730002771994 |DEG,ALUM ALLOY,QQ-A-226,MIL-F-5509,GR T6 4|EA $6.72 $26.88

56 [P11A011Q131A  |593500K050240 |ADAPTER,COMMUNICATION:RJ CABLE TO DB9 FEMALE 25|EA $4.25 $106.25

57 [PL1A012A017A  |5930006363020 |SWITCH,TOGGLE:250VAC 10A,DPDT,6 SCREW TERMINAL 4|EA $12.56 $50.24
POST,BINDING:FLUTED NUT,BLACK, 1000V 15A,MIL-P-20693

58 |P11A012B026A  |5940007386269 [TYPE IV 2|EA $2.99 $5.98
SCREW,MACHINE#4 DIA,40 UNC-2A,5/8" LG,PAN PHILLIPS
HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE

59 |P11A012B026A  |5305000545652 |1,MIL-1-17214 3|HD $1.75 $5.25

60 [P11A012B028A  |5930010453050 |SWITCH,TOGGLE:250VAC,SPDT 34|EA $4.07 $138.24
SCREW,MACHINE #10 DIA,32 UNF-2A,1-1/4" LG,100 DEG
FLAT COUNTERSUNK PHILLIPS HD,CAD PLTD CS,QQ-P-416

61 |P11A012B033A  |5305000518307 |TYPE Il CL 3,FF-S-92 37|HD $2.94 $108.78

4 of 56

As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL

1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
CLAMP,HOSE/TUBING:TANGENTIAL WORM,1" TO 1-7/16"

62 |P11A012C0O10A  |4730002789211 |HOSE,CRES STEEL,QQ-P-416 TYPE 1 CL 3,MIL-C-6985 QPL 24|EA $0.82 $19.70
SCREW,CAP:5/8" DIA,11 UNC-2A,3/4" LG,HEX
HD,PASSIVATED CRES 302,303,0R 304 SS,FF-S-85,MIL-I-

63 |P11A012D033A  |5305010869875 [17214 116|EA $0.85 $98.60
CONNECTOR,COMMUNICATION:CIRCULAR D STRAIGHT TIP

64 |P11A012D051A  |5935009931435 [JACK,12KV BREAKDOWN 15A,DARK BLUE 12|EA $0.90 $10.80
CONNECTOR,COMMUNICATION:TELEPHONE PLUG,3

65 |P11A012F015A  |5935005784735 |COND,BLACK 5|EA $3.82 $19.11
BRUSH,PAINT:ARTIST,6/128" WD X 5/16" LG BRISTLE,RED
SABLE BRISTLE,TAPERED POINT,9" HANDLE,H-B-118 TYPE 2

66 |P11A012G019A  [8020002570379 [CL 2 STYLE A 146|EA $0.80 $117.09

67 |PL1A012G041A  |531000K040109 |WASHER,FLAT:3/8" ID,1/2" OD,1/16" THK,FIBER 188|EA $0.04 $6.96
RIVET.SOLID,1/8" DIA,3/8" LG,100 DEG COUNTERSUNK

68 |P11A012H029A  |5320001176951 |DIMPLED HD,ALUM ALLOY GR 2117-T4,MIL-R-5674 2|LB $4.41 $8.82
BRUSH:TEST TUBE,1-1/2" DIA X 3-1/2" LG BRISTLE, 10"
LG, TWISTED WIRE END LOOP HANDLE,H-B-1051 TYPE 1 CL

69 |P11A012J022A  [7920002971510 |1 STYLE A 17|EA $0.43 $7.31
NUT,LOCK:SELF LOCKING HEX,#8 DIA,32 UNC-3B,CAD PLTD

70 |P11A012M063A  [5310008071473 |STEEL,QQ-P-416 TYPE 2 CL 3 11|HD $7.31 $80.41
DIAPHRAGM:LIFE SUPPORT SYSTEM PUMP,3.188" OD X

71 |P11A012MO71A  [4310012388835 [0.062" THK,RUBBER 5|EA $7.53 $37.65
NUT,LOCK:SELF LOCKING HEX,#6 DIA,32 UNC-3B,CAD PLTD

72 |P11A013A031A  [5310009058451 [STEEL,MIL-N-25027 QPL 2|HD $4.16 $8.32
SWITCH,PRESSURE:(1) 0.25"-18 MALE TPI,3-35 PSI,1.5-20

73 |P11A013E091A  [5930009597468 |PSID RANGE,DPST,METAL CASE ENCLOSURE 1|EA $48.74 $48.74
CONNECTOR,COMMUNICATION:HERMAPHRODITE

74 |P11A013E115A  [5935012142273 [STRAIGHT PLUG,64 CONTACT POSITION 56|EA $10.16 $568.96
BREAKER,CIRCUIT.:MAGNETIC TIME DELAY TRIP

75 |P11A013G085A  [5925010407979 |RELEASE,120/240VAC,1 POLE,20A,10KAIC,PLASTIC CASE 6|EA $9.06 $54.36
NUT,LOCK:SELF LOCKING HEX,#4 DIA,40 UNC-3B,SILVER

76 |P11A013J053A  [5310008783292 |PLTD CRES STEEL,MIL-I-17214,MIL-N-25027,ASTM A286 QPL 437|EA $0.24 $104.88

5 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
VISOR:INDUSTRIAL FACE SHIELD,14-1/4" WD X 8" LG X 0.04"
77 |P11A013J088A  |4240003984175 |THK,CLEAR 13|EA $3.73 $48.49
BAG:HEAT SEALABLE,4" WD X 6" LG X 0.002" THK,CLEAR
78 |P11A013J121A  [8105010179380 [NON-SURFACE TREATED UNPLASTICIZED NYLON 6 45|PG $7.74 $348.30
TUBING,SHRINK:HEAT,0.063"-0.031"ID X 0.02"WALL
THK,FLEXIBLE BLUE CROSSLINKED POLYOLEFIN,MIL-I-
79 |P11A013L029A  [5970009799192 [23053/5 CL 1 188|FT $0.14 $26.32
80 [P11A013L067A  |5920005431230 |HOLDER,FUSE:FERRULE FUSE,0.25" DIA X 1" LG FUSE SZ 8|EA $0.32 $2.56
DIAL.DUAL KNOB CONTROL,90-0 CW,1-15 CW SCALE, 1/4"
81 |P11A013Q059A  [5355009955063 [SHAFT X 7/8" DIA X 7/8" HT 6|EA $9.53 $57.20
FUSE.DUAL ELEMENT TIME
DELAY,15A,125V,FERRULE,GLASS,13/32" X 1-1/2" MIL-F-
82 |P11A013Q135A  [5920000788659 [15160,DIRECT REPLACEMENT PART; U/O K61-2827 5|EA $0.86 $4.30
ADAPTER,COMMUNICATION:DB25 MALE TO FEMALE NULL
83 |P11A014D061A  |593500K057940 |MODEM 2|EA $9.00 $18.00
SCREW,SELF-TAPPING:1/4"-20 DIA,3/4" LG,PAN PHILLIPS
HD,PASSIVATED HARDENED CRES 410 OR 420 SS,FF-S-107
84 |P11A014E045A  |5305000528905 |TYPE 1 9|HD $12.64 $113.76
CLAMP:ELECTRICAL CONNECTOR CABLE,12,12S
85 |P11A014J044A  |5935011847189 |SHELL,CAD PLTD STEEL,MIL-C-85049/52 4|EA $2.68 $10.72
86 [P11A015A003A  |6630011904452 |SOLUTION:FILLING,50 ML 1|PG $25.72 $25.72
LAMP,NEON:0.04W,105-125V,RED, T-4 BULB,DOUBLE
87 |P11A015B013A  |6240001791812 |[CONTACT BAYONET BASE 10|EA $2.50 $25.00
SOCKET,ELECTRICAL:CHASSIS OR PRINTED CIRCUIT
MOUNTED ELECTRONIC COMPONENT PLUG IN,PLUG-IN,14
88 |P11A015D057A  |5935010971737 |CONTACT,SOLDER,MIL-S-83734 21|EA $2.78 $58.38
VALVE,REGULATING:FLUID PRESSURE, 1/4",250 PSI INLET, 2-
20 PSI OUTLET,1/4"-18 NPT,ALUM BODY,ALUM SPRING
CASE,NITRILE RUBBER DIAPHRAGM & SEAT
89 |P11A015D067A  |482000K842416 |PLUG,COMPOSITION GASKET 2|EA $60.45 $120.90
WASHER,LOCK:SPLIT HELICAL RING,7/8" NOM,1.464"
90 |P11A015D097A  |5310009265871 [0D,0.219" THK,PASSIVATED CRES STEEL,FF-W-84 14|EA $0.41 $5.74
CONNECTOR,COMMUNICATION:GROUNDED AUDIO
PLUG,0.25"-0.328" DIA COND,4 MALE CONTACT POSITION,50
91 |P11A015E063A  |593500K053619 [MILLI OHM 3|EA $5.04 $15.12
6 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

SCREW,MACHINE#6 DIA,32 UNC-2A,3/4" LG,100 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,0R

92 |P11A015G011A  |5305007175593 [304 SS,FF-S-92 TYPE 1 3|HD $2.35 $7.06
RETAINER:BATTERY,2.062" OAW X 2.578" OAL,SPRING
TEMPER ALUM FRAME & CLIP,CAD PLTD COPPER

93 |P11A015H093A  |6160008232354 |LUG,NICKEL PLTD BRASS EYELET 10|EA $2.23 $22.33
BRUSH,ELECTRICAL.FLAT FACE CONTACT,0.25" WD X 0.62"

94 |P11A015H123A  [5977003378112 [LG X 0.75" THK,METAL GRAPHITE 2|PG $0.34 $0.68
BUSHING,CONDUIT:RIGID NON-INSULATING,0.5",INT

95 |P11A015H129A  [5975001008693 |THD,METAL,W-F-408,CID A-A-50553 38|EA $0.15 $5.66

96 [P11A015K001A  |6240000142870 |LAMP,NEON:115V 39|EA $3.06 $119.30
NUT,HEX:3/8" DIA,24 UNF-2B,0.277" HT,CAD PLTD CS,QQ-P-

97 |P11A015MO51A  [5310009752075 [416 TYPE 2 CL 2,QQ-Z-325,FF-N-836,GR B 1|HD $3.54 $3.54
SWITCH:SLIDE BUTTON

98 |P11A015M077A  [5930005397661 |ACTUATOR,DPDT,125VAC,0.5A,FLUSH MOUNT 2|EA $0.63 $1.26

99 [P11A015Q089A  |594500K049868 |RELAY:STD DIPPED REED,FORM 1A CONTACT,5VDC COIL 2|EA $3.59 $7.18
VALVE,GLOBE:1/4",6000 LB @ 200 DEG F,FNPT,INSIDE
SCREW,2-9/16" LG T-HANDLE OPERATED,CAD PLTD CS

100|P11A017C0O67A  |4820002873897 |BODY,303 SS STEM 2|EA $14.87 $29.73
NUT,LOCK:SELF LOCKING NYLON INSERT HEX,#6 DIA,32
UNC-3B,CAD PLTD CHROMATE FINISHED STEEL,MIL-N-

101|P11A017E017A  [5310000818087 |[25027 2|HD $2.87 $5.74
BOARD, TERMINAL:600VAC 40A,0.24" WD X 1.67" OAW X 1.85"

102|P11A017E027A  |594000K053994 |HT 1|BX $110.00 $110.00
SCREW,MACHINE:1/4" DIA,28 UNF-2A,1-1/4" LG,PAN
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-

103|P11A017F023A  |5305000712094 [92 TYPE 1,MIL-1-17214 224|EA $0.17 $37.18
TRANSFORMER:STEPDOWN POWER,115VAC PRI,8/16/24V

104|P11A017F035A  |5950005197971 |SEC,60HZ,2-5/8" WD X 2-29/64" HT X 2-3/4" DP 1|EA $19.23 $19.23
CLAMP:LOOP,0.5" LOOP ID,HEAT STABILIZED NYLON,MIL-M-

105|P11A017G075A  |5340005433934 [20693 TYPE 1 COMPOSITION A,MIL-C-21565 QPL 31|EA $0.36 $11.25
COVER:ELECTRICAL CONNECTOR PLUG,ALUM ALLOY,SS

106|P11A017G103A  [5935011386461 |CHAIN,MIL-C-26482 60|EA $5.72 $343.20
SWITCH,PUSHBUTTON:115VAC,28VDC 10A,BLACK,0.625"-24

107|P11A017J019A  [5930005046223 |UNEF BUSHING MOUNT,MIL-S-8805 QPL 1|EA $3.98 $3.98

7 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

SCREW,CAP:3/8" DIA,16 UNC-3A,1.75" LG,FLAT FILLISTER

108|P11A018G053A  [5305002267238 |HEX SOCKET HD,PASSIVATED CRES 300 SERIES SS,FF-S-86 38|EA $1.31 $49.78
SCREW,MACHINE#4 DIA,40 UNC-2A,3/8" LG,PAN PHILLIPS
HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE

109|P11A018HO55A  |5305000545649 |1,MIL-I1-17214 21{HD $0.86 $18.06
SCREW,MACHINE:1/4" DIA,56 UNC-2A,1/4" LG,PAN PHILLIPS
HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE

110|P11A018H061A  |5305000545637 |1,MIL-1-17214 12|HD $0.41 $4.92
SCREW,MACHINE #4 DIA,40 UNC-2A,1/2" LG,100 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,0R

111|P11A018H063A  [5305000686605 |304 SS,FF-S-92 TYPE 1 4|HD $1.45 $5.78
WASHER,LOCK:INTERNAL TOOTH,#10 NOM,0.373" OD,0.023"

112|P11A018J049A  [5310005765752 |THK,CAD PLTD CS RC 40-58,FF-W-100,AIS| 1050 TO 1064 164|HD $0.21 $34.44
WASHER,FLAT #4 NOM,0.125" ID,0.312" OD,0.016" THK,CAD

113|P11A018J051A  [5310001670831 |PLTD CS,FF-W-92,MIL-S-7952 2|HD $0.69 $1.38
NUT, TUBE FITTING:HEX,3/4",1-1/16"-12 UNF-3A,PASSIVATED

114|P11A018J056A  [5310002118477 |CRES 316 SS,QQ-S-763,MIL-F-5509 45|EA $6.74 $303.12
CONNECTOR,ELECTRICAL, TERMINAL:RING TONGUE LUG, 12
10 AWG COND,SOLDERLESS COND CONN,NICKEL PLTD

115|P11A021M031A  [5940008120609 |COPPER CONNECTOR,#8 STUD TERMINATION 5|PG $11.85 $59.23
CONNECTOR,ELECTRICAL, TERMINAL:SQ TONGUE LUG,6
AWG COND,SOLDERLESS COND CONN, TINNED COPPER

116|P11A021M045A  [5940009550161 |[CONNECTOR,1/4"STUD TERMINATION,BLUE 147|EA $0.64 $94.52
CONNECTOR,ELECTRICAL, TERMINAL:SNAP SPADE LUG,22-
18 AWG COND,ELECTRO TIN PLTD COPPER
CONNECTOR,#6 STUD TERMINATION,NON-SLIP RIDGE

117|P11A021IMO65A  [594000K056033 [INSUL,RED 200|EA $0.19 $38.00
CONNECTOR,ELECTRICAL, TERMINAL:LUG,22-16 AWG

118|P11A021INO13A  |5940009907227 [COND,CRIMP COND CONN,W/ INSUL 22|EA $0.82 $18.04
SPLICE,CONDUCTOR:INDENTED BUTT,20 AWG COND,TIN

119|P11A02INO17A  [5940010791935 |PLTD COPPER,CODE BLUE 27|PG $14.85 $401.00

8 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

CONNECTOR,ELECTRICAL, TERMINAL:RING TONGUE LUG,20
14 AWG COND,SOLDERLESS COND CONN, TINNED COPPER

120|P11A021NO21A  |594000K057357 |[CONNECTOR,1/4" STUD TERMINATION 73|EA $0.13 $9.27
CONNECTOR,ELECTRICAL, TERMINAL:BELL MOUTHED RING
TONGUE LUG,26-24 AWG COND,CRIMP COND
CONN,COPPER CONNECTOR,#10 STUD TERMINATION,W/

121|P11A021P031A  [5940005571630 |INSUL,YELLOW,MIL-T-7928 TYPE Il CL 1 QPL 180|EA $0.15 $27.00
SPLICE,CONDUCTOR:AUTOMOTIVE BUTT,12-10 AWG

122|P11A021P079A  |594000K056045 |COND,ELECTROLYTIC COPPER,YELLOW 6|EA $0.13 $0.78
CONNECTOR,ELECTRICAL, TERMINAL:AUTOMOTIVE
CLOSED END,22-14 AWG COND,SOLDERLESS COND

123|P11A021P083A  |594000K056047 |[CONN,ELECTROLYTIC COPPER CONNECTOR,CLEAR 14|EA $0.09 $1.26

124|P11A021Q037A  |4730010502420 |ADAPTER,PIPE:3/4" FEMALE SLIP,FEMALE THD,SCH 80,PVC 2|EA $1.79 $3.59
CLAMP:ELECTRICAL CONNECTOR CABLE,0.938" CABLE
OPENING X 1-7/16"-18 UNEF-2B COUPLING THD X (24,28)

125|P11A023A003A  [5935011372305 |SHELL SIZE,OLIVE DRAB CAD ALUM ALLOY,MIL-C-5015 QPL 3|EA $2.10 $6.30
CONNECTOR,COMMUNICATION:SOLDERLESS TIP

126|P11A023A059A  |5935005783494 |PLUG,10A,RED 4|EA $0.46 $1.84
VALVE,SOLENOID:115VAC/DC 1PH 60HZ,NC,135/200 LB
WOG,180 DEG F,BRASS BODY,AIR,GAS,OIL,WATER

127|P11A023A071A  [4810008657514 |SERVICE 1|EA $157.74 $157.74
NUT:NON-LOCKING CLIP,#12 DIA,24 UNC-3B,CAD PLTD

128|P11A023A078A  [5310009102388 [STEEL 43|EA $5.80 $249.40

129[P11A023A094A  |594500K847566 |RELAY:REFRIGERATOR 6|EA $10.10 $60.60
CONNECTOR,COMMUNICATION:HERMAPHRODITE

130|P11A023B017A  |5935011086355 |STRAIGHT PLUG,26 CONTACT POSITION 13|EA $2.55 $33.15
SWITCH,PUSHBUTTON:250VAC 1A,27VDC 2A,SPDT,0.25"-40

131|P11A023B082A  |5930007818774 |TPI BUSHING MOUNT 4|EA $14.77 $59.08

132[P11A023C031C _ |5331012803562 |O-RING:CRYOGENIC SAMPLER,TFE 55[EA $2.00 $110.00
LIGHT,INDICATING:INCANDESCENT,28V,GREEN,0.281" DIA X
0.33" OAD X 0.265" LG X 1.14" OAL,(2) POLARIZED PIN

133|P11A023D088A  [6240007639571 |CONTACT 14|EA $1.31 $18.28

9 of 56

As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

SPACER:SLEEVE,0.143"-0.172" ID X 0.24"-0.26" OD X 0.745'-

134|P11A023E028B  [5365005851249 [0.755" LG,ANODIZED ALUM ALLOY 19|EA $0.21 $3.99
ADAPTER,PIPE REDUCING:3/8" X 1/4",STRAIGHT INT

135|P11A023E045C  [4730002000257 |THD,STRAIGHT EXT THD,BRASS 2|EA $1.37 $2.73
CONNECTOR,ELECTRICAL, TERMINAL:SNAP SPADE LUG,16-
14 AWG COND,ELECTRO TIN PLTD COPPER
CONNECTOR,#6 STUD TERMINATION,NON-SLIP RIDGE

136|P11A023F090B  |594000K056036 |INSUL,BLUE 10|EA $0.11 $1.10

137|P11A023G054A  |531000K040110 |WASHER,FLAT:3/8" ID,1/2" OD,1/32" THK,FIBER 100|EA $0.03 $3.00
BOLT,MACHINE:#10 DIA,32 UNF-3A,51/64" LG,HEX HD,3/8"

138|P11A023H033A  [5306005159279 |GRIP LG,PASSIVATED CRES STEEL,MIL-B-7874 QPL 75|EA $0.29 $21.75
CONTACTOR:MAGNETIC,600VAC LINE,230VAC COIL,30A,3

139|P11A026A097A  [6110001745686 |POLE 1|EA $17.83 $17.83
ADAPTER,COMMUNICATION:BNC JACK TO PLUG ANGLE,MIL!

140|P11A027A073A  |5935010325404 [A-55339 138|EA $2.42 $333.96
BAG:NON-FOOD CONTACT,4" WD X 8" LG X 0.004"

141|P11A027B004A  [8105008818448 |THK,UNTREATED PE,L-P-378 TYPE 2 CL 1,PPP-B-26 1|HD $2.60 $2.60
BAG:HEAT SEALABLE,6" WD X 8" LG X 0.002" THK,CLEAR

142|P11A027C0O70A  |8105010087068 |NON-SURFACE TREATED UNPLASTICIZED NYLON 6 18|PG $12.60 $226.80
ADAPTER,COMMUNICATION:N JACK TO BNC PLUG

143|P11A027F013A  |5935010956418 |STRAIGHT,MIL-C-55339/49 2|EA $4.47 $8.94
SHELL:15 CONTACT D-SUBMINIATURE 45 DEG

144|P11A027G031A  |593500K057843 |[CONNECTOR,METALLIZED PLASTIC COVER 19|EA $3.68 $69.92

145[P11A027H067A 6150004994458 |BUS:STEEL 303|EA $0.21 $63.63
CONNECTOR,COMMUNICATION:HERMAPHRODITE

146|P11A029F049A  |5935010925028 [STRAIGHT PLUG,50 CONTACT POSITION 9|EA $4.04 $36.36
LEAD,TEST.60" LG,BNC MALE TO GOLD PLTD BERYLLIUM
COPPER MINIATURE CLIP HOOKTIP,RED & BLACK NYLON

147|P11A031A021A  |6625010052381 |[INSULATED RG85C/U 3|EA $10.83 $32.49
VALVE,GATE:SOLID WEDGE,1",400 LB WOG,200 LB STEAM
@ 550 DEG F,FNPT,UNION BONNET,NON-RISING INSIDE
SCREW,ALUM HANDWHEEL OPERATED,BRZ BODY,BRZ
BONNET,NI BRZ RENEWABLE FLOW CONTROL
DEVICE,GRAPHITE ASBESTOS

148|P11A031F047A  [482000K045605 |PACKING,GAS,OIL,STEAM,WATER SERVICE 3|EA $35.55 $106.65

10 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

PANEL:STD RACK FILL SPACE BLANK,19" WD X 15.75"

149|P11A031G085A  |5975009754660 |HT,GRAY HAMMERTONE ALUM ALLOY GR 2024-T3,QQ-A-250 19|EA $37.38 $710.22
CONNECTOR,ELECTRICAL: TWIST LOCK, 125V 20AMP,W-C-

150|P11A041E038A  [5935011089067 |596/96 105|EA $6.71 $704.55
REGULATOR,PRESSURE:INERT GAS,4000 PSIG (27600 KPA)

151|P11A045G016A  [668500K053171 |INLET,150 PSIG (1035 KPA) OUTLET,CGA 580 1|EA $205.00 $205.00
TRANSFORMER:STEPDOWN POWER,25.5/115VAC

152|P11A049A045A  |5950007275532 |PRI,60HZ,1PH,2.25" OAW X 3.094" OAL X 2.594" OAH 1/EA $8.09 $8.09
CABINET:ELECTRICAL EQUIPMENT,8.7" WD X 5.7" HT X 9.31"

153|P11A049G032A  [5975013498764 |DP,ANODIZED ALUM CASE,VINYL CLAD PANEL 2|EA $130.77 $261.53
POWER SUPPLY:LINEAR,105-125VAC 47-420HZ INPUT,5VDC

154|P11A051E018A  [6130010369094 |OUTPUT,1A OUTPUT,2.5" WD X 3.5" LG X 1.625" HT 1|EA $65.52 $65.52

155|P11A059C014A  |5975005181815 |PLATE,WALL:DUPLEX OUTLET,2 GANG,BROWN PHENOLIC 21|EA $0.37 $7.77
WIRE/CABLE,ELECTRICAL.:FLAT SPECIAL PURPOSE,60
COND,28 AWG,COPPER,7/36 STR,PVC INSUL,OVERALL

156|P11A061G038A  |614500K048815 |JACKET COVER,BLACK 300|FT $2.23 $669.00
WIRE/CABLE,ELECTRICAL.:FLAT TELEPHONE,8 COND,26
AWG, TINNED COPPER,STR,PVC INSUL,PVC COVER,GRAY

157|P11A065C022A  |6145013850079 |OR BEIGE 210|FT $0.10 $21.00
WIRE/CABLE,ELECTRICAL:20 AWG, TINNED COPPER,19/33
STR,600V @ 105 DEG C,PVC OR COPOLYMER W/ PVA
INSUL,NYLON JACKET COVER,YELLOW,MIL-W-16878 TYPE

158|P11A065G024A  |6145005833790 |B,MIL-C-12000 LEVEL C 300|FT $0.08 $24.00
WIRE/CABLE,ELECTRICAL:COMPUTER INSULATED OFHC,30

159|P11A065G025A  [6145010841502 |AWG,SILVER PLTD,SOL,GREEN,10000' MIN SPOOL 1|SL $400.00 $400.00
WIRE/CABLE,ELECTRICAL:COMPUTER INSULATED OFHC,30

160|P11A065G035A  |6145010841500 |AWG,SILVER PLTD,SOL,WHITE,10000' MIN SPOOL 1|SL $400.00 $400.00

11 of 56

As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

WIRE/CABLE,ELECTRICAL:20 AWG, TINNED COPPER,19/33
STR,600V @ 105 DEG C,PVC OR COPOLYMER W/ PVA
INSUL,NYLON JACKET COVER,BROWN,MIL-W-16878 TYPE

161|P11A065G044A  |6145005833786 |B,MIL-C-12000 LEVEL C 500|FT $0.02 $10.00
BRUSH,PAINT:EXTERIOR & INTERIOR,5" WD X 4-5/16" LG

162|P11A069CO17A  [8020006855392 |BRISTLE,NYLON GR AA BRISTLE,H-B-420 CL 2 GR A 1|EA $9.15 $9.15
WIRE/CABLE,ELECTRICAL:SPECIAL PURPOSE,3 TWISTED
COND,20 AWG, TINNED COPPER,10/30 STR,350V @ -20 TO 60
DEG C,PVC INSUL,COPPER BRAID SHIELD,PVC OVERALL

163|P11A069G018A  [6145010361510 |JACKET COVER 340|FT $0.13 $44.20
TUBING,NONMETALLIC:FLEXIBLE,1/8" ID,1/4" OD,50' COIL
LG,1600 LB @ 60 DEG F,CLEAR NON-TOXIC

164|P11B007D061A  |472000K053492 [THERMOPLASTIC 23|cL $32.97 $758.20

165[P11B015C073A  |668000K828675 |TRANSDUCER:FLOWMETER 2|EA $0.00 $0.00
SWITCH:SLIDE BUTTON,SPDT,125VAC,125VDC,3/0.75A,2

166|P11B015D073A  |5930009644697 |HOLE MOUNT 14|EA $0.30 $4.20
SWITCH,TOGGLE:277VAC 20A,DPST,SCREW TERMINAL,W-S-

167|P11B015D085A  [5930011478043 [896/2 3|EA $4.12 $12.36
CONNECTOR,COMMUNICATION:HERMAPHRODITE

168|P11B019H047A  |5935011375256 |STRAIGHT PLUG,40 CONTACT POSITION 23|EA $3.42 $78.71
SWITCH,TOGGLE:125VAC 20A,30VDC 30A,4PST,8 SOLDER

169|P11B019HO71A  |5930002599423 [LUG TERMINAL 2|EA $18.92 $37.84
WIRE/CABLE,ELECTRICAL.:FLAT SPECIAL PURPOSE, 40
COND,28 AWG,COPPER,7/36 STR,PVC INSUL,OVERALL

170|P11B023J025A  |614500K048813 |JACKET COVER,BLACK 260|FT $1.73 $449.28
NUT,HEX:1/2" DIA,13 UNC,0.504" HT,CRES 316 SS,ASTM

171|P11B039E011C  [531000BE11513 |A194,GR 8M 63|EA $2.53 $159.14
SCREW,CAP:3/8" DIA,16 UNC-3A,2" LG,FLAT FILLISTER HEX

172|P11B039F049A  [5305009887848 |SOCKET HD,PASSIVATED CRES 300 SERIES SS,FF-S-86 45|EA $1.60 $72.00

173[P11B039G007B _ |482000K845041 |VALVE,CHECK:SWING,1/2",NPT,BRZ BODY 2|EA $16.40 $32.80

174[P11B039G031A  |482000K845048 |VALVE,GATE:1",NPT,BRZ BODY 2|EA $19.00 $38.00

175|P11B039G043A  |482000K845051 |VALVE,CHECK:SWING,3/4",NPT,BRZ BODY 2|EA $32.00 $64.00
SCREW,SET.3/8" DIA,24 UNF,5/16" LG,CUP POINT,HEADLESS

176|P11B039G056C  [5305012609824 |INT HEX SOCKET HD,STEEL 50[EA $0.19 $9.25

12 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
177|P11B039K043A  |482000K845050 |VALVE,GATE:3/4",NPT,BRZ BODY 2|EA $14.20 $28.40
SPUD:BUTTWELD REDUCER ADAPTER,1/2" WELD OD X 1"
TUBE X 1.406" OAL,4000 LB (0.049" TUBE THK),CRES 316
178|P11B039K048A  [4730012705359 [SS,QQ-S-763 7|EA $0.00 $0.00
VALVE,SOLENOID:NPT,COLD WORKED STEEL BODY,FRESH
179|P11B039K051C  [4810010284394 |WATER SERVICE 2|EA $199.37 $398.74
SCREW,SELF-TAPPING:#6-18 DIA,1/2" LG,GIMLET
POINT,PAN PHILLIPS HD,CASE HARDENED CAD
180|P11B039K056A  [5305004324164 |W/CHROMATE CS,FF-S-107 TYPE 1 4|HD $1.08 $4.30
181|P11B039L011C _ |482000K845752 |VALVE,CHECK:3/8",NPT 2|EA $20.05 $40.10
REDUCER, TUBE:2" X 1-1/2",BW, 1200 LB (0.065" X 0.049"
182|P11B039L024B  [4730012704099 |WALL THK),316 SS,QQ-S-763 CONDITION A 3|EA $0.00 $0.00
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
183|P11B039NO19A  |7460010065859 [WD X 20" LG X 1/16" THK,WHITE 6|EA $1.38 $8.28
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
184|P11B039N025A  |7460010065860 [WD X 20" LG X 1/16" THK,YELLOW 10|EA $3.54 $35.37
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
185|P11B039NO31A  [7460010065863 [WD X 20" LG X 1/16" THK,GREEN 5|EA $3.62 $18.10
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
186|P11B039N043A  [7460011270820 WD X 20" LG X 1/16" THK,GRAY 25|EA $1.65 $41.25
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
187|P11B039N049A  [7460010065861 [WD X 20" LG X 1/16" THK,RED 11|EA $3.00 $33.00
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1"
188|P11B039NOS5A  |7460010065868 |[WD X 20" LG X 1/16" THK,YELLOW 31|EA $2.50 $77.50
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1"
189|P11B039NO61A  |7460010065870 [WD X 20" LG X 1/16" THK,BLUE 33|EA $2.83 $93.39
STRIP:ORGANIZATIONAL CHART FLEXIBLE MAGNETIC,1/2"
190|P11B039N0O64A  |7460010065862 [WD X 20" LG X 1/16" THK,BLUE 135|EA $1.44 $194.40
101|P11B041E063C _ |531000K040105 |WASHER,FLAT.1/4" ID,1/8" OD,1/32" THK,FIBER 22|EA $0.15 $3.30
192[P11B041G007A  |4730011429763 |CAP,TUBE:1/8",CRES 316 SS 53|EA $3.25 $172.25
SCREW,SELF-TAPPING #6-32 DIA,1/4" LG,PAN PHILLIPS
193|P11B041H009C  |5305003233187 |HD,PASSIVATED CRES 410 OR 420 SS,FF-S-107 TYPE 1 200|EA $0.25 $49.00
13 of 56 As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
VALVE,RELIEF:SAFETY,3/8",37 DEG SAE FLARE
INLET,3/8",37 DEG SAE FLARE OUTLET,150 LB,165 LB SET,-
20 TO 140 DEG F,CRES 316 SS BODY,CRES 316 SS TRIM,300
SERIES SS CAP & PISTON,SS SPRING,BUNA-N
194|P11B041J035C  |482000K034182 |SEAL,HELIUM,GASEOUS NITROGEN SERVICE 1|EA $857.00 $857.00
PIN:QUICK RELEASE,0.25" SHANK DIA X 1.8" GRIP LG,CRES
195|P11B041J040C  |5315008807756 |STEEL,MIL-P-23460 25|EA $3.26 $81.55
NOZZLE:FULL JET & CONE SPRAY,1/2" X 9/64" ORIFICE
196|P11B041K015A  |494000K037921 |DIA,MNPT,316 SS 34|EA $17.70 $601.80
ELBOW,PIPE ADAPTER,REDUCING:1/2" X 3/8",HOSE,PIPE,90
197|P11B045E058B  [4730002771995 |DEG,ALUM ALLOY,QQ-A-226,MIL-F-5509,GR T6 7|EA $5.17 $36.19
SCREW,CAP:1/2" DIA,13 UNC-2A,1-3/8" LG,HEX HD,CAD
CHROMATE STEEL ALLOY,QQ-P-416 TYPE 2 CL 3,FF-S-
198|P11B045J044A  |5305000712068 [85,GR 8 1|EA $0.47 $0.47
VALVE,CHECK:1/4",0-10000 LB,-40 TO 250 DEG F,FNPT,CRES
199|P11B045L048A  |4820009918242 [416 SS BODY,BUNA-N O-RING 5|EA $104.79 $523.93
SPRING,COMPRESSION:0.597" ID X 0.921" OD X 0.162",2.656"
200|P11B047C019B  |5360002528444 |FREE LG,STEEL 12|EA $2.18 $26.16
VALVE,ANGLE:1/4",0.125" ORIFICE,6000 LB,-40 TO 250 DEG
F,KNOB OPERATED,CRES 316 SS BODY,NYLON SEAT,BUNA-
201|P11B047D007B  |482000BX02815 [N O-RING 2|EA $334.00 $668.00
BOLT,EYE.SHOULDER, 1/4" DIA,20 UNC-2A,4" LG,0.5" ID X
202|P11B047H019B  |5306000886013 [0.188" THK EYE,ZINC PLTD CHROMATE CS,GR 2 9|EA $2.43 $21.87
CONNECTOR,CABLE/CONDUIT:WATERTIGHT ROMEX, 2"
HUB,1.375"-1.5",PLAIN COMP NUT & OIL RESISTANT
203|P11B047J009A  |5975006699138 |SYNTHETIC RUBBER GROMMET,STRAIGHT DEG,ALUM 3|EA $33.50 $100.50
204|P11B047J030A  |614500K049058 |GUIDE:RIBBON CONNECTOR CABLE STRAIN RELIEF 127|EA $0.15 $18.80
NUT,LOCK:SELF LOCKING HEX,#10 DIA,32 UNF-
205|P11B051A033A  |5310008775798 |3B,ANODIZED ALUM ALLOY,MIL-N-25027 QPL 57|HD $7.60 $433.20
PIN:QUICK RELEASE,0.25" SHANK DIA X 2.5" GRIP LG,CRES
206|P11B051D020C  |5315008742462 |STEEL,MIL-P-23460 6|EA $11.26 $67.58
VALVE,RELIEF:SAFETY, 1/2",1/2",3300 LB SET,-20 TO 250 DEG
207|P11B051D042B  |482000S012876 |F,CRES 303 SS BODY,BUNA-N O-RING 1|EA $682.35 $682.35
14 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

208|P11BO51E033A  |5315006165520 |KEY:WOODRUFF,3/16" (0.187") X 7/8" (0.875"),STEEL ALLOY 23|EA $0.14 $3.22
BOLT,MACHINE:#10 DIA,32 UNF-3A,43/64" LG,HEX HD,1/4"

209|P11B051G046A 5306007541794 |GRIP LG,PASSIVATED CRES STEEL,MIL-I-17214 15|EA $0.51 $7.65
SWITCH,PUSHBUTTON:12VDC 35A,SPST,NO,0.75"-16 UNF

210|P11B0O51HO58A 5930000732135 |BUSHING MOUNT 1|EA $7.80 $7.80
VALVE,REGULATING:FLUID PRESSURE, 1/4",6000 PSI INLET, 1
1000 PSI OUTLET,-40 TO 160 DEG F,CRES 300 SERIES SS
BODY,18-8 SS TRIM,NYLON DIAPHRAGM,KEL-F SEAT,BUNA-

211|P11BO51K029A  |482000S011571 |N O-RING,AIR,HELIUM,NITROGEN SERVICE 1|EA $725.00 $725.00
SWITCH,TOGGLE:115VAC 2A,28VDC 2A,2 POLE,SOLDER

212|P11B051L010A  |5930000676438 |TERMINAL,MIL-S-8834 QPL 5|EA $16.91 $84.55

213[P11BO5INO71A 5935010731638 |PLUG,ELECTRICAL:15A,125V,NEMA 5-15P,WC-596 QPL 1|EA $8.71 $8.71
SPUD:BUTTWELD,1-1/2" TUBE OD X 1.495" OAL,5200 LB

214|P11B053A063A 4730012705350 |(0.187" TUBE THK),CRES 316 SS,QQ-S-763 44|EA $0.00 $0.00
SCREW,SELF-TAPPING:#4-24 DIA,3/8" LG,GIMLET
POINT,PAN PHILLIPS HD,CASE HARDENED CAD

215|P11B053D023A  |5305008830632 |W/CHROMATE CS,FF-S-107 TYPE 1 4|HD $0.49 $1.96
WASHER,LOCK:INTERNAL TOOTH,#10 NOM,0.381" OD,0.025"

216|P11B053F026D 5310005435933 |THK,PASSIVATED CRES STEEL,QQ-S-766 CL 3,FF-W-100 1|HD $0.96 $0.96
SCREW,MACHINE:#10 DIA,32 UNF-2A,5/8" LG,PAN PHILLIPS
HD,CAD PLTD CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AIS|

217|P11B053G024A 5305009897435 |C1010,C1011,C1012 OR C1013 14|HD $1.35 $18.94
ELBOW,PIPE ADAPTER,REDUCING:1/4" X 1/8",MNPT,FNPT,90

218|P11B053G052A 4730011494658 |DEG,CRES 316 SS 13|EA $18.07 $234.91
SCREW,MACHINE#8 DIA,32 UNC-2A,3/4" LG,PAN PHILLIPS
HD,CAD PLTD CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AIS|

219|P11B053J019B  |5305009846195 |C1010,C1011,C1012 OR C1013 8|HD $1.65 $13.20
CONNECTOR,COMMUNICATION:PLUG,COAXIAL COND,50

220|P11BO57A011A 5935004439431 |OHM 39|EA $25.00 $975.00
RETAINER:BATTERY,1.125" OAW X 2.14" OAL,SPRING
TEMPER ALUM FRAME & CLIP,CAD PLTD COPPER

221|P11B057D047C 6160008232350 |LUG,NICKEL PLTD BRASS EYELET 5|EA $2.45 $12.25

15 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
SCREW,CAP:#10 DIA,32 UNF-3A,1.25" LG,FLAT FILLISTER
222|P11B057G014A  |5305000685406 |HEX SOCKET HD,PASSIVATED CRES 300 SERIES SS,FF-S-86 74|EA $0.11 $8.14
SCREW,MACHINE #4 DIA,40 UNC-2A,3/8" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES
223|P11B057G033B 5305007702579 |302,303,304,& 305 SS,FF-S-92 TYPE III,MIL-I-17214 1|HD $0.99 $0.99
224|P11B057G057A  |473000CL88768 |COUPLING,PIPE: 2|EA $0.00 $0.00
225/P11B057G060B _ |473000CL35622 |UNION: 1|EA $0.00 $0.00
SCREW,MACHINE:1/4" DIA,28 UNF-2A,1-1/2" LG,PAN
PHILLIPS HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-
226|P11B057G062B  |5305000712097 [92 TYPE 1,MIL-1-17214 10|EA $0.87 $8.70
PIN:QUICK RELEASE,0.25" SHANK DIA X 1.8" GRIP LG,CRES
227|P11BO57HO48E 5315001774144 |STEEL,MIL-P-23460 5|EA $66.20 $331.00
SCREW,MACHINE:1/4" DIA,28 UNF-2A,3/4" LG,PAN PHILLIPS
HD,PASSIVATED CRES 302,303,304,& 305 SS,FF-S-92 TYPE
228|P11B057J036A  |5305000593677 |1,MIL-1-17214 89|EA $0.10 $8.90
ADAPTER,TUBE TO PIPE:3/8" TUBE,COMP,3/8"
229|P11B057K018B  |4730010913570 |PIPE,FPT,BRASS 2|EA $1.61 $3.22
SHELL:9 CONTACT CONNECTOR,FLAME RESISTANT GLASS
230|P11BO57K021A  |5935012804658 |FILLED POLYESTER 6|EA $6.10 $36.60
231[P11B057K049C _ |4730000802518 |CAP,PIPE:3/4",SLIP,SCH 80,PVC 2|EA $0.90 $1.80
232|P11B057K067B _ |473000K049039 |CAP,PIPE:1-1/2",SLIP,SCH 80,PVC 3|EA $2.54 $7.62
233[P11B057M043A  |663000K853432 |SOURCE.GAS CHROMATOGRAPH UV LIGHT,10.6 EV 2|EA $215.00 $430.00
SCREW,LAG:1/4" DIA,2-1/2" LG,HEX HD,GIMLET POINT,GALV
234|P11B059A037A 5305001775622 |STEEL,FF-B-561 1|HD $6.66 $6.66
235|P11B059D012A _ |5340000853161 |BLANK:BUTTON PLUG,7/8" CHASSIS,NICKEL PLTD STEEL 27|EA $0.35 $9.34
236|P11B059D026A  |5940007386268 |POST,BINDING:FLUTED NUT,1000V 15A,MIL-P-20693 TYPE IV 2|EA $1.40 $2.80
SCREW,MACHINE:#10 DIA,32 UNF-2A,5/8" LG,82 DEG FLAT
COUNTERSUNK PHILLIPS HD,CAD CHROMATE FINISHED
237|P11BO59E025A  |5305009847341 |CS,FF-S-92 TYPE 1,AISI C1010,C1011,C1012 OR C1013 2|HD $1.36 $2.72
238[P11BO59E034B  |594500K847565 |RELAY:REFRIGERATOR 3|EA $4.35 $13.05
239[P11BO59E045A  |482000K049105 |COCK:SCREW STEM SHUTOFF,3/8",FNPT,150 PSI,BRZ 10|EA $29.94 $299.38

16 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

KEY:WOODRUFF,5/8" (0.625") DIA X 3/32" (0.093") WD,STEEL

240|P11BO59F007D  |5315006165513 |ALLOY,MIL-K-27545 18|EA $0.07 $1.26
NUT:INSTRUMENT MOUNT,#6 DIA,32 UNC,CAD PLTD HALF

241|P11B059G032B 5310002083468 |HARD BRASS,MIL-N-3336 25|EA $0.43 $10.75
BEARING,BALL:ANNULAR RADIAL NON-LOADING GROOVE
NON-SEPARABLE STRAIGHT BORE,0.5903"-0.5906" ID,1.3775"
1.378" OVERALL OD,0.4328"-0.4334" OVERALL WD,PRESSED

242|P11B059G060B 3110001186257 |RETAINER 2|EA $9.13 $18.26
NUT,HEX:#8 DIA,36 UNF-2B,0.13" OVERALL HT,CAD PLTD

243|P11B059H016B  |5310009349754 |CHROMATE TREATED STEEL,FF-N-836 4|HD $1.76 $7.03
CONNECTOR,COMMUNICATION:HERMAPHRODITE

244|P11B059J051B  |5935011193691 |STRAIGHT PLUG,60 CONTACT POSITION 21|EA $5.01 $105.29
WASHER,FLAT.7/16" NOM,0.453" ID,0.75" OD,0.063" THK,CAD

245|P11BO59MO07A  |5310001670822 |PLTD CS,FF-W-92,MIL-S-7952 3|HD $2.04 $6.12

246|P11BO59MO09A  |5930005014671 |SWITCH:PUSH PULL,SPST,115VAC,NO 1|EA $15.11 $15.11
CONTACTOR:LIGHTING,600VAC LINE,120VAC COIL,30A,4

247|P11B061C0O08SA  |611000K044797 |POLE 1/EA $110.00 $110.00
TRANSFORMER:FULLY ENCLOSED POWER,115/230VAC

248|P11B061D004A  |5950004004558 |PRI,12/24VDC SEC,50/60HZ,2.875" WD X 3" LG X 3.375" HT 1|EA $176.00 $176.00
VALVE,CHECK:1",INLINE, 3000 LB,CRES 316 SS BODY, TFE

249|P11B061D013A  |482000K041144 |SEAT,TFE SEAL,CRYOGENIC SERVICE 3|EA $390.00]  $1,170.00
BREAKER,CIRCUIT:THERMAL MAGNETIC TRIP
RELEASE,480V,3PST,40A,14KAIC,PHENOLIC CASE, TOGGLE

250|P11BO61E035A  |5925012459654 |LEVER TRIP RELEASE & RESET ACTUATOR 1/EA $182.72 $182.72
SWITCH,SELECTOR:125VAC 10A,4 POLE, 4

251|P11B061G026A  |5930002745144 |POSITION,INDEXING ACTUATOR OPERATED 8|EA $11.51 $92.08
CLAMP,HOSE/TUBING:UNIVERSAL BAND,0.687"-18.125"

252|P11B061GO30A 4730002114701 |HOSE,CRES STEEL 11|EA $3.88 $42.69
CLAMP,HOSE/TUBING:TANGENTIAL WORM,1-13/16" TO 2-

253|P11B061H007A 4730009098627 |3/4" HOSE,CRES STEEL,WW-C-440 8|EA $0.30 $2.40
WIRE/CABLE,ELECTRICAL.:FLAT SPECIAL PURPOSE,20
COND,28 AWG,COPPER,7/36 STR,PVC INSUL,OVERALL

254|P11B065A025A  |614500K048810 |JACKET COVER,BLACK 200|FT $0.78 $156.00

17 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
CONNECTOR,COMMUNICATION:TIP JACK,8000VDC
255|P11B065H024A  |5935001090150 |BREAKDOWN 10A,BLACK 22|EA $1.44 $31.68
VALVE,BALL:1",BI-DIRECTIONAL,300 LB,FLANGED,CRES 316
256|P11B069B0O0BA  |482000K044316 |SS BODY,CRES 316 SS TRIM,FILLED TFE SEAT,TFE SEAL 2|EA $235.50 $471.00
CONNECTOR,COMMUNICATION:FRICTION LOCKING PLUG,9
257|P11B069C0O26A  |5935001374732 |[CIRCUIT POSITION,250V 9A,WHITE 15|EA $0.91 $13.65
VALVE,SOLENOID:1/4" PIPE,6VDC,2 WAY,NC,-140 DEG
F,CONTINUOUS DUTY,GENERAL PURPOSE
258|P11BO69F007A 4810011872646 |ENCLOSURE,BRASS BODY,AIR,GAS,LIQUID SERVICE 3|EA $101.46 $304.39
RELAY:POWER MONITOR SOLID STATE,3A 115V
3PH,160/240VAC,260VAC MAX COIL,PLUG-IN MOUNT,1.95"
259|P11B069F030A  |5945010861669 |WD X 3.25" LG 3|EA $99.44 $298.32
260[P11B069G023A 5935000663753 |MOLD:ELECTRICAL POTTING,NYLON 34|EA $24.90 $846.60
261|P50A006D001A  |481000K845803 |VALVE,SOLENOID: 1|EA $194.65 $194.65
COUPLING,PIPE:3/4",1-5/8" OVERALL LG,INT THD,COPPER
262|P50A012H009A  |4730002212133 |ALLOY,MIL-F-5509 6|EA $2.23 $13.38
263[P50A018C009A  |473000CL17839 |REDUCER: 22|EA $0.00 $0.00
264|P50A018K011A  |473000CL86541 |NIPPLE: 16|EA $0.00 $0.00
265|P50A020B003A 4730012689457 |COUPLING, TUBE:3/4",1-1/16"-12 UN,CRES 316 SS 6|EA $0.00 $0.00
266|P50A020B005A  |473000CL13612 |UNION: 20[EA $0.00 $0.00
267|P50A020C005A  |473000CL28875 |REDUCER: 5|EA $0.00 $0.00
268[P50A020C011A _ |473000CL10158 |ELBOW: 1|EA $0.00 $0.00
269|P50A020C015A  |473000CL90995 |REDUCER: 6|EA $0.00 $0.00
270|P50A020D015A  |473001CL18389 |ELBOW: 25|EA $0.00 $0.00
271|P50A020E006B _ |473000CL19402 |ELBOW: 16|EA $0.00 $0.00
TEE, TUBE ADAPTER:RUN BULKHEAD, 1/4" X 1/4",MALE 37
DEG FLARE X MALE 37 DEG FLARE RUN, 1/4",7/16"-20 UNF-2B
FEMALE BOSS BRANCH,PASSIVATED CRES 316 SS,QQ-S-
272|P50A020E010A  |4730005695387 |763 CONDITION A 45|EA $0.00 $0.00
273[P50A020F003A _ |473000CL95497 |CROSS: 38[EA $0.00 $0.00
274|P50A020F009A _ |473000CL04668 |REDUCER: 49|EA $0.00 $0.00
ADAPTER,TUBE TO PIPE:3/8" TUBE,9/16"-18 UNF MALE 37
DEG FLARE,1-5/16"-12 UN FEMALE BOSS,PASSIVATED CRES
275|P50A020G004B  |4730011262981 [316 SS,QQ-S-763 CONDITION A 8|EA $0.00 $0.00

18 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

276|P50A020G005B  |473000CL51341 |TEE: 3|EA $0.00 $0.00

277|P50A020G014A  |473000CL28874 |REDUCER: 3|EA $0.00 $0.00

278[P50A020H009A _ |473000CL79479 |ADAPTER: 81[EA $0.00 $0.00

279|P50A020J014A  |473000CL90996 |REDUCER: 4|EA $0.00 $0.00

280[P50A020K010A  |473000CL90998 |CROSS: 21|EA $0.00 $0.00

281|P50A020L002A _ |473000CL28975 |REDUCER: 5|EA $0.00 $0.00

282[P50A020L010A _ |473000CL52076 |TEE: 29|EA $0.00 $0.00

283[P50A020L011A  |473000CL79475 |TEE: 36|EA $0.00 $0.00
PACKING:PREFORMED,PTFE,0.76" ID X 0.96" OD X 0.1"

284|P50A020M013A  |533000K034278 |HT,AMS 3668 92|EA $0.00 $0.00
ADAPTER,TUBE TO PIPE,BULKHEAD:1/4" TUBE, 7/16™-20 UNF
MALE 37 DEG FLARE, 1/4" PIPE,7/16"-20 UNF MALE

285|P50AA 4730010886971 |BOSS,PASSIVATED CRES 316 SS,QQ-S-763 CONDITION A 98|EA $0.00 $0.00

286|P51A002C012B _ |613000K060739 |POWER SUPPLY:AIRCRAFT & HELICOPTER DC TO DC 1|EA $600.00 $600.00
CHANNEL,STRUCTURAL:1-1/2"X 1/2"X 1/8",12"-

287|P81D020A185C 9540010078929 [25'LG,EXTRUDED SQ CORNER,ALUM,QQ-A-200-9,GR 6063-T5 115|FT $1.60 $184.00
BAR,FLAT:2" WD,8-12' LG, 1/4" THK,0.58 LBS/FT,HEAT
TREATED ARTIFICIALLY AGED,ALUM,QQ-A-200/8 OR QQ-A-

288|P81D020B185E  |9530002289315 |225/8,GR 6061-T6 20[FT $2.99 $59.80
SHEET:48" WD X 120" LG X 0.0478" THK,COLD ROLLED #1

289|P81D100A161D  |9515008222249 |MATTE FINISH,CS,QQ-S-698,ASTM A366,GR COMMERCIAL 1|SH $33.00 $33.00
RECEPTACLE,ELECTRICAL.ARC RESISTANT JUNCTION

290|PCRO1P01B03C  |5935010836531 |BOX,4 POLE,3 WIRE,30A,600VAC,250VDC 2|EA $240.98 $481.96
ABRASIVE,DISC:RIGHT ANGLE, 7" OD,1-MEDIUM

291|PCRO1P02B08A  |5345013881488 |GRIT,MAROON ALUM OXIDE 6|EA $3.78 $22.68
FILTER:AGENT SAMPLING EXTRACTOR ELEMENT,12-1/2CM

292|PCRO1P04B06C  |664000K048871 |DIA,FINE POROSITY CIRCLES ELEMENT,80M RETENTION 19|PG $9.52 $180.79
ABRASIVE,DISC:RIGHT ANGLE, 7" OD,S-SFN GRIT,GRAY

293|PCRO1P06B08C  |5345013882253 |SILICON CARBIDE 8|EA $3.03 $24.24
PUMP:PORCELAIN SUBMERSIBLE,3/8" INLET, 1/4"

294|PCRO1P11B07A  |664000K060164 |OUTLET,115V 1/35 HP MOTOR DRIVER 2|EA $102.85 $205.70
PAD,WRITING. TRACING PAPER,8-1/2" WD X 11" LG,WHITE,50

295|PCRO1P12B06A  |7530002866902 |SHEETS,UU-P-561 TYPE 3 24|PD $3.03 $72.79

19 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

296|PCRO1P13B09E  |473000K060222 |REDUCER,TUBE:1/4" X 1/8",37 DEG FLARE 24|EA $22.50 $540.00

297|[PCRO1P13B16A  |6240000851706 |LAMP,INCANDESCENT: 19|EA $11.09 $210.71
PLUG,ELECTRICAL:TWIST LOCK,2 POLE,3

298|PCRO1P14B03A  |5935002438436 |WIRE,30A,125V,NYLON BODY 25|EA $17.40 $435.03
SWAB:SELF CONTAINED DISPOSABLE CULTURETTE,RAYON

299|PCRO1P14B04A  |655000K050060 |TIP 3|PG $54.85 $164.55

300[PCRO1P15B08A  |733000K060844 |HOLDER:ICE TOTE 1|EA $15.50 $15.50

301[PCROIP17B04A  |5935000663751 |MOLD:ELECTRICAL POTTING,NYLON 560|EA $2.79] $1,562.40

302|PCRO2P02B01A  |4730012710954 |TEE,PIPE:3/4",UNTHD FEMALE SLIP,SCH 80,PVC 288|EA $0.80 $230.69
FILTER:SPACE STATION RESEARCH,25MM,0.22UM

303|PCRO2P02B05A  |433000K858264 |RETENTION 1|BX $41.99 $41.99
BREAKER,CIRCUIT:THERMAL MAGNETIC TRIP
RELEASE,120/250V,SPST,15A,5KAIC,PHENOLIC

304|PCRO2P02B06A  |5925009842163 |CASE,TOGGLE LEVER TRIP RELEASE & RESET ACTUATOR 7|EA $9.96 $69.70
COUPLING:GROOVED CLAMP COMP,1",STEEL OR STEEL

305|PCRO2P04B01D  |473000K291232 |ALLOY GR CF8M,ASTM A351 4|EA $0.00 $0.00
VALVE,REGULATING:FLUID PRESSURE,400 PSI INLET, 100

306|PCRO2P06B04A  |482000K060098 |PSI OUTLET,BRASS BODY 2|EA $164.00 $328.00
CLAMP,HOSE/TUBING:TANGENTIAL WORM,7/16"-11/16"

307|PCRO2PO7B0O4E  |4730002789200 |HOSE,CRES STEEL,QQ-P-416 TYPE 1 CL 3,MIL-C-6985 QPL 1/EA $0.90 $0.90
CLAMP,HOSE/TUBING:TANGENTIAL WORM,1-21/64" TO 1-
3/4" HOSE,CRES STEEL,QQ-P-416 TYPE 1 CL 3,MIL-C-6985

308|PCRO2P07B05B  |4730002033131 |QPL 11|EA $0.73 $8.03
ELBOW, TUBE ADAPTER,REDUCING:1/2" X 3/8",MALE

309|PCRO2P09B03H  |4730002827572 |FLARE,MNPT,CRES 316 SS,90 DEG,MIL-F-5509 8|EA $13.83 $110.66
ADAPTER,COMMUNICATION:RS232 TO RJ45 JACK,25

310|PCRO2P12B01C  |593500K050090 |[FEMALE CONTACT 4|EA $8.33 $33.30
POWER SUPPLY:MODULAR SWITCHING,90-130VAC 47-
450HZ INPUT,5VDC (PORM 1%) OUTPUT,5A OUTPUT,2.5" WD

311|PCRO2P13B07H  |613000K049447 |X 3.5" LG X 1.56" HT 1|EA $219.00 $219.00

312|PCRO3P01B03L _ |593000K059014 |SWITCH,PUSHBUTTON:50VAC/DC 25MA,SPDT,BLACK 34|EA $1.40 $47.60
CONNECTOR,COMMUNICATION:MODULAR TELEPHONE

313|PCRO3P03B04L  |593500K049705 |PLUG,4 COND,250V 2A 577|EA $0.13 $75.01

20 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
VALVE,SOLENOID:1/4" PIPE,7/32" ORIFICE,120VAC,2
WAY,NO,200 DEG F,CONTINUOUS DUTY,CRES 303 SS
314|PCRO3P03B06J  |481000K056171 |BODY,CORROSIVE SERVICE 2|EA $151.20 $302.40
POWER SUPPLY:REGULATED DUAL OUTPUT
MINIATURIZED,105-125VAC 1PH 47-420HZ INPUT,12VDC
315|PCRO3P06B02C 6130010645634 |OUTPUT,0.2A OUTPUT 3|EA $92.89 $278.67
ELECTRODE:COMBINATION,AG/AG CL ELEMENT,KCL GEL-
316|PCRO3P06B06A  |663000K059007 |FILLED POLYMER BODY 2|EA $40.35 $80.70
CONNECTOR,COMMUNICATION:MINIATURE BAYONET BNC
317|PCRO3P08B07G  |5935008823323 |PLUG,RG-58/141/142/400 COND,50 OHM 66|EA $2.20 $145.20
RIBBON:MAGNETIC,1/2" WD X 50' LG X 1/16" THK,CHARCOAL
318|PCRO3P09B02A  |7510003916979 |BROWN 12|RO $12.43 $149.20
SOCKET,ELECTRICAL.ELECTRONIC COMPONENT PLUG
IN,LOW PROFILE HIGH RETENTION DIP,20
CONTACT,PRINTED CIRCUIT,GOLD CONTACTS,0.45" WD X
319|PCRO3P10B06A  |5935010930316 |1"LG 687|EA $0.95 $649.90
CONNECTOR,COMMUNICATION:RECTANGULAR D-
SUBMINIATURE JACK,9 MALE CONTACT POSITION,MIL-C-
320|PCRO3P15B01G  |5935004109251 [24308 QPL 12|EA $1.86 $22.34
BLADE,CIRCULAR SAW:12" DIA,0.12" KERF THK,1" DIA
321|PCRO3P16B07A  |345500K058232 |ARBOR,72 TEETH,CARBIDE BLADE,PLASTIC CUT MATERIAL 2|EA $88.85 $177.70
322|PCRO3P17B01K  |4730005695490 |RING,SEAL PIPE:5", TFE COATED PLTD CRES 17-4 PH SS 8|EA $0.00 $0.00
CHASSIS:ELECTRICAL/ELECTRONIC EQUIPMENT,5" WD X 7"
323|PCRO3P17B06H  |5999009718843 |LG X 3" HT,GRAY HAMMERTONE FINISHED 16 GA ALUM 2|EA $8.15 $16.30
324|PCRO4P01B02K _ |733000K859025 |TIMER:DIGITAL,20 HR RANGE 4|EA $14.40 $57.60
BLADE,CIRCULAR SAW:1-1/2" DIA,1-1/8" THK,1/2" ARBOR,RH
325|PCRO4P01B06A  |3455002313522 |CUT POSITIVE RAKE,8 TEETH,HSS,GROUND FLUTES BLADE 5|EA $34.16 $170.80
LAMP,INCANDESCENT.OVERHEAD
326|PCRO4P02B04L  |624000K859174 |PROJECTORS,0.04A,410W,82V 8|EA $42.73 $341.84
RULER:MACHINIST FLEXIBLE,19.1MM WD X 150MM (5.91") LG
327|PCRO4P02B0O5K 5210013791122 |X 1.2MM THK,1/2 MM & MM GRDTNS,SPRING STEEL 3|EA $8.75 $26.25
328[PCRO4P02B07M _ |593000K053568 |SWITCH,TOGGLE:120/250VAC 5/2A,28VDC 5A 28|EA $6.50 $182.00
21 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
COUNTERSINK:INTEGRAL PILOT,1/2" BODY DIA,100 DEG,1/4"
329|PCRO4P03B12F |5133010836596 |SHANK DIA,GGG-C-613 TYPE VI 2|EA $12.37 $24.74
BLADE,HOLE SAW:3/4",5/16™-24 UNF ARBOR,COARSE
330|PCRO4P05B01J  |3455010792251 |TEETH,HIGH SPD TOOL STEEL BLADE 2|EA $41.87 $83.74
CROSS, TUBE:1/2",3/4"-16 UNF MALE 37 DEG
331|PCRO4P05B03H  |4730010090998 |FLARE,PASSIVATED CRES 316 SS,QQ-S-763 CONDITION A 3|EA $0.00 $0.00
NOZZLE:FLUID EMULSION HORZ OR VERT SPRAY,1.25",24
332|PCRO4P07B13A  |4730003787690 |UNS-2B,CHROME PLTD BRASS 1|EA $38.55 $38.55
WRENCH,COMBINATION:15 DEG ANGLE OFFSET
333|PCRO4P07B15L  |5120013491480 |BOX/OPEN,14MM,12 POINT,219MM LG,CHROMIUM PLTD 2|EA $16.64 $33.28
SWITCH,TOGGLE:125VAC 16A,250VDC
334|PCRO4P08BO1H  |5930002418921 |8A,SPST,MAINTAINED ON/NONE/OFF,SCREW TERMINAL 6|EA $3.52 $21.12
FILTER,FLUID:REUSABLE, 1/2" X 6" LG,FEMALE BOSS
THD,304 SS ELEMENT,10 MICRON RETENTION,CRES 17-4
335|PCRO4P09B01A  |433000K056642 |PH SS HSG 1|EA $445.00 $445.00
DIE, THREADING:ADJUSTABLE,5/8" OD X 1/4" THK, #6-32
UNC,CARBON OR HSS,GGG-D-296 TYPE 1 SERIES A,CID A-A-
336|PCRO4P09B02J  |5136002222226 |410 TYPE 1 4|EA $13.44 $53.75
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE, 1-1/2"
OD X 1/2" THK,9/16"-12 UNC,CARBON OR HSS,GGG-D-296
337|PCR04P09B09J  |5136002267390 |TYPE 1 SERIES A 2|EA $8.32 $16.63
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE, 1-1/2"
OD X 1/2" THK,9/16"-18 UNF,CARBON OR HSS,GGG-D-296
338|PCRO4P09B10G  |5136002267389 |TYPE 1 SERIES B 2|EA $6.94 $13.88
CONNECTOR,COMMUNICATION:SPRING TIP BANANA
339|PCRO4P09B10M |5935008422154 |PLUG,10A,GREEN 22|EA $1.04 $22.88
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE,1" OD
X 3/8" THK,7/16"-20 UNF,CARBON OR HSS,GGG-D-296 TYPE
340|PCR0O4P09B15J  |5136003972826 |1 SERIES B 3|EA $5.08 $15.25
TAP,THREADING:GROUND THD,BOTTOMING, 1" DIA,2-1/2"
THD LG,14 TPI-H4,GROUND HSS,GGG-T-70 TYPE 1 STYLE C
341|PCRO4P11B03G |5136002281024 [SERIES C,CID A-A-624 1|EA $25.51 $25.51
FILE:MILL,SECOND CUT,10"
342|PCRO4P11B06A  |5110002034556 |LG,RECTANGULAR,AMERICAN,GGG-F-325 QPL 4|EA $4.92 $19.69
22 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
FILE:HAND,SMOOTH, 10" LG, TRIANGULAR,AMERICAN,GGG-F-
343|PCRO4P11B07A  |5110002346524 |325 QPL 3|EA $4.49 $13.47
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE,1" OD
X 3/8" THK,5/16"-18 UNC,CARBON OR HSS,GGG-D-296 TYPE
344|PCRO4P12B04H |5136011415746 |1 SERIES A 12|EA $8.66 $103.90
REAMER:MACHINE,C (0.242") DIA,6" OVERALL LG,6
STRAIGHT FLUTES,1-1/2" FLUTE LG,RH CUT,STRAIGHT
345|PCRO4P12B07H  |345500K057569 |SHANK,HSS 1|EA $9.34 $9.34
TAP, THREADING:GROUND THD, TAPER,#2 DIA,7/16" THD
346|PCR04P12B08D  |5136008896619 |LG,56 UNC-H1,GROUND HSS,CID A-A-624 6|EA $5.95 $35.70
TAP, THREADING:GROUND THD,BOTTOMING,1-5/16" DIA,3"
THD LG,12 UNC-H4,GROUND HSS,GGG-T-70 TYPE | STYLE C
347|PCRO4P12B13B  |5136010836592 |SERIES C,CID A-A-624 1|EA $36.44 $36.44
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE, 13/16"
OD X 1/4" THK,1/4"-20 UNC,CARBON OR HSS,GGG-D-296
348|PCRO4P13B04K  |5136006182693 |TYPE 1 SERIES A 29|EA $5.97 $172.99
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE,1" OD
X 3/8" THK,7/16"-14 UNC,CARBON OR HSS,GGG-D-296 TYPE
349|PCRO4P13B06H |5136006899026 |1 SERIES A 5|EA $7.79 $38.95
THERMOMETER,DIAL:-40 TO 120 DEG F RANGE, 1.75" DIAL
350|PCRO4P13B16L  |6685011265438 |DIA 6|EA $2.88 $17.28
LEAD,TEST:36" LG,PP INSULATED STACKING BANANA
351|PCRO4P15B11K  |662500K289937 |PLUG,GREEN PVC INSULATED 18 AWG STR COPPER 1|EA $4.60 $4.60
BIT,TOOL:CUTTER,10 DEG BEVEL SQ END
352|PCRO4P15B12G  |345500K042544 |RECTANGULAR,3/8" SQ X 3" OAL,COBALT HSS 1|EA $10.98 $10.98
DIE, THREADING:ROUND SPLIT SCREW ADJUSTABLE, 1-1/2"
OD X 1/2" THK,1/2"-20 UNF,CARBON OR HSS,GGG-D-296
353|PCRO4P15B14L  |5136001893198 |TYPE 1 SERIES B 4|EA $7.05 $28.21
ADAPTER,TUBE TO HOSE.0.35" TUBE,SWIVEL NUT,1/2"
354|PCRO4P15B15A  |473000K271531 |HOSE,SWAGE,CRES STEEL 21|EA $15.61 $327.89
ADAPTER,TUBE REDUCING:1/4" X 1/8",FEMALE AN, TUBE
355|PCRO4P15B16A  |473000K060493 |STUB 50[EA $10.50 $525.00
356|PCRO4P16B10G  |5340002055308 |BLANK:BUTTON PLUG,3/8" CHASSIS,NICKEL PLTD STEEL 348|EA $0.09 $31.32
HUB,TAPPED BLIND:1-1/2" GR14,1.609" TAP DIA,NO 12,6500
357|PCRO4P18B01C  |4730010927906 |PSI,CRES F316 SS,ASTM A182 1|EA $0.00 $0.00
23 0f 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

SCREW,CAP:3/8" DIA,16 UNC-3A,1.5" LG,FLAT FILLISTER

358|PCRO4P18B15E  |5305009887846 |HEX SOCKET HD,PASSIVATED CRES 300 SERIES SS,FF-S-86 61|EA $0.96 $58.56
WRENCH,COMBINATION:15 DEG ANGLE OFFSET

359|PCRO5P02B11A  |5120013491454 |BOX/OPEN,24MM,12 POINT,338MM LG,CHROMIUM PLTD 1/EA $31.31 $31.31
WRENCH,COMBINATION:15 DEG ANGLE OFFSET

360|PCRO5P02B11G 5120013491448 |BOX/OPEN,18MM,12 POINT,267MM LG,CHROMIUM PLTD 2|EA $19.10 $38.20
PUNCH,KNOCKOUT:ROUND, 1/4" DIA HOLE,LIGHT DUTY
PLASTIC,HARD RUBBER,METAL CAPACITY,GGG-P-836 TYPE

361|PCRO5P04B01L  |5110002930103 |1 CL 1 3|EA $5.58 $16.75
PUNCH,KNOCKOUT:5/8" DIA HOLE,LIGHT DUTY

362|PCRO5P04B02L 5110000625816 |PLASTIC,HARD RUBBER,METAL CAPACITY,GGG-P-836 1/EA $31.90 $31.90
PLIERS:SLIP JOINT ANGLE NOSE,STRAIGHT JAW,GGG-P-

363|PCRO5P04B10C  |5120002780350 [471 TYPE 2 CL 1 STYLE A 4|EA $6.69 $26.77

364|PCRO5P06B07G  |5136002247114 |DIE STOCK:ROUND,2-1/2" DIE X 29" OAL,GGG-D-296 4|EA $12.58 $50.32
NIPPERS:END CUTTING,4-1/2" OVERALL LG,NICKEL ALLOY

365|PCRO5P11B06G  |5110005424852 |STEEL,GGG-N-350 TYPE 1 CL 2 STYLE A 1|EA $14.99 $14.99
ABRASIVE,DISC:RIGHT ANGLE, 7" OD,A-COARSE

366|PCRO5P11B08G 5345013811071 |GRIT,BROWN ALUM OXIDE 12|EA $4.28 $51.36
SCREWDRIVER:5" SHANK LG,STRAIGHT SIDE FLAT TIP,3/16"
WD TIP,STEEL,PLASTIC HANDLE,GGG-S-121 TYPE 1 STYLE

367|PCRO5P12B11G  |5120002781270 |2 2|EA $1.18 $2.36
SCREWDRIVER:POCKET,5" SHANK LG,FLARED FLAT

368|PCRO5P12B15G  |5120001803490 |TIP,3/16" WD TIP,PLASTIC HANDLE,GGG-S-121 3|EA $6.98 $20.94
WRENCH,COMBINATION:15 DEG ANGLE OFFSET

369|PCRO5P13B08A 5120013491482 |BOX/OPEN,16MM,12 POINT,242MM LG,CHROMIUM PLTD 2|EA $18.64 $37.28
FLOAT:MORTAR,5" WD X 12" LG X 3/4" THK,SMOOTH FINISH

370|PCRO5P17B04G 5120005961076 |REDWOOD FACE 3|EA $9.50 $28.50
ABRASIVE,DISC.PLAIN FLAT,7" OD,7/8" ARBOR,36
GRIT,ALUM OXIDE,CLOSE COATED VULCANIZED FIBER OR
VULCANIZED FIBER & CLOTH BACKING,P-D-455 TYPE 2 CL

371|PCRO6P05B08G ~ |5345001961692 |1,CID A-A-1016 13|EA $0.59 $7.62
CHISEL.COLD HAND,3/4" WD, 7-1/2" OVERALL LG,TEMPERED

372|PCRO6P10B0O7A 5110002363273 |FORGED STEEL,GGG-C-313 TYPE 4 CL 1 2|EA $4.07 $8.14

373[PCRO6P10B08G  |482000K856708 |DIAPHRAGM:SILICA SANDER 1|EA $18.10 $18.10

24 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

WIRE/CABLE,ELECTRICAL:SPECIAL PURPOSE,68 COND,32
AWG, TINNED COPPER,STR,FLAME RETARDANT FLEXIBLE

374|PCRO6P14B07A  |614500K060238 |PVC INSUL,GRAY,100' REEL 1|RL $59.90 $59.90
BLADE,CIRCULAR SAW:12" DIA,0.17" KERF THK,1" DIA

375|PCRO6P15B05C  |345500K058233 |ARBOR,RIP,30-32 TEETH,CARBIDE BLADE 3|EA $62.32 $186.95

376|PCRO6P16B04A  |663000K060111 |STRIP:T STICK 140 PLUS TEST 2|PG $78.40 $156.80
ADAPTER,TUBE TO HOSE0.27" TUBE,SWIVEL NUT,3/8"

377|PCRO6P17B06A  |473000K271529 |HOSE,SWAGE,CRES STEEL 68|EA $44.53]  $3,028.04

378[PCRO7P01B05G _ |655000K061057 |STATION:QUATERNARY SANITIZER TEST 2|EA $25.75 $51.50

379|PCRO7P01B06G _ |655000K061058 |STATION:CHLORINE SANITIZER TEST 5|EA $32.18 $160.90
ADAPTER,TUBE TO HOSE.0.35" TUBE,SWIVEL NUT,1/2"

380|PCRO7P02B01A  |473000K271532 |HOSE,SWAGE,CRES STEEL 10|EA $26.73 $267.30
ADAPTER,TUBE TO HOSE.0.35" TUBE,SWIVEL NUT,1/2"

381|PCRO7P02B03A  |473000K271533 |HOSE,SWAGE,CRES STEEL 35|EA $26.77 $936.95
PLUG,ELECTRICAL:THRU GROUNDING STRAIGHT,4 POLE,3

382|PCRO7PO5BOSE  |5935003755189 |WIRE,30A,600VAC,250VDC 2|EA $173.00 $346.00
ELBOW,PIPE ADAPTER:3/4",FPT,MPT,90 DEG,CRES 316

383|PCRO7P07B04D  |4730005099446 |SS,MIL-F-5509 1|EA $28.61 $28.61
TEE,PIPE ADAPTER:1/8" X 1/8",FNPT X MNPT STREET

384|PCRO7PO7B04L  |4730001375705 |RUN,1/8",FNPT BRANCH,CRES 316 SS 3|EA $14.04 $42.11
SCREW,MACHINE#8 DIA,32 UNC-2A,7/8" LG,PAN PHILLIPS
HD,CAD PLTD CS,QQ-P-416 TYPE 2 CL 3,FF-S-92,AIS|

385|PCRO7P07B05H  |5305009846196 |C1010,C1011,C1012 OR C1013 5|HD $4.00 $20.00
SCREW,MACHINE#6 DIA,32 UNC-2A,1/2" LG,100 DEG FLAT
COUNTERSUNK PHILLIPS HD,PASSIVATED CRES 302,303,0R

386|PCRO7PO7B0O6L  |5305000667327 |304 SS,FF-S-92 TYPE 1 1|HD $3.80 $3.80
SCREW,CAP:3/8" DIA,16 UNC-3A,2.5" LG,FLAT FILLISTER

387|PCRO7PO7B10A  |5305000527495 |HEX SOCKET HD,PASSIVATED CRES 300 SERIES SS,FF-S-86 84|EA $1.04 $87.11
CONNECTOR,COMMUNICATION:TELEPHONE PANEL

388|PCRO7P07B16G  |5935008506866 |JACK,COAXIAL COND,1 PIN POSITION 3|EA $6.65 $19.95

389|PCRO7P08B02C _ |4730001270248 |PLUG,PIPE:2",SQ SOL HD,THD,CRES 316 SS,MIL-F-5509 6|EA $23.45 $140.70
ADAPTER,HOSE TO PIPE.1/4" HOSE, 1/8" PIPE,ANODIZED

390|PCRO7P08B02G  |4730001870861 |ALUM ALLOY,MIL-F-5509 12|EA $0.86 $10.34

25 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

BUSHING,PIPE,HEX:1/4" X 1/8",MPT X FPT,ALUM ALLOY,MIL-

391|PCRO7P08B02J  |4730001940204 |F-5509 39|EA $0.57 $22.23

392[PCRO7P09B02A  |5935008938940 | CONNECTOR,COMMUNICATION:CABLE CLAMP 50|EA $8.90 $445.00
LAMP,INCANDESCENT:SILICONE COATED CAFETERIA'S
FOOD WARMING COUNTER,60W,120V,FROSTED,A-19

393|PCRO7P10B06C  |6240009273841 |BULB,MEDIUM BASE 4|EA $1.75 $7.00

394[PCRO7P11B03C 5935008938928 |MOLD:ELECTRICAL CONNECTOR POTTING 77|EA $3.75 $288.75

395|PCRO7P11B07A  |831501408377¢ |NET:HAIR,ONE SIZE FITS ALL,NYLON 2|BX $11.35 $22.70
LINER:BAKING CUP,2" DIA X 1.25" DP,FLUTED PAPER,CID A-

396|PCRO7P15B08C  |7330001708382 |A-1074 5/BX $2.38 $11.90
SOFTENER:FABRIC,DRYER SHEET,DIRECT REPLACEMENT

397|PCRO7P16B04A  |7930014110548 |PART 3|BX $9.39 $28.17
ABRASIVE,SHEET:WET OR DRY LAPPING,3" WD,11" LG,600
GRIT,SILICON CARBIDE,WATERPROOF,PRESSURE

398|PCRO7P17B02A  |535000K058198 |SENSITIVE ADHESIVE BACKING 3|PG $48.00 $144.00
SCOOP:ICE CREAM MECHANICAL,4 OZ,ORANGE,CID A-A-463

399|PCRO7P17B03C  |7330006416870 [SIZE 12 21|EA $6.50 $136.50
CONNECTOR,COMMUNICATION:MASS TERMINATING LOW
PROFILE JACK,26/28 AWG FLAT COND,25 CONTACT

400|PCRO7P17B06A  |5935010318984 |POSITION,1A,GRAY 7|EA $5.50 $38.50
KNIFE:SLICING, 12" LG BLADE X 16.675" OAL,CRES STEEL

401|PCRO7P18B01A  |7340004066531 |BLADE,GGG-C-746 TYPE 6 GR D 5|EA $33.60 $168.00
KNIFE:COOKS,10" LG BLADE,CRES STEEL BLADE,GGG-C-

402|PCRO7P18B03A  |7340004887950 |746 TYPE 2 GR D,CID A-A-2733 TYPE 2 GR D 11|EA $9.34 $102.76
KNIFE:PARING,3.5" LG BLADE,CRES STEEL BLADE,CID A-A-

403|PCRO7P18B04C  |7340004887939 |2733 TYPE 5 10|EA $3.03 $30.30

404|PCROSP04B01A  |7340002053340 |SPOON:TEA,CRES STEEL,RR-F-450 TYPE 1 STYLE 1 ITEM 3 23[BX $20.61 $474.03

405|PCRO8P04B02A  |7340000606057 |KNIFE:STD WT TABLE,SS BLADE,RR-F-450 TYPE 1 STYLE 2 16/BX $53.31 $852.96

406|PCRO8P04B04D  |594000K857543 |BLOCK, TERMINAL:64 POSITION CIRCUIT 8|EA $88.20 $705.60

407|PCRO8P04B07A  |7330006161000 |TONGS:SPRING HINGE UTILITY,6",SS 48|EA $0.60 $28.80

408|PCRO8P04B07D  |733000K859021 |SPREADER:SANDWICH,SS,WOOD HANDLE 12|EA $1.20 $14.40

400|PCROSP04B08A  |7340002418171 |SPOON:TABLE,SS,RR-F-450 TYPE 1 STYLE 2 ITEM 3 17|BX $22.59 $383.99

26 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
UNION,TUBE:1-1/4",1-5/8"-12 UN MALE 37 DEG
410|PCROSPO5B02A  |4730010112278 |FLARE,PASSIVATED CRES 316 SS,QQ-S-763 CONDITION A 3|EA $0.00 $0.00
411|PCRO8PO7BO1A  |734000K060839 |TONGS:SPRING HINGE UTILITY,12",SS 48|EA $1.48 $71.09
412|PCRO8PO7B02A | 734000K060837 |SPOON:SPOODLE,4 OZ,BLACK PLASTIC HANDLE 18|EA $3.00 $54.00
413|PCROSPO7B03A  |734000K060838 |SPOON:SPOODLE,4 OZ,BLACK PLASTIC HANDLE 6|EA $3.00 $18.00
414|PCROSPOSBO6A  |733000K859020 |MITTENS:OVEN,15",SILICONE 36|EA $2.95 $106.20
BOTTLE.LABORATORY WASH,250 CC,PE,NOZZLE &
415|PCROSPOSBO7A  |6640013755693 |DELIVERY TUBE 7|EA $2.21 $15.47
KIT:CAPS,TFE FACED SEPTA & 2 ML RED SEPTA,SCREW
416|PCROSPOSB0O8SA  |664000K059771 |CAP VIAL 3|PG $40.00 $120.00
ADAPTER,TUBE TO HOSE.0.15" TUBE,SWIVEL NUT,1/4"
417|PCROSP09BO6K  |473000K271526 |HOSE,SWAGE,CRES STEEL 8|EA $19.99 $159.92
ADAPTER,TUBE TO HOSE:0.27" TUBE,SWIVEL NUT,3/8"
418|PCROSP09B10L  |473000K271530 |HOSE,SWAGE,CRES STEEL 26|EA $26.25 $682.50
419|PCROSP10B01A  |734000K060840 |SPOON:SERVING,15" HANDLE,SS,BLACK PLASTIC HANDLE 6|EA $2.00 $12.00
HOLDER:POT,11" X 9",RESIN TREATED KNIT COTTON,CCC-C]
420|PCROSP13B04A  |7330003794439 |446 TYPE 2,RR-P-1818,CID A-A-867 TYPE 2 98|EA $3.03 $297.42
421|PCROSP16B05A  |733000K061227 |SCOOP:ICE CREAM,3 OZ 14|EA $6.69 $93.60
422|PCROSP16B07A  |733000K061228 |SCOOP:ICE CREAM,2 OZ 9|EA $6.00 $54.00
APRON:FOOD HANDLER BIB,26" WD X 35" LG,COTTON
423|PW1A006E059A 8415010450587 |DRILL,WHITE 194|EA $4.96 $961.29
GLOVES:FOOD HANDLER,USDA FOOD
424|PW1A006E061A |8415013962288 |SERVICE,MEDIUM,LIGHT OR NO POWDER LATEX 1|BX $28.30 $28.30
425|PW1A006E080A |735000K053118 |PLATE.EATING,5-1/2" OAD,MAROON TRIM 36|CS $48.26] $1,737.36
426|PW1A006J063A |7350013393398 |DISH:CUP SAUCER,6-1/8" OAD,CHINA 6|CS $62.00 $372.02
427|PW1A014A062A |793000K061148 |COOLER:RAPI-KOOL FOOD CHILLING,128 OZ 4|CS $61.29 $245.16
428|PW1A014A066A |735000K061067 |TRAY:12",BLACK PLASTIC 10|CS $19.10 $191.00
429|PW1A014A068A |735000K061068 |LID:12",TRAY,CLEAR 6|CS $11.01 $66.08
430|PW1A014A071A |735000K061070 |TRAY:16",BLACK PLASTIC 4|cs $35.97 $143.88
431[PW1A014A076A |735000K061071 |LID:16",TRAY,CLEAR,25 TRAYS PER CONTAINER 8|CS $20.13 $161.02
432|PW1A014A080A |735000K061059 |TRAY:18",BLACK PLASTIC,DIRECT REPLACEMENT PART 3|CS $44.50 $133.50
433|PW1A014A085A |735000K061060 |LID:18",TRAY,CLEAR 10|CS $21.58 $215.82
27 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs GFE Material
NASA Property Only

A B C D E F G
UNIT OF UNIT TOTAL
1 Bl ITEM NOMENCLATURE QUANTITY| ISSUE COST COST

CUP:HEAVY DUTY RESTAURANT GR DRINKING,7-1/2
OZ VITRIFIED NON-PORCELAIN WHITE CHINA,CID A-A-2585

434|PW1A014A089A |7350012561089 |TYPE 8 4|BX $83.21 $332.86
BOARD:FOOD CHOPPING,24" DIA X 18" LG X 3/4"
435|PW1A014E067A |7330009009861 |THK,RUBBER OR PLASTIC,CID A-A-391 SIZE 2 7|EA $24.16 $169.12

BOWL:HEAVY DUTY RESTAURANT GR SOUP EATING,5.5"-
5.75"0AD X 1.75"-2.25"OAH,VITRIFIED NON-PORCELAIN
436|PW1A014J056A |7350012561091 |WHITE CHINA 3{BX $95.73 $287.18

PLATE:HEAVY DUTY RESTAURANT GR EATING,6.375"-6.625"
OAD X 0.687"-0.937" OAH,VITRIFIED NON-PORCELAIN WHITE
437|PW1A014J063A |7350012561086 |CHINA A-A-2585 TYPE 5 2|BX $61.84 $123.68

DISH:RESTAURANT GR CUP SAUCER,5.375"-5.625"OAD X
1.75"-1.25"0AH,VITRIFIED NON-PORCELAIN WHITE
438|PW1A014M098A 7350012561088 |CHINA,CID A-A-2585 TYPE 7 11|BX $29.33 $322.64

439|PW1A020A089A |597500K857544 |ADAPTER:UNIVERSAL SIGNAL AMP CHASSIS SLIDE RACK 1|EA $759.25 $759.25

CUP:HEAVY DUTY RESTAURANT GR DRINKING,3.594" DIA X
3.391" HT X 0.188" BOTTOM THK,UNDECORATED PLAIN

440|PW1A020E040A |7350012561093 |WHITE CHINA,595,CID A-A-2585 TYPE 2 1|BX $100.46 $100.46
441{PW1A020E072A [731000K859023 |SCALE,WEIGH:FOOD,2 LB CAPACITY,1/4 OZ GRDTNS 3|EA $71.20 $213.60
442|PW1A020F019A |7210013557555 |CLOTH:TABLE,54" X 104",3 PLY RED POLY LINED PAPER 23|BX $29.35 $675.10
443[PW1A020F042A 7920013926518 |PAD,CLEANING:EXTRA HEAVY DUTY SCOURING,3-1/2" X 5" 17|CS $23.65 $402.07
COVERALL:ZIPPERED DISPOSABLE,LARGE,FULL
444|PW1A020G075A |841500K044550 |SLEEVE,WHITE,PE TYVEK 1|BX $90.00 $90.00
MATERIAL:CAPPING,CLEAR PLASTIC,6-3/4 TO 7" WD X 500'
445|PW1A020G084A 8135011059060 |LG 4|RL $68.20 $272.80
GLASS,DRINKING:12 FL OZ, TUMBLER,HEAT TREATED
DURABLE GLASS,DD-T-101 TYPE Il STYLE B,CID A-A-1061
446|PW1A020M075A |7350006895383 |TYPE 2 ITEM 3 3{BX $29.20 $87.61
447\PW1A028E075A |733000K859029 |CONTAINER:FOOD,6 QT,PLASTIC 1|CS $37.44 $37.44
448|PW1A028E084A |733000K859027 |CONTAINER:FOOD,4 QT,PLASTIC 3|CS $27.65 $82.95
449|PW1A028E087A |733000K859028 |LID:CONTAINER,4 QT,PLASTIC 1|CS $8.21 $8.21
450|PW1A028E089A |733000K859026 |BRUSH:POT,3" DIA BRISTLE,16" HANDLE 12|EA $13.64 $163.68

28 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

FILTER,AIR:AIR CONDITIONER ELEMENT,10" WD X 20" HT X

451|PW1A028HO40A |413000K059491 |1" THK,CARDBOARD HSG 10|EA $0.93 $9.30
CLOTH:TABLE,54" X 108",3 PLY NAVY BLUE POLY LINED

452|PW1A034E080A 7210013557557 |PAPER 9|BX $29.66 $266.96
BOTTLE:STORING,SHIPPING & PACKAGING SCREW CAP,4

453|PW1A034E098A 6640013304902 |0Z, TRANSLUCENT,PE,NARROW MOUTH,ROUND 303|EA $0.60 $181.80

454|PW1A034J061A 6640012111057 |PIPET.SEROLOGICAL,10 ML CAPACITY,POLYSTYRENE 2|BX $35.43 $70.86

455|PW1A034N084A 8345013472349 |FLAG:US,8" X 12",CONCORD COTTON 3656|EA $1.02]  $3,714.50
LID:DISPOSABLE CUP,3.5-4.0 OZ SOUFFLE CUP,DIRECT

456|PW1A0424F084 |7350014543239 |REPLACEMENT PART 5/Ccs $39.00 $195.00
HOSE:NON-METALLIC,2" DIA X 72" LG,ADAPTER ENDS,750
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,BRAIDED

457|PW1A042E110A |472000K041537 |CRES STEEL WIRE REINFORCEMENT OUTER 3|EA $110.00 $330.00

458|PW1A042F008A 6530011738892 |CONTAINER:HYPODERMIC NEEDLE DISPOSAL,8.2 QT,PE 19|EA $5.13 $97.47
DISH:RESTAURANT GR FRUIT EATING,4.626"-4.75"OAD X
1.062"-1.562"OAH,VITRIFIED NON-PORCELAIN WHITE

459|PW1A042J064A  |7350012561090 |CHINA,CID A-A-2585 TYPE 9 2|BX $46.26 $92.52
TRAY:SERVICE, 14" WD X 18" LG,NATURAL COLOR
FIBERGLASS,L-T-776 TYPE 1 SIZE 2,CID A-A-2594 TYPE 1

460|PW1A042R024A 7350009266180 |SIZE 2 19|DZ $82.33|  $1,564.27

461|PW1A048E064A  |664000K060170 |TIP:DISPOSABLE PIPET 3|PG $25.96 $77.88

462|PW1A048F014A |664000K057512 |ABSORBENT.LAB TABLE SOAKER,ROLL,20" WD X 300' LG 2|CS $102.36 $204.72
GLOVES:NON-STERILE DISPOSABLE,FOOD
HANDLING,OSFA,ELBOW LG,NO POWDER EMBOSSED

463|PW1A048F031A |841500K060248 |POLY,CLEAR 12|BX $3.31 $39.66
KIT, TERMINATION:INDOOR HEAT SHRINK, 15KV, 4-4/0 AWG

464|PW1A048F103A |599900K857737 |COND 2|KT $693.67| $1,387.33
CABINET:ELECTRICAL EQUIPMENT,17.04" WD X 3.48" HT X

465|PW1A048G058A |597500K052641 |13" DP,ANODIZED ALUM CASE,VINYL CLAD PANEL 1|EA $135.20 $135.20
COVER:STEAM TABLE PAN,10-7/8" WD X 12-13/16" LG X 5/8"

466|PW1A056A075A 7310014125169 |DP,ALUM 17/BX $14.80 $251.68

467|PW1A056F012A |6515013816367 |MASK:SURGICAL 36|BX $13.69 $492.84
DISPENSER:LENS CLEANING TISSUE,7-1/8" X 3-1/2" X 3-

468|PW1A056J029A  |6640002003798 |1/4" ENAMEL FINISHED STEEL 17|EA $8.85 $150.37

29 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
SCREW,CAP:1/4" DIA,20 UNC-2A,1/2" LG,HEX HD,CAD
469|PW1A056J063A  |5305000680500 |CHROMATE CS,QQ-P-416 TYPE 2 CL 3,FF-S-85,GR 5 170|HD $1.49 $252.45
PLATE:HEAVY DUTY RESTAURANT GR EATING,8.875"-9.125"
OAD X 0.625"-1.125" OAH,VITRIFIED NON-PORCELAIN WHITE
470|PW1A056J072A  |7350012561087 |CHINA,A-A-2585 TYPE 1 1|BX $69.42 $69.42
BOX,SHIPPING:REUSABLE FULL BOS TELECOPING
ENCAPSULATED,18" WD X 32" LG X 16" DP,RECYCLED
FIBERBOARD,CLASS WEATHER RESISTANT,PPP-B-
471|PW1A056N070A |8115010151315 |1672,PPP-F-320 2|EA $17.50 $35.00
HOSE:AIR DUCT,8" ID X 84" LG,STEEL WIRE REINFORCED
INNER,SINGLE PLY YELLOW OR OLIVE DRAB NEOPRENE
472|PW1A062M042A |4720000603196 |COATED COTTON OUTER,-65 TO 250 DEG F,MIL-D-38386 5|EA $66.61 $333.05
HOSE:NON-METALLIC,1/4" DIA X 36" LG,ADAPTER ENDS,1500
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,BRAIDED
473|PW1A070A098A |4720013066503 |CRES STEEL WIRE REINFORCEMENT OUTER 7|EA $70.00 $490.00
HOSE:NON-METALLIC,1/4" DIA X 240" LG,STRAIGHT
ADAPTER ENDS,6000 PSI,CARBON ADDITIVE SEAMLESS
PTFE INNER,BRAIDED CRES STEEL WIRE REINFORCEMENT
474|PW1A070A098A |472000K038319 |OUTER 3|EA $421.92] $1,265.76
HOSE:NON-METALLIC,1/4" DIA X 36" LG,ADAPTER ENDS,3000
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,BRAIDED
475|PW1A070C093A |4720013067477 |CRES STEEL WIRE REINFORCEMENT OUTER 5|EA $58.06 $290.30
476|PW1A071J006A  |6640011997603 |TIP:PIPET,BLUE 6|PG $80.94 $485.63
GLOVES:STERILE DISPOSABLE,SURGEONS,8,TALC FREE
477|PW1A071J016A 6515011470039 |LATEX,NATURAL,BEADED OR ROLLED EDGE CUFF 46|PR $0.58 $26.68
478[PW1A076HO07A |664000K049533 |SWAB:SINGLE,15CM TIP DIA,POLYESTER FIBER TIP 2|BX $100.71 $201.43
MATERIAL.PIPE LINE SUPPORT,TFE,36" WD X 36" LG X 0.5"
479|PW1A084C107A |933000K058713 |THK 1|SH $750.00 $750.00
ROPE:FIBROUS,3/4"DIA,600ROLL LG,3 STR YELLOW PP,MIL-
480|PW1A085R050A |4020009681354 |5-24049 6|RL $214.78]  $1,288.68
481[PW1A093E055A |735000K056994 |PLATE.EATING,6-5/8" OAD,MAROON TRIM 4|CS $82.59 $330.36
TUBING,NONMETALLIC:1/4" ID,3/8" OD,200' ROLL LG,1/16"
482|PW1A093K053A  |472000K059396 |WALL THK,FEP TFE 1|RO $411.40 $411.40
30 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material

NASA Property Only
A B C D E F G
UNIT OF UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY]| ISSUE COST COST
ELBOW,PIPE:1-1/2",UNTHD FEMALE SLIP,90 DEG,SCH
483|PW1A115B001B [473000K053884 |40,DWV PVC 86|EA $0.45 $38.70
484|PW1A115F003B [4730002479313 |ELBOW,PIPE:4",UNTHD FEMALE SLIP,90 DEG,SCH 40,PVC 1|EA $6.32 $6.32
485(PW1A115H011A (6640010375812 |BEAKER:AUTOCLAVABLE POURING,400 ML,PP 2|BX $33.34 $66.69
486|PW1A123L101A [1680001830834 |ASSEMBLY:HELICOPTER TRANSMISSION 1|EA $0.00 $0.00
RULER:ENGINEERS DRAFTING SCALE,12" LG,10
PARTS/INCH ONE EDGE,50 PARTS/INCH OTHER EDGE
GRDTNS,GG-S-161 TYPE 2 GR 2 SIZE B COMPOSITION A
487|PW1A127B069A [6675002383495 |SHAPE 2 5(EA $22.95 $114.75
TEMPLATE,DRAWING:ELECTRO SYMBOLS,2.875" WD X 10"
488|PW1A127B073A [6675000853256 |LG X 0.03" THK,PLASTIC 6|EA $10.23 $61.36
PROTRACTOR:SEMI-CIRCULAR,6" DIA,NON-FLAMMABLE
PLASTIC,0-180 DEG,1/2 DEG GRDTNS,GG-P-681 TYPE 1 CL A
489|PW1A127C075A |[6675005143548 |STYLE 1 3[EA $2.50 $7.50
SCREEN:LINE CUT,3" WD X 6" LG,BLACK ACETATE FILM
490[PW1A127C076A |[7510010949535 |BASE 3[EA $21.00 $63.00
TEE,PIPE:1-1/2",CLAMP COUPLING & SEAL RING,FORGED
491|PW1A127C093B |[4730012690186 |F316 SS,ASTM A182 2|EA $0.00 $0.00
BRACKET,FRAMING FITTING:GREEN ENAMEL FINISHED
492[PW1A127D059A |[534000FE78830 |STEEL 6|EA $8.00 $48.00
493|PW1A127D068B |[7520005513654 |PENCIL,MECHANICAL:0.069"-0.12" DIA 79|EA $5.74 $453.54
494|PW1A127F061A [6850014566449 |BOTTLE:COPIER/PRINTER WASTE TONER,CLEAR 1|EA $10.99 $10.99
TEMPLATE,DRAWING:VERT OR SLANT LETTERING,3/32"
UPPER/LOWER CASE CHAR,5/32" & 3/16" UPPER CASE
495[PW1A127F068A [6675012938004 |CHAR,PLASTIC 4|EA $5.50 $22.00
RELAY:OPTO ISOLATED DC INPUT SOLID STATE,75A 48-
280VAC,3-32VDC COIL,(4) LUG OR BARE WIRE
496|PW1A133B094C [5945013041866 |TERMINAL,1.75" WD X 2.25" LG X 0.875" HT 2|EA $72.85 $145.70
VALVE,GLOBE:1/2",6000 LB @ 200 DEG F,FNPT,T-HANDLE
OPERATED,CRES 303 SS BODY,CRES 303 SS SEAT,STEM &
497|PW1A133C102A [482000BX04130 |NEEDLE,TFE PACKING 4|EA $17.60 $70.40
VALVE,SOLENOID:1/4" PIPE,7/32" ORIFICE,120VAC,2
WAY,NC,500 LB,180 DEG F,BRASS BODY,LIGHT OIL,WATER
498|PW1A133D091A |[481000K029161 |SERVICE 4|EA $38.26 $153.02
31 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
499|PW1A133E090B  |482000K055755 |COCK:DRAIN,1/4" PIPE,BRASS 4|EA $1.26 $5.04
KNOB:SET SCREW,ROUND KNURLED, 1/4" DIA X 1/8" SHAFT
500|PW1A133E090C |5355005795084 |DIA X 5/8" HT,BLACK PHENOLIC BODY 28|EA $1.79 $50.12
KIT:PARTS,SEATS,SEALS,BEARING,WASHERS &
501|PW1A133E098A |4820011238400 |INSTRUCTION SHEET,BALL VALVE 2|KT $35.21 $70.42
502|PW1A133K056A |599900BE02152 |[TRANSDUCER:BULB 2|EA $0.00 $0.00
CABINET:ELECTRICAL EQUIPMENT,12.04" WD X 8.7" HT X
503|PW1A133L084A |597500K049943 [16.5" DP,ALUM 1|EA $176.94 $176.94
HOSE:NON-METALLIC,1/4" DIA X 16" LG,ADAPTER ENDS,3000
PSI,SEAMLESS WHITE VIRGIN PTFE FLUOROFLEX-T1013 |
INNER,SS BRAID OVER SS WIRE REINFORCED VITON
504|PW1A137B104A |472000K048080 |OUTER 1|EA $50.00 $50.00
TEE, TUBE:1-1/2", TUBE BW, 1200 LB (0.049" WALL THK),316
505|PW1A137C083A |4730012690167 |SS 12|EA $0.00 $0.00
TEE,PIPE REDUCING:3/4" X 3/4" RUN,1/2" BRANCH,FNPT, 150
PSI SAT STEAM 300 PSI WOG OR AIR,GALV MI,WW-P-521
506|PW1A137C085A |4730002465483 |TYPE 2 48|EA $0.83 $39.84
507|[PW1A137C101A |5940010611663 |KIT,SPLICE:JUMPER WIRE,22 AWG COND,PVC INSUL 3|EA $25.72 $77.16
BREAKER,CIRCUIT:THERMAL MAGNETIC TRIP
RELEASE,480V,3PST,100A,14KAIC,PHENOLIC CASE, TOGGLE
508|PW1A137D086A |5925010223089 |LEVER TRIP RELEASE & RESET ACTUATOR 1/EA $244.45 $244.45
509|PWIA137E056A |3610013299604 |BOTTLE:PRINTER WASTE TONER,PLASTIC 2|EA $7.50 $15.00
TRANSFORMER:POWER, 120VAC PRI,0-140VAC
510|PW1A143B075A |5950004316760 |SEC,50/60HZ,1PH,6.375" WD X 6.75" LG X 9.468" HT 1|EA $315.13 $315.13
REDUCER,PIPE.CONCENTRIC BELL BANDED,2-1/2" X 1-
1/2" FNPT,150 PSI SAT STEAM 300 PS| WOG,GALV MI,WW-P-
511|PW1A143B098A |4730008250927 |521 TYPE 2 9|EA $1.57 $14.13
ADAPTER,COMMUNICATION:POTTING END BELL,2.859" DIA
512|PW1A143D100A |5935000731255 |X 1.238" LG 48|EA $11.40 $547.20
WIRE/CABLE,ELECTRICAL.:FLAT SPECIAL PURPOSE, 36
513|PW1A143L099A |614500K049060 |COND,26 AWG,STR 10[RO $93.25 $932.45
V-BELT SET.INDUSTRIAL PLAIN OR COG MATCHED,A90-
514|PW1A143M084A |3030008904922 |4,0.5" WD X 92.2" OC,RUBBERIZED FABRIC,4 V-BELTS 5|SE $9.27 $46.35
32 of 56 As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

ADAPTER,TUBE TO HOSE:1" TUBE,INT THD 37 DEG FLARE
SWIVEL NUT,0.875" HOSE,SWAGE GRIPPING

515|PW1A147C059A |4730006906147 |NIPPLE,PASSSIVATED CRES 304 SS 12|EA $25.92 $311.04
ADAPTER,TUBE TO PIPE:3/8" TUBE,9/16"-18 UNF MALE 37
DEG FLARE,1/2" PIPE,3/4"-16 UNF MALE BOSS,PASSIVATED

516|PW1A147D061A |4730010147628 |CRES 316 SS,QQ-S-763 CONDITION A 9|EA $0.00 $0.00

517|[PW1A147D075B |473000K056550 |ELBOW,PIPE:1/8",MPT,90 DEG,CRES 316 SS 37|EA $4.39 $162.43
NIPPLE,PIPE,HEX:1/8",MNPT,2-1/2" LG, 7/16" HEX,CRES 316

518|PW1A147D077B |473000K056567 |SS 33|EA $2.86 $94.38
CONNECTOR,COMMUNICATION:STRAIGHT PLUG, 10

519|PW1A147D079A |5935011328596 |CONTACT POSITION,300V 1A,MIL-C-83503/7 49|EA $1.73 $84.77

520[PW1A147D083B |4730008490633 |COUPLER,HOSE:PLUG,1/2",FNPT,BRASS 5|EA $2.89 $14.45

521[PWI1A147D090C |663000K853435 |HOLDER,LAMP: 1|EA $194.32 $194.32
TRANSFORMER:CONTROL POWER,0.05KVA,230VAC

522|PW1A147F075B  |595000K027729 |PRI,115VAC SEC,50/60HZ 1|EA $39.53 $39.53
HOSE:NON-METALLIC,1/4" DIA X 72" LG,ADAPTER ENDS,1500
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,BRAIDED

523|PW1A147G061A |4720013057374 |CRES STEEL WIRE REINFORCEMENT OUTER 1|EA $90.00 $90.00
ADAPTER,COMMUNICATION:RCA PATCH PLUG TO

524|PW1A147HO73A |5935004638071 |BNC,0.07" PIN DIA 4|EA $7.77 $31.06
LAMP,INCANDESCENT:MINIATURE, 12V,CLEAR, T-2 BULB,A63

525|PW1A147H106A |6240007974480 |TELEPHONE SLIDE #5 BASE 15|EA $0.31 $4.58

526|PW1A147K105A |599900BE02151 |[TRANSDUCER:BULB 2|EA $0.00 $0.00
STAPLE:TACKER MEDIUM DUTY,3/8" X 1/2" CROWN LG,GGG-

527|PW1A153A086A |531500K049623 |T-20 18|BX $2.69 $48.49

528|PW1A153B089A |5355004389456 |DIAL.:POTENTIOMETER SCALE,0.25" SHAFT DIA X 1" OD 26|EA $11.00 $286.00
CROSS,TUBE:1-1/2",1-7/8"-12 UN MALE 37 DEG

529|PW1A153B095A |4730010856579 |FLARE,PASSIVATED CRES 316 SS,QQ-S-763 CONDITION A 2|EA $0.00 $0.00
SPATULA:.LABORATORY,10" WD, 1-1/2" BLADE LG, 14-3/4"

530|PW1A153D096A |6640002648286 |LG,CRES STEEL,NNN-S-1356 TYPE 2 2|EA $17.50 $35.00
GRIP,CABLE:PULLING,3/4™-1" DIA CABLE,1200 LB MIN

531|PW1A153F072A |5120003949107 |BREAKING STRENGTH,WOVEN TIN COATED BRZ 8|EA $26.58 $212.64

33 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

CONNECTOR,COMMUNICATION:MODULAR TELEPHONE

532|PW1A153G088C |593500K049706 |PLUG,6 COND,250V 2A 341|EA $0.35 $119.35
HOSE:NON-METALLIC,0.39" ID X 0.745" OD X 240" LG,6000
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,-65 TO 400

533|PW1A153K080A |472000K058929 |DEG F 2|EA $263.84 $527.68

534|PWI1A153L073B  |664000K049524 |PIPET.-TRANSFER,PE 2|BX $17.30 $34.60
CONNECTOR,COMMUNICATION:REAR RELEASE STRAIGHT

535|PW1A153M061A |5935004155402 |CRIMP PLUG,MIL-C-26482 241|EA $16.68] $4,020.84
CYLINDER,GRADUATED:50000MM,1 MM GRDTNS,GLASS,DD-

536|PW1A155B104A |6640004199000 |G-541 TYPE 1 CL A STYLE C18,NNN-C-940 11|EA $4.17 $45.91

537[PWIA155D106A |6220012986538 |LIGHT.ROTATING BEACON WARNING,120VAC,25W,RED 1|EA $118.40 $118.40
CABINET.ELECTRICAL EQUIPMENT,20.562" WD X 8.812" HT X

538|PW1A268G094A |5975011411437 |21.437" DP,EXTRUDED ALUM 1/EA $246.77 $246.77
MATERIAL.SHEET,UNEXPLODED SYNTHETIC CELLULAR

539|PW1A268J066A  |533000K042393 |BLACK RUBBER,42" WD X 45" LG X 1" THK 2|SH $106.80 $213.60

540|PW1A274G083A |731000K060245 |DISPENSER:LABEL 1|EA $49.95 $49.95
BAG:HEAVY DUTY HARDWARE,6-1/4" FACE WD X 3-3/4"
BOTTOM WD X 12-3/4" HT,8 LB NATURAL RECYCLED KRAFT

541|PW1A288F088A |8105004666665 |PAPER,UU-B-36,CID A-A-550 1|BE $22.00 $22.00
PAPER,PRINTER/COPIER:PERFORATED TABULATING
MACHINE,9-1/2" WD X 11" LG,15 LB RECYCLED COATED

542|PW1A296A088A |7530012836233 |FACE,WHITE 44|BX $0.00 $0.00
GLOVES:NON-STERILE REUSABLE,STRAIGHT FINGER
SURGEONS,8,10-1/2" LG,POWDERED LATEX NATURAL

543|PW1A296F093A |6515009128258 |RUBBER,ROLLED CUFF,MIL-G-36889 224|PR $0.33 $73.47
POWER SUPPLY:LINEAR,115-230VAC 47-63HZ INPUT,24/28

544|PW1A296R079A |613000K056490 [VDC OUTPUT,12A OUTPUT 2|EA $309.64 $619.28

545|PW1A316HO16A |6640010313139 |DISH:DISPOSABLE PETRI CULTURE,150MM X 15MM 1|BX $86.34 $86.34
PAPER,ROLL.CONTINUOUS FLAT FOLD CARBONLESS
TABULATING MACHINE,9-1/2" WD X 11" LG,WHITE,20 LB

546|PW1A316H020A |753000K049636 |CHEMICAL WOOD PULP 17/BX $0.00 $0.00
PAPER,PRINTER/COPIER:TABULATING MACHINE,12" WD X 8-

547|PW1A316H029A |7530012856470 [1/2" LG,18 LB RECYCLED CHEMICAL WOOD PULP,WHITE 13|BX $0.00 $0.00

34 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

GLOVES:SAFETY,9,14" LG,GRIP-SAF FINISHED CEMENT

548|PW1A316M0O80A |8415013162291 |DIPPED BUTYL RUBBER 7|PR $21.71 $151.97
GLOVES:NON-STERILE DISPOSABLE,FOOD
HANDLING,MEDIUM,WRIST LG,NO POWDER EMBOSSED

549|PW1A324E001A |841500K060246 |POLY,CLEAR 41{BX $7.06 $289.54
GLOVES:NON-STERILE DISPOSABLE,FOOD
HANDLING,LARGE,WRIST LG,NO POWDER EMBOSSED
POLY,CLEAR,MFG FOR CAGE CODE 33333

550|PW1A324E007A  |841500K060247 |FOODHANDLER,WESTBURY,NY 348|BX $4.68]  $1,628.64
PAPER,ROLL.CONTINUOUS FLAT FOLD TABULATING
MACHINE, 17" X 22" WHITE,40 LB 100% RECYCLED

551|PW1A330A025A |753000K052561 |CHEMICAL WOOD PULP 13|BX $0.00 $0.00
PAPER,PRINTER/COPIER:TABULATING MACHINE,9-1/2" WD

552|PW1A330A084A |753000K032980 |X 5-1/2" LG,20 LB RECYCLED CHEMICAL WOOD PULP,WHITE 16/BX $0.00 $0.00

553[PW1A330J053A |597500K900498 |SLIDE:CHASSIS 456|EA $26.18] $11,938.08
POWER SUPPLY:UNINTERRUPTIBLE,208VAC INPUT,208VAC

554|PW1A338J057A  |613000K859211 |OUTPUT 1|EA $2,055.14| $2,055.14
HOSE:NON-METALLIC,1/2" DIA X 20' MIN LG,6000 PSI,PTFE
INNER,BRAIDED PASSIVATED CRES STEEL WIRE

555|PW1A344H038A |472000K271563 |REINFORCEMENT OUTER 124|FT $9.94] $1,232.56
FILTER,AIR:AIR CONDITIONER ELEMENT, 14" WD X 14" LG X
1" THK,FIBERGLASS ELEMENT,FIBERBOARD HSG,F-F-310

556|PW1A344M053A |413000K036439 [TYPE 1 GR B 5|EA $2.85 $14.25
WIRE/CABLE,ELECTRICAL:SPECIAL PURPOSE,15 COND,24
AWG, TINNED COPPER,7/32 STR,PVC INSUL,ALUM
POLYESTER OVERALL SHIELD,24 AWG COMMON DRAIN

557|PW1A352E016B  |6145012724894 |WIRE,PVC JACKET OVERALL COVER,CHROME 140|FT $0.36 $50.40
WIRE/CABLE,ELECTRICAL:ROUND SPECIAL PURPOSE C6,9

558|PW1A352E024A |6145013086107 |COND,24 AWG,SHIELD,FOIL PLASTIC COVER 300|FT $0.37 $111.00
WIRE/CABLE,ELECTRICAL:POWER SO/SOW,4 COND, 16
AWG,COPPER,STR,600V @ 60 DEG C,RUBBER

559|PW1A358E001A |6145012912941 |INSUL,NEOPRENE JACKET COVER,J-C-580 184|FT $0.40 $73.60

35 of 56

As of 10/5/2006



Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

HOSE:NON-METALLIC,3/8" DIA X 15' MIN LG,6000 PSI,PTFE
INNER,BRAIDED PASSIVATED CRES STEEL WIRE

560|PW1A358E027B  |472000K271560 |REINFORCEMENT OUTER 78|FT $14.30] $1,115.40
WIRE/CABLE,ELECTRICAL:POWER LIMITED PLENUM,4

561|PW1A358E029B  |614500K059153 |COND,18 AWG,SHIELDED COVER,1000' SPOOL 900|FT $0.22 $201.60
HOSE:NON-METALLIC,1/2" DIA X 20' MIN LG,3000 PSI,PTFE
INNER,BRAIDED PASSIVATED CRES STEEL WIRE

562|PW1A358E036A |472000K271562 |REINFORCEMENT OUTER 72[FT $17.56] $1,264.32
HOSE:NON-METALLIC,1/4" DIA X 20' MIN LG,3000 PSI,PTFE
INNER,BRAIDED PASSIVATED CRES STEEL WIRE

563|PW1A358E038B  |472000K271556 |REINFORCEMENT OUTER 110|FT $10.39]  $1,142.90
WIRE/CABLE,ELECTRICAL.THERMOCOUPLE,KX,2 COND, 20
AWG,CHROMEL ALUMEL,0.015" THK INSUL,0.035" THK

564|PW1A366E013A |614500K859175 |COVER 500|FT $0.36 $180.00
HOSE:NON-METALLIC,0.295" ID X 0.605" OD X 240" LG,6000
PSI,CARBON ADDITIVE SEAMLESS PTFE INNER,-65 TO 400

565|PW1A366M0O50A |472000K058927 |DEG F 3|EA $311.34 $934.02

566|PW1A366M089A |5140013860323 |BOX,TOOL:PORTABLE MOBILE TOP 1|EA $1,137.06] $1,137.06
PAPER,ROLL.CONTINUOUS FLAT FOLD TABULATING
MACHINE,9-1/2" WD X 11" LG,WHITE,RECYCLED CHEMICAL

567|PW1A374M025A |753000K029708 |WOOD PULP 3|BX $0.00 $0.00
NAPKIN:FACIAL QUALITY TABLE,17" X 17",3 PLY RIDGELINE
RECYCLED PAPER,WHITE,DINNER QUALITY,EACH PACK OF

568|PW1A382A038A |8540013975832 |250 MUST BE COMPLETELY WRAPPED g|cs $52.04 $416.34

569|PW1A388E029A |7350013728906 |TOOTHPICK:FRILLED 14|BX $11.01 $154.14

570|PW1A388MO15A |735000K053120 |BOWL:NAPPIES EATING,5-5/8" OAD,CHINA 11|CS $126.41] $1,390.51
PAN:346 OZ STEAM TABLE,12-13/16" WD X 20-3/4" LG X 3-3/8"

571|PW1A396A006A |7310013454874 |DP,ALUM 48|BX $34.51] $1,656.28
GLOVES:USDA APPROVED,FOOD HANDLING,LARGE,ELBOW

572|PW1A396A020A |841500K060252 |LG,PRE-POWDERED VINYL,FROSTED 113|BX $5.87 $663.54
GLOVES:USDA APPROVED,FOOD
HANDLING,MEDIUM,ELBOW LG,PRE-POWDERED

573|PW1A396A029A |841500K060251 |VINYL,FROSTED,DIRECT REPLACEMENT PART 29|cs $58.20| $1,687.80

36 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

574|PW1A396A038A |735000K061061 |CUP:HOT OR COLD FOOD,8 OZ,STYROFOAM 14|CS $23.77 $332.78

575|PW1A396E0L1A |733000K859014 |LINER:CAFETERIA SHEET PAN 16|CS $25.10 $401.60

576|PW1A396E015A |722000K060842 |MAT.GREASE PROOF & NON-SLIP FLOOR,3' X 5 1/2" 3|EA $108.70 $326.10

577[PWIA396E018A |735000K061231 |LID:CUP,DIRECT REPLACEMENT PART 1|CS $51.52 $51.52
APRON:HEAVY DUTY DISPOSABLE BIB,28" WD X 46" LG,PE

578|PW1A396E027A  |841500K060067 |RESIN,WHITE 6|BX $31.20 $187.20
PAN:4 QT STEAM TABLE,2-1/2" DP,C RES STEEL,*** DIRECT
REPLACEMENT PART,FITS OPENING 19"L (UP TO 20-3/4") X 6

579|PW1A396E031A |7310011071140 [1/2"W X 2-1/2"D,HALF LONG SIZE 42|EA $26.05  $1,094.10

580|PW1A396E035A |7340007535565 |STICK:BEVERAGE STIRRING,5-1/2" LG,WOOD,LLL-S-720 28[BX $2.57 $72.04

581|PW1A396E038A |735000K058118 |TOOTHPICK:DOUBLE POINTED ROUND,HARDWOOD 10[BX $18.11 $181.07
TRAY:SERVICE, 14" WD X 18" LG,SEAFOAM GREEN

582|PW1A396E041A |7350007890095 |FIBERGLASS 2|Dz $67.21 $134.42
DISPENSER:SALT SHAKER,2 OZ CAPACITY,GLASS

583|PW1A396E042A |7350006802630 |BODY,CRES STEEL CAP,DD-T-101 TYPE 1 46|EA $0.68 $31.28
LID:PAN,OBLONG, 15 OZ,ALUMINUM,1000/CASE; U/O PAN S/N

584|PW1A396E044A |735000K061362 |735000K061361,MFG DOUGLAS STEPHEN P/N LD23 5|cs $19.25 $96.25

585|PW1A396H020A |735000K056486 |PAPER:PATTY,5-1/2" X 5-1/2" 8|BX $66.31 $530.48

586|PW1A396H029A |7330013752190 |FILTER:SHORTENING CONE 3|BX $5.50 $16.50
CUP:AMERICAN COMMERCIAL ARCTIC BOUILLON,7-1/2

587|PW1A396H037A |735000K059245 |0Z,VITRIFIED NON-POROUS WHITE CHINA 1|BX $43.95 $43.95

588[PW1A396M020A |651500K047928 |CAP:SURGEONS, TYVEK 5|BX $130.00 $650.00

589|PW1A396R020A |7350006416050 |DISPENSER:SUGAR,12 OZ CAPACITY,GLASS,CID A-A-1060 100|EA $1.24 $123.50
FORK:PICNIC,WHITE PLASTIC,L-F-560 TYPE 3,DIRECT

590|PW1A402A001A |7340013795524 |REPLACEMENT PART 130|MX $33.14]  $4,308.25
LID:SNAP ON HIGH DOME DISH,9" PLATE,HEAVY CLEAR

591|PW1A402A038A |735000K060113 |PLASTIC 10/BX $48.53 $485.30
COVER:STEAM TABLE PAN,12-7/8" WD X 20-13/16" LG X 5/8"

592|PW1A402A044A |7310013454821 |DP,ALUM,PART NUMBER 1120-45 IS PACTIVE CORP 29|BX $17.29 $501.38
NIPPLE:CONDIMENT DISPENSER,SILICON,RUBBER,&

593|PW1A402E015A |735000K060138 |PLASTIC 2|BX $672.00]  $1,344.00
POT.DECAF COFFEE/TEA AIR,2.5 L,AIR PUMPER
TOP,SS,0RANGE BUTTON ON TOP PUMPER INDICATED

594|PW1A402F001A |733000K859019 |DECAF 2|Dz $542.00]  $1,084.00

37 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
595|PW1A402F011A |7210013557558 |CLOTH:TABLE,54" X 100",3 PLY WHITE POLY LINED PAPER 76|BX $25.14] $1,910.31
APRON:REVERSIBLE WRAP AROUND FOOD HANDLER,35"
WD X 45" LG X 7.5 MIL THK,VINYL,WHITE,DIRECT
REPLACEMENT PART,DIE CUT; NO FOLDS; NO SEAMS; SEMI
596|PW1A402F017A  |841500K060280 |OPAQUE 24|EA $2.96 $71.04
LID:SNAP ON DOME DISH,16-5/16",16" SERVING
597|PW1A402F025A  |735000K059972 |[TRAY,CLEAR PLASTIC 3|BX $25.51 $76.52
CLOTH:TABLE COVER,54" X 108",SUN COLOR 3 PLY POLY
598|PW1A402F029A  |721000K059920 |LINED PAPER 2|BX $37.74 $75.48
599|PW1A402F035A |735000K059974 |DISH:FRENCH TAPESTRY FOOD SERVING,12",ALUM 1/BX $37.04 $37.04
LID:SNAP ON DOME DISH,12-1/2",12" SERVING TRAY,CLEAR
600|PW1A402F036A |735000K059973 |PLASTIC 3|BX $28.40 $85.20
601|PW1A402F038A |735000K061064 |LID:SQUAT,8 OZ CUP,CLEAR PLASTIC 5|CS $16.76 $83.81
602|PW1A402F043A |7350013586755 |CONTAINER:DISPOSABLE FOOD,CLEAR PLASTIC 6|BX $72.78 $436.68
MATERIAL.ALL PURPOSE SELF SEALING FILM,ODORLESS
NON-TOXIC COLORLESS PVC,18"(PORM 1") WD X 2000'LG X
603|PW1A410A001A |813500K041383 [1/2 MIL THK 79[RO $11.87 $937.97
FOIL:HOUSEHOLD, 18" WD X 475' LG X 0.001" THK,DRY
604|PW1A410A011A |8135007240551 |ANNEALED ALUM,MIL-A-148 TYPE 1 39|RO $27.28] $1,063.88
605|PW1A410A020A |7340013820538 |SPOON:TEA,WHITE PLASTIC,DIRECT REPLACEMENT PART 62[Mx $32.95]  $2,042.70
TRAY:SANDWICH WEDGE DISPOSABLE MESS,OPAQUE
PLASTIC,PART NO. C101-OPQ IS SYCAMORE SALES MFG
606|PW1A410F001A |7350011054982 |CO 7|BX $38.74 $271.18
CUP:CREAM,DRESSINGS & PILLS SOUFFLE, 1
607|PW1A410F011A |7350002900580 |0OZ,PLASTIC,SOLE SOURCE,USES LID 7350-00-K06-1231 2|BX $41.71 $83.42
608|PW1A410F020A |7350000677515 |TUBE:DRINKING,0.156" ID X 7.75" LG,PLASTIC,CID A-A-1052 68[BX $1.38 $94.01
609|PW1A410F029A |735000K060112 |LID:TIGHT FIT LOW DOME DISH,5 OZ BOWL,CLEAR PLASTIC 14|BX $46.98 $657.72
610|PWIA410F039A |7330013749766 |CONTAINER:FRENCH FRY,6 OZ 5/BX $11.15 $55.75
611|PW1A416A011A |7350013396900 |LID:SQUAT,CUP,STYROFOAM,DIRECT REPLACEMENT PART 10/BX $12.46 $124.58
612|PWIA416A015A |7340013798840 |KNIFE, PICNIC 80[MX $32.96] $2,636.82

38 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
CONTAINER:HINGED TRAY,9" X 9-1/2" X 2-7/8",CLEAR
613|PW1A416A029A |735000K061066 |PLASTIC 1/cs $47.02 $47.02
614|PWIA416A034A |733000K859013 |BUCKET.CAFETERIA ICE,165 OZ 5|CS $99.76 $498.79
LID:SNAP ON HIGH DOME DISH,12 OZ BOWL,6"
615|PW1A416A038A |735000K059999 |PLATE,HEAVY CLEAR PLASTIC 10/BX $50.22 $502.20
POT:REGULAR COFFEE/TEA AIR,2.5 L,PUMPER STYLE
616|PW1A416E001A |733000K859018 |POT,SS,BLACK PUMPER TOP INDICATES CAFFINE COFFEE 2|Dz $504.00]  $1,008.00
617|[PWIA416F011A |733000K859015 |BAG:HOT DOG,KING SIZE,FOIL 6|CS $56.01 $336.04
618[PW1A416F014A |735000K061229 |CUP:BAKERY,DIRECT REPLACEMENT PART 2|BX $61.86 $123.72
619|PWIA416F020A |735000K060001 |BOWL.EATING,12 OZ,WHITE LAMINATED STYROFOAM 7|BX $72.33 $506.31
620[PWIA416F029A |7350014139628 |TRAY:LAZY SUSAN SERVING,16",DECORATED ALUM 2|BX $54.99 $109.98
621|PWIA416F034A |7350013677375 |CONTAINER:DISPOSABLE FOOD,OPAQUE PLASTIC 7|BX $121.27 $848.90
622|PW1A416F038A |7350011482443 |BOWL.EATING,5 OZ,WHITE PLASTIC 10|BX $34.98 $349.80
BOWL.EATING,32 OZ,CLEAR PLASTIC,300/CASE; STOCK
623|PW1A416F043A |735000K061360 |[NUMBER FOR LID: 735000K061359 13|Ccs $73.85 $960.06
LID:SNAP ON DOME DISH,32 OZ BOWL,CLEAR
PLASTIC,600/CASE; DOME LID FOR 32 OZ. BOWL S/N
624|PW1A416F046A |735000K061359 |735000K061360 3|cs $110.06 $330.18
CARTRIDGE,RESPIRATOR:DUST,MIST,FUMES, ASBESTOS
625|PW1A416R053A |4240013492704 |DUST,RADIONUCLIDES & DOP 36|BX $394.56] $14,204.16
TRAY:SANDWICH DISPOSABLE MESS,WHITE
626|PW1A424A060A |7350014139304 |STYROFOAM,DIRECT REPLACEMENT PART 42|BX $20.00 $840.05
CUP:ROUND DISPOSABLE,9 OZ,TAN/SAND PAPER,CID A-A-
627|PW1A424A070A |7350014115265 |2577 TYPE 1 CL 3 7|BX $76.98 $538.83
628[PW1A424A080A |735000K061065 |CONTAINER:HINGED TRAY,6",CLEAR PLASTIC 16|CS $40.90 $654.40
629|PW1A424E094A |731000K859024 |SCALE,WEIGH:FOOD,100 LB CAPACITY,4 OZ GRDTNS 5|EA $183.55 $917.73
LID:HOT OR COLD DISPOSABLE SIP,8 OZ
630|PW1A424F060A |735000K059898 |CUP,TRANSLUCENT 2|BX $35.53 $71.06
631[PW1A424F066A |735000K061063 |CUP:BEVERAGE,7 OZ,CLEAR PLASTIC 16|CS $50.48 $807.67
LID:HOT OR COLD DISPOSABLE SIP/STRAW,12/16 OZ
632|PW1A424F070A |735000K059899 |CUP,TRANSLUCENT 9|BX $43.42 $390.78
633[PW1A424F080A |733000K060843 |BAG:ICE TOTE,6 GAL 5|EA $60.53 $302.65
FOIL.BARRIER,12" WD X 23.75' LG X 0.003" THK,ALUM,QQ-A-
634|PW1A424M0O51A |9535006846426 [1876 TYPE 1 GR B 9|RO $5.53 $49.77
39 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

635|PW1A424M0OB0A |735000K059895 |CUP:DISPOSABLE TROPHY XL JAZZ,8 OZ,INSULATED FOAM 27|BX $29.31 $791.42
CUP:HOT OR COLD FOOD,12 OZ,STYROFOAM,DIRECT

636|PW1A430A001A |7350013398368 |REPLACEMENT PART 19|BX $14.24 $270.50
PAN:120 OZ STEAM TABLE,10-3/8" WD X 12-3/4" LG X 2-9/16"

637|PW1A430A011A |7310013454873 |DP,ALUM 21[BX $22.86 $480.09

638[PW1A430A025A |735000K059998 |PLATE:EATING,6",WHITE LAMINATED STYROFOAM 20[BX $64.71] $1,294.23
CUP:DISPOSABLE J-STYLE,12 OZ,INSULATED FOAM,SOLE

639|PW1A430F001A |735000K059896 |SOURCE,J-STYLE BAND,IMPULSE DESIGN 51{BX $27.30| $1,392.51
PAN:OBLONG,15 OZ,ALUM,DIRECT REPLACEMENT

640|PW1A430F020A |735000K061361 |PART,1000/CASE,MFG PACTIV 5|cs $46.32 $231.58
CUP:DISPOSABLE J-BAND,16 OZ,INSULATED FOAM,SOLE

641|PW1A430M0O01A |735000K059897 |SOURCE,J-STYLE BAND,IMPULSE DESIGN 38[BX $34.40| $1,307.17
NAPKIN:LUXRI FOLD TABLE,17" WD X 13" LG,RECYCLED

642|PW1A436A001A |8540013501822 |PAPER,DIRECT REPLACEMENT PART 5/BX $29.42 $147.10
NAPKIN:DISPENSER,8.5 IN X 13 IN,PAPER,WHITE,DIRECT
REPLACEMENT PART,SCA MFR;1/4 FOLD; INTERFOLDED;
EXPRESS NAPKIN; FOR DISP 30XPS,STAND; 31XPC

643|PW1A436A001A |854000K859650 |COUNTER TOP; 30XPIC-INCOUNTER;12 PK OF 500 PER CS 57|cs $37.12| $2,115.85
LID:HOT OR COLD DISPOSABLE SIP/STRAW,12,16,24
0Z,FROSTED PLASTIC,FITS OUTSIDE OF CUP,SOLE

644|PW1A436A025A |735000K061387 |SOURCE 81|BX $12.80] $1,036.53
PLATE.EATING,9",PLASTIC,POLYSTYRENE
FOAM,LAMINATED:; DISPOSABLE; 500/CASE,WHITE; DELUXE

645|PW1A436F001A |735000K061358 |DINNER PLATE 82|cs $20.22| $1,658.39
CONTAINER:HINGED TRAY TAKEOUT,9" X 9" X 3-1/2",RIGID

646|PW1A436M0O01A |735000K059548 |WHITE FOAM,DIRECT REPLACEMENT PART 286|BX $17.10| $4,891.34
CUP:DISPOSABLE J-BAND,24 OZ,POLYSTYRENE
FOAM,SOLE SOURCE,J-BAND AROUND TOP OF CUP;

647|PW1A436M0O11A |735000K061386 |IMPULSE DESIGN; HOT OR COLD LIQUID,500 PER BOX 42|BX $25.34] $1,064.47
RESISTOR,FIXED:CARBON,RCRO05,5.1K OHM,1/8W @ 70 DEG

648|PW1C001D032A |5905006891290 |C,2 WIRE LEAD,MIL-R-39008 81|EA $1.32 $106.92
PACKING:PREFORMED,PTFE,6.5" ID X 6.75" OD X 0.297"

649|PW1C001F024A |533000K032281 |AXIAL THK X 0.125" RADIAL WALL 3|EA $23.03 $69.09

650|PW1C001IH027A |7510014414518 |INK:PRINTER,YELLOW,CARTRIDGE 11|EA $6.72 $73.92

40 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

651|PW1C001HO30A |7510014414515 |INK:PRINTER,MAGENTA,CARTRIDGE 7|EA $6.77 $47.41

652|PW1C001J027A  |751000K060546 |INK:PRINTER,BLACK,CARTRIDGE 4|EA $10.76 $43.03
RESISTOR,FIXED:CARBON,RCR07,200K OHM,1/4W @ 70
DEG C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-

653|PW1C001J050A  |5905001367103 [39008 QPL 1|EA $0.09 $0.09
RESISTOR,FIXED:CARBON,RCRO07,10K OHM,1/4W @ 70 DEG
C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-39008

654|PW1C001J080A 5905001063666 |QPL 104{EA $0.10 $10.61

655|PW1C001K027A |7510014414516 |INK:PRINTER,CYAN,CARTRIDGE 7|EA $6.77 $47.41
RESISTOR,VARIABLE:WIREWOUND NON-
PRECISION,SC1182,200 OHM,3W @ 25 DEG C,2 WIRE

656|PW1C003F052A 5905010060838 |LOOP,5% TOLERANCE 6|EA $69.56 $417.33
RESISTOR,VARIABLE:ADJUSTABLE SLIDE, 10 OHM,25W @ 40

657|PW1C003G047A |5905002578471 |DEG C,2 RADIAL TAB,10% TOLERANCE 8|EA $3.32 $26.56
TAPE.LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"
WD X 500" LG,OIL/ACID RESISTANT &

658|PW1C004A062A |7510013744142 |WATERPROOF,YELLOW 13[RO $2.43 $31.55
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"

659|PW1C004B041A |7510013744141 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,WHITE 3RO $2.47 $7.41

660|PW1C004B061A |5962011127068 |CIRCUIT,INTEGRATED:LINEAR, TIMER,LM555J 8|EA $5.42 $43.36
TAPE:PHOTOGRAPHIC & DIRECT VISUAL COMMUNICATION
ILLUSTRATION,1/8" WD X 324" LG,NON-REFLECTIVE MATTE

661|PW1C004E043A |7510009124982 |ACETATE FIBER BACKING,0PAQUE RED 5|RO $1.22 $6.10
RESISTOR,FIXED:CARBON,RCR05,47K OHM,1/8W @ 70 DEG

662|PW1C004E063A |5905006175093 |C,2 WIRE LEAD,MIL-R-39008 1509|EA $0.13 $196.17
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1"

663|PW1C0O04E084A |7510013744149 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,PINK 5|RO $3.33 $16.65
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"

664|PW1C004F085A |7510013744147 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,BLUE 5|RO $2.23 $11.15
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"

665|PW1C004G043A |7510013744145 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,RED 4RO $1.98 $7.92

41 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

CIRCUIT,INTEGRATED:LINEAR,SINGLE

666|PW1C004G067A |5962011027879 |AMPLIFIER,MC/LH0063/883 6|EA $102.07 $612.43

667|[PW1C004G08IA |751000K060086 |TAPE,EMBOSSING:1" WD X 40' LG,BLACK ON WHITE 2|RO $39.95 $79.90
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1"
WD X 500" LG,OIL/ACID RESISTANT &

668|PW1C004G086A |7510013744154 |WATERPROOF,ORANGE 22|RO $3.54 $77.81

669|PW1C004H084A |751000K060085 |TAPE,EMBOSSING:1" WD X 40' LG,BLACK ON YELLOW 2|RO $39.95 $79.90

670|PW1C004J042A  |7510012074078 |TAPE,EMBOSSING:3/4" WD X 288" LG,0PAQUE RED 1|RO $7.59 $7.59
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1"
WD X 500" LG,OIL/ACID RESISTANT &

671|PW1C004L042A |7510013744148 |WATERPROOF,YELLOW 11RO $3.64 $40.04
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"

672|PW1C004NO66A 7510013744143 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,GREEN 1|RO $31.65 $31.65
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"

673|PW1C004N0O67A |7510013744144 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,PINK 6|RO $1.98 $11.88
TAPE.LABORATORY UTENSIL COLOR CODE,1" CORE X 1"

674|PW1C004NO68A |7510013744151 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,RED 19|RO $3.78 $71.82
TAPE:LABORATORY UTENSIL COLOR CODE,1" CORE X 1"

675|PW1C004NO81A |7510013744152 |WD X 500" LG,OIL/ACID RESISTANT & WATERPROOF,WHITE 3RO $3.90 $11.69
TAPE.LABORATORY UTENSIL COLOR CODE,1" CORE X 1/2"
WD X 500" LG,OIL/ACID RESISTANT &

676|PW1C004NOS3A |7510013744146 |WATERPROOF,ORANGE 7|rRO $1.98 $13.86

677|PW1C005A042A |7530013490391 |LABEL:1-1/8" X 3-1/2" WHITE,PERMANENT ADHESIVE BACK 4|BX $17.45 $69.80

678|PW1C005B105A |7510013580768 |INK:PRINTER,CYAN 4|BX $72.60 $290.40
FILM, TRANSPARENCY:WAX,BLACK,CYAN,MAGENTA,YELLO

679|PW1C005D093A |7510012959274 |W 3RO $147.51 $442.54
FILM,TRANSPARENCY:CLEAR,8-1/2" WD X 11" LG,USED FOR

680|PW1C005D096A |7530013236481 |THERMOGRAPHIC PROCESSING, TRANSPARENT SHEET 1/BX $51.20 $51.20
MATERIAL.LAMINATING SHEET,3 PART COPOLYMER,2 PART

681|PW1C005D099A |933000K060121 |CLEAR POLYESTER,40"WD X 250'LG 1|RO $108.29 $108.29

42 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

KIT:REPLACEMENT,COLOR LASERWRITER

682|PW1C005D111A |672000K059719 |[PHOTOCONDUCTOR CARTRIDGE,APPLE LASERWRITER 1|KT $123.00 $123.00
PAPER,PRINTER/COPIER:DIRECT ELECTROSTATIC

683|PW1CO05E110A |7530013829924 |PROCESSING,8-1/2" WD X 14" LG,WHITE 2|PG $179.00 $358.00

684|PW1CO05E112A |7510013983863 |TONER:PRE-MIXED PRINTER,BLACK 4|EA $215.00 $860.00

685|PW1C005F070A |5962010495245 |CIRCUIT,INTEGRATED:LINEAR,5V VOLTAGE REGULATOR 7|EA $1.85 $12.95
CIRCUIT,INTEGRATED:DIGITAL,SINGLE BCD TO DECIMAL

686|PW1C0O05F077A |5962011147309 |DECODER,SNJ54LS145] 5|EA $3.46 $17.30

687[PW1C0O05F095A |7530013623874 |FILM,TRANSPARENCY:CLEAR 19|PG $118.00] $2,242.00
RESISTOR,FIXED:CARBON,RCRO07,510K OHM,1/4W @ 70
DEG C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-

688|PW1C005G065A |5905002468690 [39008 QPL 5|EA $0.14 $0.70
LABEL:SCOTCHCAL FILM,2" X 2",BLACK,PRESSURE

689|PW1C005G076A |753000K054721 |SENSITIVE ADHESIVE SCREENED ALUM 1|PG $16.00 $16.00
CIRCUIT,INTEGRATED:DIGITAL,QUAD OPERATIONAL

690|PW1C0O05H069A |5962011648741 |AMPLIFIER,RM3503ADC/883B 6|EA $15.63 $93.78
LABEL:SCOTCHCAL FILM,2" X 2",BLACK,PRESSURE

691|PW1C005H071A |7690013186915 |SENSITIVE ADHESIVE SCREENED ALUM 6|PG $66.92 $401.52
LABEL:SCOTCHCAL FILM,0.7" X 0.55",BLACK,PRESSURE

692|PW1C005H073A |7690013195402 |SENSITIVE ADHESIVE SCREENED ALUM 2|PG $33.90 $67.81
LABEL:SCOTCHCAL FILM,0.75" X 1",BLACK,PRESSURE

693|PW1C005H075A |753000K054729 |SENSITIVE ADHESIVE SCREENED ALUM 3|PG $16.00 $48.00
DIODE,SEMICONDUCTOR:SILICON REFERENCE,10W,12V,5%

694|PW1C005K039A |5961008552321 |TOLERANCE,1N1893,200 DEG C 1|EA $1.97 $1.97
DIODE,SEMICONDUCTOR:HERMETICALLY

695|PW1C005K065B  |596100K052573 |SEALED,50VDC,1A,1N4001,175 DEG C 105|EA $0.06 $6.30

696|PW1C005MO035A |591000K850210 |CAPACITOR:FIXED,PAPER CONDENSER DIELECTRIC 6|EA $6.90 $41.40

697[PW1C0O05MO037A |663000K853434 |SET.PRINTER PEN 1|PG $45.00 $45.00
CIRCUIT,INTEGRATED:DIGITAL,QUAD AND/OR

698|PW1C0O05N038A 5962012862252 |GATE,M38510/05352BEB 1|EA $11.64 $11.64
CAPACITOR:FIXED,22 MF,35VDC,POLARIZED ALUM
ELECTRODE ELECTROLYTIC,-10/50% TOLERANCE,0.315"

699|PW1CO05R006A |5910011427759 |DIA X 0.315" HT,UNINSULATED LEAD 4|EA $0.45 $1.80
MARKER,WRITING:QUICK DRYING INK,BLUE,FINE TIP,FIBER

700|PW1C005R043A |7520013740906 |TIP 1|BX $15.00 $15.00

43 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

701|PW1C167A038A |753000K060197 [1/2" WD X 101' LG,GLOSSY 1|RO $60.59 $60.59
PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

702|PW1C167A038A |753000K060197 [1/2" WD X 101' LG,GLOSSY 3RO $60.59 $181.78
CIRCUIT,INTEGRATED:OPTOELECTRONIC

703|PW1C167C001A |5980010249326 |COUPLER,INVERTING OPTICALLY COUPLED GATE,8 PIN DIP 24|EA $2.35 $56.40
PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

704|PW1C167C023A |7530014241701 |4/5" WD X 170' LG 3RO $248.66 $745.98
PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

705|PW1C167C023A |7530014241701 |4/5" WD X 170' LG 3|RO $248.66 $745.98
PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

706|PW1C167C023A |7530014241701 |4/5" WD X 170' LG 3RO $248.66 $745.98

707[PW1C167C035A |751000K060124 |TONER:PRE-MIXED PHASER PRINTER,CYAN,CARTRIDGE 4|EA $229.17 $916.67

708[PW1C167D012A |751000K060298 |RIBBON:PRINTER CARTRIDGE,NYLON,4 COLOR 9|EA $11.67 $104.99

709|PWIC167F010A |6750013549544 |FILM,PHOTO:COLOR,PRINT,100 EXPOSURE 7|BX $106.00 $742.00

710[PW1C175A028A |8970001491094 |FOODSTUFF:INDIVIDUAL MEAL,12/CASE,MIL-M-44074B 768|EA $7.25] $5,566.69

711[PWI1C175A028A |8970001491094 |FOODSTUFF:INDIVIDUAL MEAL,12/CASE ,MIL-M-44074B 360|EA $7.25] $2,609.39
TAPE,RECORDING,MAGNETIC:ELECTRONIC DATA

712|PW1C175E019A |704500K058533 |PROCESSING,1/2" WD X 2400' LG X 10.5" REEL,W-T-0051C 30[RL $10.50 $315.00
KIT:MAINTENANCE,OPC IMAGE DRUM & CLEANING

713|PW1C175E041A |685000K054847 |CARTRIDGE,PRINTER OPC UNIT 2|KT $137.59 $275.18

714|PWIC181A015A |7510014531974 |TONER:PRE-MIXED PRINTER,BLACK,CARTRIDGE 1|EA $99.99 $99.99

715|PWIC181A039A |5836013704621 |DISK,MAGNETIC:FLOPPY 216|PG $5.20] $1,123.20

716|PWIC181EO44A |685000K060536 |FUSER:PRINTER 1|EA $208.50 $208.50
KIT:MAINTENANCE,OPC IMAGE DRUM & CLEANING

717|PW1C181E047A |751000K060534 |CARTRIDGE,PRINTER 3|EA $132.75 $398.25
MATERIAL.SHEET,MATTE FINISH SELF-ADHERING
COLORLESS CELLULOSE ACETATE,20" WD X 26" LG X 0.005"

718|PW1C181L021A |9330004042650 |THK,L-P-528 TYPE 1 CL 2 30[sH $0.99 $29.70

719|PW1C189A011A |7025013671034 |CARTRIDGE,FONT.PRINTER 3|EA $275.00 $825.00
TAPE,RECORDING,MAGNETIC:VIDEO CASSETTE BETA,20

720|PW1C189A045A |583600K288474 |MINUTE 80[EA $9.85 $788.00

721[PWIC189E026A |7530012678581 |PAPER,PRINTER/COPIER:PLOTTER,8-1/2" WD X 11" LG 40|PG $8.10 $324.04

44 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
MODEM:ASYNCHRONOUS SHORT HAUL LINE DRIVER
722|PW1C189E045A |589500K054073 |STAND ALONE,0-19.2K BPS BAUD 3|EA $158.00 $474.00
TONER:LASER PRINTER DIRECT ELECTROSTATIC
723|PW1C189E048A |6850013755682 |PROCESSING,CARTRIDGE 3|EA $231.95 $695.85
TAPE:6" WD X 60 YD LG,CLOTH BACKING,OLIVE (34087),PPP-
724|PW1C195A030A |7510008909876 |T-60 TYPE IV CL 1 8|RO $29.77 $238.16
TONER:REMANUFACTURED PREMIXED
725|PW1C195E023A |751000K060524 |PRINTER,BLACK,CARTRIDGE 6|EA $44.99 $269.94
TAPE,RECORDING,MAGNETIC:DICTAPHONE LOGGING,3600'
726|PW1C195L019A |5835012280178 |LG 10|RL $60.59 $605.90
KIT:MAINTENANCE,OPC CARTRIDGE,SHIELD
GLASS,CHARGE CORONA, TRANSFER CORONA & OZONE
727|PW1C195L034A |7035012537253 |FILTER,PRINTER 13|BX $131.47| $1,709.15
TAPE:3" CORE X 6" WD X 18 OR 72 YD LG X 0.003"
THK,PLASTIC,CLEAR,L-T-90 TYPE 2 CL A,CID A-A-113 TYPE 1
728|PW1C203C030A |751000K042888 |CL A 14|RO $14.98 $209.72
TAPE:2" WD X 60" YD,CLOTH BACKING,US ARMY OLIVE
729|PW1C203E020A |7510002665016 |DRAB (34087),PPP-T-60 TYPE IV CL 1,CID A-A-1586 2|RO $7.49 $14.98
730[PW1C203E027A |685000K059320 |DRUM:MICROWRITER IMAGING 8|EA $152.54] $1,220.31
731[PWI1C203E030A |7530014241698 |FILM,TRANSPARENCY:8-1/2" X 101' 2|RO $178.63 $357.25
TONER:LASER PRINTER INDIRECT ELECTROSTATIC
732|PW1C203E040A |6850013479571 |PROCESSING,BLACK 26|EA $17.31 $450.09
733[PW1C203E048A |6850012625404 |TONER:DIRECT ELECTROSTATIC PROCESSING 10/BX $80.77 $807.68
734|PWI1C203G012A |6850013729478 |DRUM:MICROLASER OPC CARTRIDGE 1|EA $145.06 $145.06
LABEL:DISSOLVEABLE,2-1/2" X 2-1/2", MONDAY,REPLACES
731000K060240; 125 LABELS/ROLL;LOCAL SOURCE-
DISSOLVEAWAY.COM,DISSOLVEABLE DAY OF THE WEEK
735|PW1C203G018A |731000K061247 |LABELS 8|EA $6.12 $48.96
TAPE:MEDIUM SEALING,2" WD X 36 YD LG X 0.006"
736|PW1C203G019A |7510000889684 |THK,VINYL,SILVER GRAY 2|RO $9.76 $19.52
45 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
LABEL:DISSOLVEABLE,2-1/2" X 2-1/2" TUESDAY,REPLACES
731000K060241; 125 LABELS/ROLL;LOCAL SOURCE-
DISSOLVEAWAY.COM,DISSOLVEABLE DAY OF THE WEEK
737|PW1C203G027A |731000K061248 |LABELS 16|EA $6.12 $97.92
LABEL:DISSOLVEABLE,2-1/2" X 2-
1/2" WEDNESDAY,REPLACES 731000K060242; 125
LABELS/ROLL;LOCAL SOURCE-
DISSOLVEAWAY.COM,DISSOLVEABLE DAY OF THE WEEK
738|PW1C203G039A |731000K061249 |LABELS 14|EA $6.12 $85.68
739|PW1C203G040A |3610013771279 |CARTRIDGE:PRINTER FUSER 2|EA $338.75 $677.50
LABEL:DISSOLVEABLE,2-1/2" X 2-1/2", THURSDAY,REPLACES
731000K060243; 125 LABELS/ROLL;LOCAL SOURCE-
DISSOLVEAWAY.COM,DISSOLVEABLE DAY OF THE WEEK
740|PW1C203G044A |731000K061250 |LABELS 18|EA $6.12 $110.16
741[PWI1C203G046A |5836010294285 |TAPE,RECORDING,MAGNETIC:VIDEO,1100' LG 20EA $11.87 $237.40
LABEL:DISSOLVEABLE,2-1/2" X 2-1/2",FRIDAY,REPLACES
731000K060244; 125 LABELS/ROLL;LOCAL SOURCE-
DISSOLVEAWAY.COM,DISSOLVEABLE DAY OF THE WEEK
742|PW1C203G049A |731000K061251 |LABELS 12|EA $6.12 $73.44
TAPE:DOUBLE SIDED,1-1/2" WD X 36 YD LG,BOTH SIDES
743|PW1C209C012A |7510010859544 |FILM BASE, TRANSPARENT,UU-T-91 TYPE I CL 1 9|RO $6.15 $55.34
744]PW1C209C038A |751000K060548 |RIBBON:PRINTER THERMAL TRANSFER,TRI-COLOR 3|EA $132.95 $398.86
745[PW1C209C039A |751000K060545 |TONER:PRE-MIXED PRINTER,BLACK 2|EA $19.21 $38.42
746|PW1C209C045A |751000MA13255 [TONER:PRE-MIXED PHASER PRINTER,YELLOW,CARTRIDGE 4|EA $230.00 $920.00
TONER:PRE-MIXED PHASER
747|PW1C209C047A |751000K060125 |PRINTER,MAGENTA,CARTRIDGE 3|EA $230.33 $691.00
KIT:REPLACEMENT,BLACK TONER,WASTE BOTTLE,WIPER
748|PW1C209E027A |751000K060533 |PAD,PRINTER 4|EA $33.73 $134.90
749[PW1C209E035A |751000K060518 |RIBBON:PRINTER RECYCLED CARTRIDGE,FABRIC,BLACK 3|EA $3.10 $9.30
750|PW1C209E045A |6850014451194 |KIT:COATING,ROLLERS,PRINTER 2|EA $36.50 $73.00
751[PW1C209E048A |7045014240805 |TONER:PHASER PRINTER,CYAN,CARTRIDGE 35[BX $83.00] $2,905.00

46 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

POWER SUPPLY:ISOLATED FLOATING OUTPUT,110VAC 1PH

752|PW1C209G021A |6130012419507 [50-400HZ INPUT,24VDC OUTPUT,2.5" WD X 4.75" LG X 4" HT 2|EA $88.16 $176.32

753[PW1C213A071A |7510012557033 |INK:PRINTER,BLACK 11|BX $12.81 $140.93

754|PW1C213A073A |7510012557032 |INK:PRINTER,CYAN 9|BX $13.31 $119.75

755|PW1C213A075A |7510012557035 |INK:PRINTER,MAGENTA 6|BX $11.75 $70.50

756|PW1C213A077A |7510012557034 |INK:PRINTER,YELLOW 4|BX $11.75 $47.00
SOCKET,ELECTRICAL.ELECTRONIC COMPONENT PLUG
IN,LOW PROFILE HIGH RETENTION DIP,24
CONTACT,PRINTED CIRCUIT,GOLD CONTACTS,0.5" WD X

757|PW1C213C063A |5935012516711 [1.2" LG 90[EA $1.53 $137.70
TAPE:1" CORE X 4" WD X 20' LG,MOISTURE RESISTANT

758|PW1C213F030A |7510000716854 |ALUM FOIL 1|RO $52.28 $52.28
RESISTOR,VARIABLE:WIREWOUND PRECISION,200 OHM,5W

759|PW1C213F083A |5905000808646 |@ 40 DEG C,3 TAB SOLDER LUG,3% TOLERANCE 15|EA $28.08 $421.23

760[PW1C213J017A |769000K061230 |LABEL:160 DEG R-21 THERMAL 11|PG $24.70 $271.70

761[PW1C213M052A |7510013580768 |INK:PRINTER,MAGENTA 2|BX $70.50 $141.00

762[PW1C213M077A |6850012576510 | TONER:MAINTENANCE,CARTRIDGE 2|EA $31.82 $63.64
PEN,INSTRUMENT:RECORDER,BLACK,0.7MM WD NIB,FIBER

763|PW1C213Q015A |7520011348189 |TIP 2|PG $7.25 $14.50
TONER:FACSIMILE MACHINE INDIRECT ELECTROSTATIC

764|PW1C213T028A |6850013613619 |PROCESSING,5.2 LB CARTRIDGE 1|EA $211.00 $211.00

765|PW1C215A011A |7510014261901 |TONER:JET PRINTER,BLACK,CARTRIDGE 2|EA $27.63 $55.26
DISK,MAGNETIC:DATA STORAGE BACKUP CARTRIDGE,3-

766|PW1C215E025A |704500K059671 [1/2",135 MEGABYTE CAPACITY 15|EA $16.97 $254.49
RIBBON:PRINTER CARTRIDGE,0.5" WD X 15 YD LG X 4 MIL

767|PW1C215E029A |7510013062714 |THK,RED,BLUE,BLACK,YELLOW 10|EA $17.44 $174.40

768[PW1C215G005A |7510013580767 |INK:PHASER PRINTER,BLACK 1/BX $119.50 $119.50
TAPE:MULTIPLE DISPENSER LABORATORY UTENSIL
MARKING,1" CORE X 1" WD X 500" LG,OIL

769|PW1C215G011A |7510013744153 |RESISTANT/WATERPROOF/ACID RESISTANT,BLUE 15|RO $3.12 $46.82
RIBBON:DOT MATRIX PRINTER RECYCLED

770|PW1C215J027A  |751000K060520 |CARTRIDGE,FABRIC,BLACK 2|EA $2.95 $5.90

47 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
DISPLAY:INTEGRATED MODULE,5V,(16) 5 X 7 DOT 4 LINE
771|PW1C215J061A  |598000K059015 [CHAR READOUT 21|EA $51.95 $1,090.95
RESISTOR,FIXED:CARBON,RCR07,51 OHM,1/4W @ 70 DEG
C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-39008
772|PW1C217A007A |5905001061249 |QPL 28|EA $0.68 $18.96
MARKER:IDENTIFICATION,34-66 GOTHIC STYLE
LEGEND,1.5" LG,PRESSURE SENSITIVE ADHESIVE VINYL
773|PW1C217A091A |7690008426675 |CLOTH BACKED 765|EA $0.33 $248.63
774|PW1C217D009A |7510012862410 |RIBBON:PRINTER,CLOTH,RED,BLUE,BLACK,YELLOW 2|EA $10.64 $21.28
775|PW1C217E019A |751000K060516 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $61.00 $61.00
776|PW1C217E021A |751000K060514 |INK:PRINTER,CYAN,CARTRIDGE 1|EA $61.00 $61.00
777|[PWIC217E023A |751000K060512 |INK:PRINTER,TRI-COLOR,CARTRIDGE 3|EA $24.95 $74.85
778[PW1C217F015A |7510014458510 |INK:COLOR PRINTER,CARTRIDGE 4|EA $25.22 $100.86
779|PWI1C217F025A |751000K060515 |INK:PRINTER,YELLOW,CARTRIDGE 1|EA $61.00 $61.00
RESISTOR,FIXED:CARBON,RCR07,820 OHM,1/4W @ 70 DEG
C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-39008
780|PW1C217F027A |5905001198768 |QPL 36|EA $0.07 $2.52
CIRCUIT,INTEGRATED:DIGITAL,MONOSTABLE DUAL
781|PW1C217F039A |596200K291014 |MULTIVIBRATOR,M38510/01203,MIL-M-38510 53|EA $2.76 $146.33
782[PW1C217G019A |7510013808986 |RIBBON:PRINTER CARTRIDGE,FABRIC,BLACK 1|EA $6.58 $6.58
783[PW1C217G025A |5961010972191 |HOLDER:SEMICONDUCTOR MOUNTING GROMMET,BLACK 34|EA $0.83 $28.08
RESISTOR,FIXED:CARBON,RCR07,100 OHM,1/4W @ 70 DEG
C,2 AXIAL WIRE LEAD,PORM 5% TOLERANCE,MIL-R-39008
784|PW1C217G033A |5905001411183 |QPL 50[EA $0.15 $7.50
CIRCUIT,INTEGRATED:LINEAR,SINGLE 5V VOLTAGE
785|PW1C217G035A |5962003655977 |REGULATOR,3 TERMINAL 20[EA $0.83 $16.60
786|PW1C217G072A |751000K060541 |RIBBON:PRINTER,FABRIC 5|EA $6.95 $34.75
KIT:FILM,RIBBON & TRANSPARENCIES, THERMAL PRINTING
787|PW1C217G077A |7530013298785 |COLOR VIDEO PRINTER 2|BX $114.00 $228.00
788[PW1C217H027A |7510014227532 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $33.14 $33.14
789[PWI1C217J029A |7510014227533 |INK:PRINTER, TRI-COLOR,CARTRIDGE 1|EA $37.47 $37.47
790[PW1C217J039A |7510014283561 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $25.00 $25.00
791[PWI1C217K016A |751000K060511 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $24.95 $24.95
792[PW1C217K023A |5980010822486 |DIODE,LIGHT EMITTING:WIDE ANGLE,GREEN,HLMP-6500 10|EA $0.43 $4.30

48 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

793|PW1C217N048A |753000K058715 |LABEL:2-1/8" X 2-3/4" WHITE,PERMANENT ADHESIVE BACK 2|PG $10.04 $20.07

794|PWI1C217P013A |6850013481967 |TONER:PRINTER DIRECT ELECTROSTATIC PROCESSING 3|EA $145.00 $435.00

795[PW1C219A035A |751000K060537 |KIT:BLACK TONER,WASTE BOTTLE,WIPER PAD,PRINTER 10|EA $34.81 $348.09
DISK,MAGNETIC:FORMATTED,5-1/4",44 MEGABYTE

796|PW1C219C007A |7045013163815 |CAPACITY 42|EA $39.63| $1,664.54

797[PW1C219C017A |751000K060544 |RIBBON:PRINTER THERMAL TRANSFER,BLACK 1|EA $169.00 $169.00
LABEL:WEEK DAY COLOR CODED,4" X 2",REPLACED BY

798|PW1C219C031A |731000K060240 |731000K061247,BLUE,MONDAY,SELF ADHESIVE BACKED 5|RL $14.97 $74.84

799[PWI1C219C051A |751000K060232 |INK:PRINTER,MAGENTA,500 ML CARTRIDGE 1|EA $107.99 $107.99

800[PW1C219E027A |7045014238450 |TONER:PHASER PRINTER,YELLOW,CARTRIDGE 3|EA $28.07 $84.20
RIBBON:PRINTER HIGH DENSITY CARTRIDGE,0.5" WD X 15

801|PW1C219E031A |7510013062715 |YD LG X 4 MIL THK,BLACK 5|EA $7.61 $38.05

802[PW1C219G015A |7530013811959 |FILM,TRANSPARENCY:8-1/2" X 14" 5|PG $101.40 $507.00
KIT:.WASTE BOTTLE & CLEANER BAR,LASER PRINTER

803|PW1C219J011A |685000K056187 |[TONER 1|BX $30.60 $30.60

804|PW1C219J053A |7510014120755 |RIBBON:PRINTER THERMAL TRANSFER,TRI-COLOR 5|EA $189.00 $945.00
INK:BUBBLE JET

805|PW1C221C043A |751000K060102 |PRINTER,CYAN,MAGENTA,YELLOW,CARTRIDGE 6|EA $16.75 $100.50

806|PW1C221C055A |7510013812645 |INK:TRANSFER PRINTING,BLUE,MAGENTA,YELLOW,ROLL 1|EA $179.20 $179.20
PEN,INSTRUMENT:RECORDER,BLACK,0.35MM WD

807|PW1C221E011A |7520013513976 |NIB,CERAMIC TIP 5|PG $17.35 $86.76
FILM, TRANSPARENCY:WAX,BLACK,CYAN,MAGENTA,YELLO

808|PW1C221E017A |7510013914207 |W 8|EA $222.00] $1,776.00
TAPE,RECORDING,MAGNETIC:ELECTRONIC DATA

809|PW1C221E031A |704500K059914 |PROCESSING JAZ CARTRIDGE,1 GB X 3.5" 2|EA $77.00 $154.00

810|PW1C221E041A |685000K059321 |TONER:PRINTER INDIRECT ELECTROSTATIC PROCESSING 8|EA $35.24 $281.95

811|PWI1C221E047A |751000K060101 |INK:BUBBLE JET PRINTER,BLACK,CARTRIDGE 8|EA $6.77 $54.16

812|PWI1C221E055A |6850014456298 |KIT:TRAY & GLOVES,LASERJET TONER COLLECTION 2|KT $18.65 $37.30

813[PW1C221G013A |751000K060547 |INK:PRINTER,TRI-COLOR,CARTRIDGE 8|EA $42.00 $336.00

814|PWI1C221G021A |751000K060100 |INK:PRINTER,BLACK,CARTRIDGE 4|EA $25.79 $103.16

815|PW1C221G023A |751000K060098 |INK:BUBBLE JET PRINTER,CARTRIDGE 11|EA $38.79 $426.69

49 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

CONNECTOR,COMMUNICATION:2 PIECE RIGHT ANGLE
HEADER DIN 41612 PC C JACK,96 CONTACT POSITION,300V

816|PW1C221G059A |5935013376402 |RMS 3A,GRAY 1|EA $6.54 $6.54
RIBBON:DOT MATRIX PRINTER RECYCLED

817|PW1C221L005A |751000K060517 |CARTRIDGE,FABRIC,BLACK 8|EA $5.08 $40.60

818[PW1C221L023A |731000K060248 |STRIP:T STICK 160 DEG TEST 1|PG $77.87 $77.87
POWER SUPPLY:AC TO DC SWITCHING,105-132VAC 47-
440HZ INPUT,-12/5/12VDC OUTPUT,0.5/12/1.5A OUTPUT,2.18"

819|PW1C223A003A |613000K059893 |WD X 4.54" LG X 8.66" HT 2|EA $214.00 $428.00

820|PW1C223A015A |7510014262302 |[TONER:JET PRINTER,CYAN,MAGENTA,YELLOW,CARTRIDGE 6|EA $34.87 $209.22

821|PW1C223A049A |751000K060199 |FILTER,WATER:COPIER DEVELOPING RECEIVER 3|PG $60.00 $180.00
CELL,PHOTOELECTRIC:120VAC 300A 60HZ 3000W,0-50

822|PW1C223C057A |596100K044802 |[FOOTCANDLES RANGE 3|EA $246.88 $740.64

823[PW1C223C059A |751000K060538 |RIBBON:PRINTER CARTRIDGE,FILM FABRIC,BLACK 4|EA $7.95 $31.80
PAPER,PRINTER/COPIER: THERMOGRAPHIC PROCESS, 8-

824|PW1C223G011A |753000K057342 |1/2" WD X 11" LG,WHITE 1|BX $110.50 $110.50

825|PW1C223G023A |7510013580770 |INK:PHASER PRINTER,YELLOW 4|BX $72.60 $290.40
TONER:REMANUFACTURED PREMIXED

826|PW1C235E017A |751000K060510 |PRINTER,BLACK,CARTRIDGE 3|EA $69.99 $209.97

827|[PW3A011D042A |915000K056179 |LUBRICANT:CLOCK,LIQUID,1 GAL 2|GL $60.50 $121.00
ADHESIVE:GENERAL PURPOSE CELLULOSIC DERIVATIVE

828|PW3A011E036A |8040005799158 |LIQUID,2 OZ 1|BT $6.75 $6.75

829|PW3A015E033A  |685000K059975 |REFRIGERANT.30 DEG F,12 OZ 3|CS $28.37 $85.10

830[PW3A021A039A |733000K859017 |FUEL:STERNO,7 OZ CAN 1|CS $38.83 $38.83

831[PW3C004A047A |793000K060845 |CLEANER:DETERGENT,5 GAL 1|EA $91.66 $91.66

832[PW3C004A055A |7930013795743 |CLEANER:MULTI-PURPOSE DETERGENT,2.5 GAL 3|BX $31.80 $95.40
KIT,ADHESIVE:INSULATING EPOXY,BLACK,KIT CONSISTS

833|PW3C004D042A |5970006115023 |OF 4 OZ. GLASS BOTTLE,2 LB. CAN ONLY.,MSDS REQUIRED 8|KT $98.21 $785.64
KIT,ADHESIVE:INSULATING EPOXY,BLACK,KIT CONSISTS

834|PW3C004D042A |5970006115023 |OF 4 OZ. GLASS BOTTLE,2 LB. CAN ONLY.,MSDS REQUIRED 10|KT $98.21 $982.06

835|PW3C016A053A |684000K853935 |INSECTICIDE:AEROSOL,17 OZ CAN 2|BX $41.08 $82.16

836/PW3C016A055A |793000K059061 |ADDITIVE:DISHWASHING RINSE,2.5 LB TABLE 14|BX $109.13] $1,527.82

50 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

CLEANER:GENERAL PURPOSE HEAVY DUTY DETERGENT,4

837|PW3C016A069A |793000K058768 |GAL/BOX 5/BX $42.56 $212.81

838[PW3C016H042A |7930014181239 |CLEANER:PORCELAIN 2|BX $53.96 $107.92
CLEANER:DISHWASHING RINSE,LIQUID,4.5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA DRY; 1

839|PW3C024A035A |793000K859667 |CONTAINER PER BOX 5/BX $178.56 $892.78

840[PW3C024A040A |650500K060701 |MEDICATION,EXTERNAL:SUNSCREEN,10 CC PACKET 2585|EA $0.00 $0.00
CLEANER:GENERAL PURPOSE,LIQUID,2.5 GAL,DIRECT
REPLACEMENT PART,MSDS REQUIRED; QUANTERNARY
SANITIZER,0ASIS 145, REPLACES OASIS 144,2.5 GAL

841|PW3C024A046A |793000K859663 |CONTAINER PER BOX 5/BX $28.55 $142.75
CLEANER:GENERAL PURPOSE,LIQUID,2.5 GAL,DIRECT
REPLACEMENT PART,MSDS REQUIRED; QUANTERNARY
SANITIZER,0ASIS 145, REPLACES OASIS 144,2.5 GAL

842|PW3C024A046A |793000K859663 |CONTAINER PER BOX 5/BX $28.55 $142.75
CLEANER:FLOOR,LIQUID,2.5 GAL,DIRECT REPLACEMENT
PART,MSDS REQUIRED; OASIS 100; 1 CONTAINER PER BOX;
ECO LAB,REPLACES OASIS 115,ALL PURPOSE

843|PW3C024A047A |793000K859662 |CLEANER,PLASTIC BOTTLES OR JUGS 15/BX $41.02 $615.30
CLEANER:OVEN & GRILL,1 GAL,DIRECT REPLACEMENT

844|PW3C024A053A  |793000K058487 |PART 13|BX $31.45 $408.85

845|PW3C024A057A |7930012701564 |CLEANER:DISHWASHING SANITIZER,LIQUID,1 GAL 2|BX $15.29 $30.58

846|PW3C024A057A |7930012701564 |CLEANER:DISHWASHING SANITIZER,LIQUID,1 GAL 6|BX $15.29 $91.74

847[PW3C024E035A |793000K060110 |CLEANER:GENERAL PURPOSE DETERGENT,77 OZ 4|BX $62.26 $249.04
CLEANER:GENERAL PURPOSE

848|PW3C024E037A  |793000K060109 |SANITIZER/DISINFECTANT,77 OZ 10/BX $33.84 $338.40
CLEANER:HEAVY DUTY GENERAL PURPOSE

849|PW3C024E042A |7930013795696 |DETERGENT,2.5 GAL (9463.53ML) 1|BX $28.73 $28.73
CLEANER:HEAVY DUTY GENERAL PURPOSE

850|PW3C024E042A |7930013795696 |DETERGENT,2.5 GAL (9463.53ML) 1|BX $28.73 $28.73
CLEANER:HEAVY DUTY GENERAL PURPOSE

851|PW3C024E042A |7930013795696 |DETERGENT,2.5 GAL (9463.53ML) 1|BX $28.73 $28.73
CLEANER:HEAVY DUTY GENERAL PURPOSE

852|PW3C024E042A |7930013795696 |DETERGENT,2.5 GAL (9463.53ML) 6|BX $28.73 $172.38

853[PW3C024E046A |7930012368941 |REMOVER:TABLEWARE STAIN,(2) 8 LB CAPSULES 2|BX $49.45 $98.90

51 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs GFE Material
NASA Property Only

A B C D E F G

UNIT OF UNIT TOTAL
1 Bl ITEM NOMENCLATURE QUANTITY| ISSUE COST COST

T CLEANER,HAND:ANTISEPTIC MILD BACTERICIDAL
854|PW3C024E047A |650800K058139 |GEL,GEL,800 ML

N

BX $50.88 $101.76

855|PW3C034A029A 7930010697023 |CLEANER:SOAP BASED DETERGENT LUBRICANT

()]

CN $44.58 $267.48

CLEANER:DISHWASHING SANITIZER,LIQUID,5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA SANITIZER
856|PW3C034A031A |793000K859668 |FOR LOW TEMP DISHWASHERS; 1 BUCKET PER BOX 2|BX $42.24 $84.48

CLEANER:DISHWASHING SANITIZER,LIQUID,5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA SANITIZER
857|PW3C034A031A |793000K859668 |FOR LOW TEMP DISHWASHERS; 1 BUCKET PER BOX 4|BX $42.24 $168.96

CLEANER:DISHWASHING SANITIZER,LIQUID,5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA SANITIZER
858|PW3C034A031A |793000K859668 |FOR LOW TEMP DISHWASHERS; 1 BUCKET PER BOX 3|BX $42.24 $126.72

CLEANER:DISHWASHING SANITIZER,LIQUID,5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA SANITIZER
859|PW3C034A031A |793000K859668 |FOR LOW TEMP DISHWASHERS; 1 BUCKET PER BOX 4|BX $42.24 $168.96

CLEANER:DISHWASHING SANITIZER,LIQUID,5 GAL PLASTIC
BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA SANITIZER
860|PW3C034A031A |793000K859668 |FOR LOW TEMP DISHWASHERS; 1 BUCKET PER BOX 1{BX $42.24 $42.24

CLEANER:ALL PURPOSE,CONCENTRATED LIQUID,1 GAL
PLASTIC BOTTLE,GSA SCHEDULE GS-06F-004L 12/2020 -
PAUL BELL 386-697-3434 (ONLY),TRADENAME: SNAPOUT,; 4
BTLS PER CASE; SOAP SCUM REMOVER,CAFETERIA-
861|PW3C034A037A |793000K061279 |REQUIRES D FLANIGAN APPROVAL FOR OTHER PRODUCT 1|CS $113.93 $113.93

CLEANER:ALL PURPOSE,CONCENTRATED LIQUID,1 GAL
PLASTIC BOTTLE,GSA SCHEDULE GS-06F-004L 12/2020 -
PAUL BELL 386-697-3434 (ONLY),TRADENAME: SNAPOUT,; 4
BTLS PER CASE; SOAP SCUM REMOVER,CAFETERIA-
862|PW3C034A037A |793000K061279 |REQUIRES D FLANIGAN APPROVAL FOR OTHER PRODUCT 3|CS $113.93 $341.78

52 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs GFE Material
NASA Property Only

A B C D E F G
UNIT OF UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE COST COST

CLEANER:ALL PURPOSE,CONCENTRATED LIQUID,1 GAL
PLASTIC BOTTLE,GSA SCHEDULE GS-06F-004L 12/2020 -
PAUL BELL 386-697-3434 (ONLY),TRADENAME: SNAPOUT,; 4
BTLS PER CASE; SOAP SCUM REMOVER,CAFETERIA-
863|PW3C034A037A |793000K061279 |REQUIRES D FLANIGAN APPROVAL FOR OTHER PRODUCT 1|CS $113.93 $113.93

CLEANER:ALL PURPOSE,CONCENTRATED LIQUID,1 GAL
PLASTIC BOTTLE,GSA SCHEDULE GS-06F-004L 12/2020 -
PAUL BELL 386-697-3434 (ONLY),TRADENAME: SNAPOUT,; 4
BTLS PER CASE; SOAP SCUM REMOVER,CAFETERIA-
864|PW3C034A037A |793000K061279 |REQUIRES D FLANIGAN APPROVAL FOR OTHER PRODUCT 3|CS $113.93 $341.78

CLEANER:ALL PURPOSE,CONCENTRATED LIQUID,1 GAL
PLASTIC BOTTLE,GSA SCHEDULE GS-06F-004L 12/2020 -
PAUL BELL 386-697-3434 (ONLY),TRADENAME: SNAPOUT,; 4
BTLS PER CASE; SOAP SCUM REMOVER,CAFETERIA-
865|PW3C034A037A |793000K061279 |REQUIRES D FLANIGAN APPROVAL FOR OTHER PRODUCT 6|CS $113.93 $683.57

CLEANER:DISHWASHING DETERGENT,LIQUID,5 GAL
PLASTIC BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA
866|PW3C034A047A |793000K859666 |KLENE 1|BX $118.76 $118.76

CLEANER:DISHWASHING DETERGENT,LIQUID,5 GAL
PLASTIC BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA
867|PW3C034A047A |793000K859666 |KLENE 6[BX $118.76 $712.59

CLEANER:DISHWASHING DETERGENT,LIQUID,5 GAL
PLASTIC BUCKET,SOLE SOURCE,MSDS REQUIRED,ULTRA

868|PW3C034A047A |793000K859666 |KLENE 2|BX $118.76 $237.53
869|PW3C034A051A 7930013795373 |CLEANER,FLOOR:HARD SURFACE STRIPPER 4|BX $35.17 $140.68
870|PW3C034A051A 7930013795373 |CLEANER,FLOOR:HARD SURFACE STRIPPER 7{BX $35.17 $246.19

CLEANER:GLASS ,AUTO,BOAT & HOME,LIQUID,2.5
GAL,DIRECT REPLACEMENT PART,MSDS REQUIRED,OASIS
871|PW3C034A057A |793000K859664 [257; 2-/1 GAL CONTAINER PER BOX; HEAVY DUTY 1{BX $47.78 $47.78

53 of 56 As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
CLEANER:GLASS,AUTO,BOAT & HOME,LIQUID,2.5
GAL,DIRECT REPLACEMENT PART,MSDS REQUIRED,OASIS
872|PW3C034A057A |793000K859664 |257; 2-/1 GAL CONTAINER PER BOX; HEAVY DUTY 10[BX $47.78 $477.80
CLEANER,FLOOR:LIQUID, 2.5 GAL,MSDS REQUIRED; DIRECT
REPLACEMENT PART,0ASIS ENFORCER; 1 CONTAINER PER
873|PW3C034A059A |793000K859665 |BOX:; 5|BX $29.05 $145.25
CLEANER,FLOOR:LIQUID,2.5 GAL,MSDS REQUIRED; DIRECT
REPLACEMENT PART,0ASIS ENFORCER; 1 CONTAINER PER
874|PW3C034A059A |793000K859665 |BOX:; 12|BX $29.05 $348.60
875|PW3D004B016A |915000K846466 |LUBRICANT:PRINTER SILICONE OIL,50 CC PER BOTTLE 6|BT $8.00 $48.00
876/PW3D004D039A |915000K056681 |OIL:PENETRATING,4 OZ 8|EA $10.98 $87.84
877|[PW3D004EO15A |3439004408988 |FLUX:BRAZING,POWDER,1 LB 1|LB $10.88 $10.88
878|PW3D005F021A  |614000K049687 |BATTERY,STORAGE: 1|EA $131.02 $131.02
COMPOUND:ELECTRICAL INSULATING; LONG LEAD TIME,
879|PW3D014D027A |597000K039510 |WORK STOPPAGE IF ALLOWED TO RUN OUT. 1|KT $257.50 $257.50
880[PW3D018A026A |9150007853768 |FLUID,CUTTING:MINERAL & FATTY OIL,1 GAL 3|GL $74.00 $222.00
881/PW3D022D035A 9150012080800 |LUBRICANT:DRILL EASE 20[EA $35.14 $702.80
882[PW3D022D039A |915000K056145 |LUBRICANT:COMPOUNDED,14 OZ CARTRIDGE 1|CA $15.72 $15.72
883|PW3G140A003A |683000K275079 |GAS:ULTRA PURE NITROGEN ZERO,0.0436 CU M CYLINDER 2|cy $658.00]  $1,316.00
884|PW3G140A012A |683000K036832 |GAS:SYNTHETIC-HYDRO AIR,#3 CYLINDER 8|CY $70.00 $560.00
885|PW3G140A017A |683000K053132 |GAS:HELIUM,ARGON,75%,25%,324 CU FT T CYLINDER 2|CY $159.67 $319.33
886|PW3G140A054A |683000K054716 |GAS:NITROGEN,UHP GR,K CYLINDER 1|CY $111.00 $111.00
887[PW3G140A055A |683000K052830 |GAS:HYDROGEN,1%,225 CU FT K CYLINDER 1|CY $352.50 $352.50
888[PW3G140A059A |683000K052831 |GAS:HYDROGEN,2%,225 CU FT K CYLINDER 2|CY $260.00 $520.00
GAS:ARGON,NITROGEN,OXYGEN, 10% (9.5-10%),40% (39.5-
889|PW3G140A070A |683000K055202 [40.5%),50% (49.5-50.5%),K CYLINDER 5/cy $187.00 $935.00
GAS:CARBON DIOXIDE, TECHNICAL,50 LB CYLINDER,BB-C-
890|PW3G140A077A |683000K251269 |101 TYPE 2 CL 1 GR B 3lcy $68.00 $204.00
891|PW3G140A078A |683000K058502 |GAS:HYDROGEN,HELIUM,4% (PORM 10%),K CYLINDER 3|CY $187.79 $563.38
GAS:HELIUM,RESEARCH GR,99.9999%,244 CU FT K
892|PW3G140A080A |683000K055601 |CYLINDER 7|cy $452.59] $3,168.11
893[PW3G140A089A |683000K053791 |GAS:ETHYLENE,GR CP,99.5%,K CYLINDER 2|CY $123.00 $246.00

54 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
1 BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST

894|PW3G140A095A |683000K055522 |GAS:HYDROGEN,NITROGEN,5%,95%,230 CU FT CYLINDER 4lcy $95.00 $380.00
TUBING,METALLIC:1-1/2" OD,17-24' LG,0.188" WALL
THK,5200 LB,COLD DRAWN FULLY ANNEALED PASSIVATED

895|PW3G165A069A |4710011045901 |SEAMLESS CRES 304 SS 176|FT $0.00 $0.00
WIRE/CABLE,ELECTRICAL:POWER,60 COND,20
AWG, TINNED COPPER,STR,600VRMS,POLYAMIDE
COVERED PE INSUL,OVERALL BRAIDED SHIELD,NEOPRENE

896|PW4AREELRECO |614500LC12656 |JACKET COVER,1500' MIN (PORM 10%) 6220|FT $7.99| $49,697.80

897[U10A 6750012540975 |FILM,PHOTO:BLACK & WHITE,135MM WD, 24 EXPOSURE 16|RO $2.99 $47.84
FILM,PHOTO:COLOR,STILL PICTURE,135MM,ASA 400,36

898|U10A001A001A  |675000K058931 |EXPOSURE 436|RO $4.03| $1,758.48
FILM,PHOTO:COLOR,NEGATIVE,35MM WD,ASA 160,36

899|U10AOREFBRA  |6750010148622 |EXPOSURE 4RO $6.05 $24.20

900[UW1C223G047A |753000K060127 |FILM,TRANSPARENCY:8-1/2" WD X 11" LG 3|PG $50.80 $152.40

901[UWI1R 7045014240808 |TONER:PHASER PRINTER,MAGENTA,CARTRIDGE 21[EA $27.81 $584.05

902[UW1R084C067A |7045013878542 |TONER:PRE-MIXED PRINTER,BLACK 6|EA $189.65] $1,137.90

903[UW1R084C077A |751000MA16639 |INK:PRINTER,YELLOW,CARTRIDGE 4|EA $26.60 $106.40

904]UW1R084C078A |751000MA16637 |INK:PRINTER,MAGENTA,CARTRIDGE 4|EA $26.60 $106.40
FILTER,FLUID:REUSABLE, 1/2" X 6" LG,FEMALE BOSS
THD,304 SS ELEMENT,10 MICRON RETENTION,CRES 17-4

905|UW1R084C080A |433000K056642 |PH SS HSG 1|EA $445.00 $445.00
DEVELOPER:LASER PRINTER INDIRECT ELECTROSTATIC

906|UW1R084C092A |751000K060495 |PROCESSING,CARTRIDGE 2|EA $200.00 $400.00

907|[UW1R084D075A |751000K060230 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $107.99 $107.99
TONER:DUPLICATING SYSTEM INDIRECT ELECTROSTATIC

908|UW1R084D075A |7045014567435 |PROCESSING,YELLOW 1|EA $65.99 $65.99
INK:LASER PRINTER INDIRECT ELECTROSTATIC

909|UW1R084D075A |6850013984453 |PROCESSING LIQUID TONER 1|EA $20.18 $20.18
CLAMP,WIRE ROPE.1/8" OD,GALV STEEL,FF-C-450 TYPE 1

910|UW1R084D076A |403000K061125 |CL 1 36|EA $0.80 $28.80
PEN,INSTRUMENT:RECORDER,RED,0.3MM WD NIB,FIBER

911|UW1R084D084A |7520011121919 |TIP 2|PG $6.58 $13.15

912[UW1R084F080B  |7510013740902 |TONER:PRE-MIXED PRINTER,BLACK 2|EA $178.61 $357.22

55 of 56

As of 10/5/2006




Copy of GFE Material 20061005.xIs

GFE Material
NASA Property Only

A B C D E F G
UNIT OF | UNIT TOTAL
BIN ITEM NOMENCLATURE QUANTITY| ISSUE | cosT COST
913[UW1R084F084A |7510013107569 |INK:PRINTER,BLACK,CARTRIDGE 1|EA $11.98 $11.98
914|[UW1R084F084B  |7530014241698 |FILM,TRANSPARENCY:8-1/2" X 101' 2|RO $178.63 $357.25
GAS:CARBON DIOXIDE, TECHNICAL,50 LB CYLINDER,BB-C-
915|UW3CONDEMN  |683000K251269 |101 TYPE 2 CL 1 GR B 2|cy $68.00 $136.00
916|UW3G140A017X |683000K053132 |GAS:HELIUM,ARGON,75%,25%,324 CU FT T CYLINDER 1|CY $159.67 $159.67
GAS:OXYGEN,CARBON DIOXIDE,97%,3% (2.95-
917|UW3G140A031X |683000K055199 [3.05%),CYLINDER 2|cy $186.50 $373.00
918[UW3G140A055X  |683000K052830 |GAS:HYDROGEN,1%,225 CU FT K CYLINDER 1|CY $352.50 $352.50
GAS:ARGON,99.9999%,250 CUBIC FEET,K BOTTLE, ULTRA
919|UW3G140A067A |683000K859708 |HIGH PURITY,MSDS REQUIRED 2|cy $91.00 $182.00
GAS:HELIUM,RESEARCH GR,99.9999%,244 CU FT K
920|UW3G140A080X |683000K055601 |CYLINDER 3lcy $452.59] $1,357.76
921[UW3G140A096X |683000K053830 |GAS:HALON,K CYLINDER 1|CY $875.00 $875.00
922
923|TOTALS 920 Line ltems $314,420.75
56 of 56 As of 10/5/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTURE|NUMBER|MODEL|ACCOUNT| cCOST
HEWLETT- CNBXC4
2 | 1340 |KS-1708 |201S2 | 3059012 |USAF PRINTER 7025|PACKARD CO 2005 5499 Q5403A| E1600 $1,691
WHITAKER BROS
DISINTEGRAT BUSINESS CA08300
3 | 1422 |KS-1610 3059398 |USAF OR, PAPER  |7490|MACHINE 2004 004041 |320 E1250 $23,999
WHITAKER BROS
DISINTEGRAT BUSINESS CA08300
4 | 1422 |KS-1610 3059399 |USAF OR, PAPER  |7490|MACHINE 2004 004040 |320 E1250 $23,999
HEWLETT- CNBXC4
5 | 1500 |KS-1708 [142 3059010 |USAF PRINTER 7025|PACKARD CO 2005 |5505 Q5403A| E1500 $1,691
WEBER
COMPACTOR, MACHINE / USA / RC40H
6 | 3223 |KS-44537 |YARD | 2027562 |USAF SOIL 3805(INC 2001 002785 |O E5070 $3,795
ENGINEERING OMNIG
7 | 3230 |KS-49816 |1 3064006 |USAF MANOMETER |6685|SOLUTIONS 2006 |NONE |UARD 4| E5100 $1,100
MANITOWOC CO
ICE MAKING MANITOWOC 03036433|QD0132
8 | 3230 |KS-49816 |BAY 2161129 |USAF MACHINE 4110|EQUIP 2003 |4 A E5100 $1,241
DRILL PRESS, MILWAUKEE
ELECTROMA ELECTRIC TOOL 838B602
9 | 3240 |KS-1708 |D101 2161101 |USAF GNETIC 3413[CORP 2002 500056 |4204-1 | E4860 $1,195
MOSQUITO AMERICAN PROC29
10| 3240 |KS-1708 |D101 2028078 |USAF MAGNET 3740(BIOSYSTEMS INC| 2002 [935 PRO E4860 $1,295
MILLING BRIDGEPORT APOLL
11| 3250 |KS-M6486 [SHOP | 1983847 |AFEMS MACHINE 3417 MACHINES 1997 |AP122 |O E4900 $83,786
VACUUM, NILFISK OF
12| 3293 |KS-49635 [104 2161127 |USAF WET/DRY 7910|AMERICA INC 2002 |0402 VT60 E4820 $2,699

10f39

As of 9/27/2006



Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
SPRAYER,
PAINT, GRACO INC F-
13| 3293 |KS-49635 [YARD | 2161382 |USAF AIRLESS 4940(GRACO LUBER 2002 |BA2509 |1095 E4820 $2,995
VACUUM, SASE COMPANY
14| 3293 |KS-49635 [YARD | 2161451 |USAF BACKPACK |7910[INC 2004 |2265 SCI10 E4820 $1,105
VACUUM, SASE COMPANY
15| 3293 |KS-49816 [101 2161452 |USAF BACKPACK |7910[INC 2004 2266 SCI10 E4820 $1,105
DILLON SCALE
COMMUNICAT AND EQUIPMENT DEDRO0O
16| 3310 |KS-1635 [100 1661417 |USAF OR, REMOTE |6695|CO 2004 249 NONE E4485 $1,080
DILLON SCALE
DYNAMOMET AND EQUIPMENT DEDX270
17| 3310 |KS-1635 [100 1661418 |USAF ER 6695|CO 2004 |0078 EDX50K| E4485 $3,480
TRAILER, PROLINE PLS1179
18| 3330 |KS-1361 |[SHOP | 2161017 |USAF GENERATOR |[2330|ENTERPRISES 2003 |9 NONE E4840 $3,100
GENERATOR DYNAMICS CP MEP816
19| 3330 |KS-44625 [YARD | 2023734 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95089 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
20| 3330 |KS-44625 [YARD | 2023775 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95084 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
21| 3330 |KS-44625 [YARD | 2023776 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |FZ95068 |A E4835 $20,903
LIBBY CORP F-
GENERATOR LIBBY WELDING RZ79001 [AM3260
22| 3330 |KS-44625 [YARD | 2023777 |AFEMS SET 6115|CO 1980 |098 A E4835 $241,643
GENERATOR DYNAMICS CP MEP816
23| 3330 |KS-44625 [YARD | 2023909 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95097 |A E4835 $20,903
FOR
MEP000
PROTOTYPE 9
WHEEL DEVELOPMENT 83X1322 |GENER
24| 3330 |KS-44625 [YARD | 2023929 |AFEMS ASSEMBLY  |2530[INC 1990 |#3 ATR E4835 $4,500

20f 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
FOR
MEP000
PROTOTYPE 9
WHEEL DEVELOPMENT 92X1124 |GENER
25| 3330 |KS-44625 [YARD | 3063977 |AFEMS ASSEMBLY  |2530[INC 1990 |#6 ATR E4835 $4,500
FOR
MEP000
PROTOTYPE 9
WHEEL DEVELOPMENT 92X1122 |GENER
26 | 3330 |KS-44625 [YARD | 2023931 |AFEMS ASSEMBLY  |2530[INC 1990 |#4 ATR E4835 $4,500
FOR
MEPO000
PROTOTYPE 9
WHEEL DEVELOPMENT 88X869# |GENER
27| 3330 |KS-44625 [YARD | 2023932 |AFEMS ASSEMBLY  |2530[INC 1990 |2 ATR E4835 $4,500
FOR
MEP000
PROTOTYPE 9
WHEEL DEVELOPMENT 92X1123 |GENER
28| 3330 |KS-44625 [YARD | 2023935 |AFEMS ASSEMBLY  |2530[INC 1990 |#5 ATR E4835 $4,500
MILWAUKEE
JACK, FLOOR, ELECTRIC TOOL
29| 3330 |KS-44625 [YARD | 2161463 |AFEMS 4T 4910[{CORP 1998 4082128 |NONE E4835 $710
GENERATOR DYNAMICS CP MEP816
30| 3330 |KS-44625 [YARD | 2020313 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |FZ95086 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
31| 3330 |KS-44625 [YARD | 2020314 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95078 |A E4835 $20,903
LIBBY CORP F-
LIBBY WELDING RZ79001 [AM32A6
32| 3330 |KS-44625 [YARD | 2020317 |AFEMS GENERATOR [6115|cO 1980 |095 0A E4835 $56,466
GENERATOR DYNAMICS CP MEP816
33| 3330 |KS-44625 [YARD | 2022620 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95077 |A E4835 $20,903

30f39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
GENERATOR DYNAMICS CP MEP816
34| 3330 |KS-44625 [YARD | 2022621 |AFEMS SET, 60KW  |6115|OF AMERICA 1998 |Fz95082 |A E4835 $20,903
FORSTER
GENERATOR ENTERPRISES MEP007
35| 3330 |KS-44625 [YARD | 1982500 |AFEMS SET, 100KW [6115|INC 1991 |BWO00046|B E4835 $35,140
HOBART
GENERATOR BROTHERS CO 80PS013
36 | 3330 |KS-44625 [YARD | 1982501 |AFEMS SET, 72KW  |6115|THE 1980 |18 90G20P| E4835 $33,906
GENERATOR HOLLINGSWORT MEP009
37| 3330 |KS-44625 [YARD | 1982502 |AFEMS SET, 200KW [6115|H JOHN R 1992 |Kz00155 |B E4835 $49,440
GENERATOR HOLLINGSWORT MEP009
38| 3330 |KS-44625 [YARD | 1982509 |AFEMS SET, 200KW |6115|H JOHN R 1995 |KZ00159 |B E4835 $49,440
HOBART
GENERATOR BROTHERS CO 80PS016
39| 3330 |KS-44625 [YARD | 1982515 |AFEMS SET, 72KW  [6115|THE 1997 |79 90G20P| E4835 $33,906
GENERATOR DYNAMICS CP MEP816
40 | 3330 [KS-44625 |YARD | 1982522 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95078 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
41| 3330 [KS-44625 |YARD | 2028199 [AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95088 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
42| 3330 [KS-44625 |YARD | 1982525 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95076 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
43| 3330 [KS-44625 |YARD | 1982527 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95104 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
44| 3330 [KS-44625 |YARD | 1982529 |[AFEMS SET, 60KW  [6115|OF AMERICA 1998 |FZ95092 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
45| 3330 [KS-44625 |YARD | 2028198 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95103 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
46 | 3330 [KS-44625 |YARD | 1982532 |[AFEMS SET, 60KW  [6115|OF AMERICA 1998 |FZ95096 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
47| 3330 |KS-44625 |YARD | 1982533 |[AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95100 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
48| 3330 [KS-44625 |YARD | 1982537 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95073 |A E4835 $20,903

4 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
GENERATOR DYNAMICS CP MEP816
49 | 3330 |KS-44625 |YARD | 1982549 |[AFEMS SET, 60KW  |6115|OF AMERICA 1998 |FZz95102 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
50 | 3330 |KS-44625 [YARD | 1982551 |AFEMS SET, 60KW  |6115|OF AMERICA 1998 |Fz95071 |A E4835 $20,903
GENERATOR HOLLINGSWORT MEP004
51| 3330 |KS-44625 [YARD | 1982557 |AFEMS SET, 15KW  [6115|H JOHN R 1980 |KZz03728 |A E4835 $13,551
HOBART
GENERATOR BROTHERS CO 80PS016
52 | 3330 |KS-44625 [YARD | 1982913 |AFEMS SET, 72KW  [6115|THE 1980 |93 90C20P | E4835 $33,906
6115
0106 [HOBART
GENERATOR |[1661|BROTHERS CO AM32A8
53| 3330 |KS-44625 [YARD | 1982931 |AFEMS SET, 72KW 0 |THE 1983 |Kz0758 |6 E4835 $33,905
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
54| 3330 |KS-44625 [YARD | 2028206 |AFEMS SET, 72KW 0 |HJOHNR 1985 |Kz03703 |6D E4835 $33,905
6115
0106
GENERATOR |[1661|HOLLINGSWORT 79AZZ01 |[AM32A8
55| 3330 |KS-44625 [YARD | 1982895 |AFEMS SET, 72KW 0 |HJOHNR 1985 |280 6D E4835 $33,905
6115
0106
GENERATOR |[1661|HOLLINGSWORT 80PS016 |[AM32A8
56 | 3330 |KS-44625 [YARD | 1982898 |AFEMS SET, 72KW 0 |HJOHNR 1985 |98 6D E4835 $33,905
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
57 | 3330 |KS-44625 [YARD | 1982902 |AFEMS SET, 72KW 0 |HJOHNR 1985 |KZ00568 |6D E4835 $33,905
GENERATOR DYNAMICS CP MEP816
58 | 3330 |KS-44625 [YARD | 1982912 |AFEMS SET, DIESEL [6115|OF AMERICA 1998 |Fz95099 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
59 | 3330 |KS-44625 [YARD | 1982914 |AFEMS SET, DIESEL [6115|OF AMERICA 1998 |FZ95075 |A E4835 $20,903

5 0f 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
GENERATOR DYNAMICS CP MEP816
60 | 3330 |KS-44625 [YARD | 1982918 |AFEMS SET, DIESEL |6115|OF AMERICA 1998 |FZ95094 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
61| 3330 |KS-44625 [YARD | 1982923 |AFEMS SET, DIESEL |6115|OF AMERICA 1998 |FZ95008 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
62 | 3330 |KS-44625 [YARD | 1982925 |AFEMS SET, DIESEL |6115|OF AMERICA 1998 |FZ95069 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
63| 3330 |KS-44625 [YARD | 1982927 |AFEMS SET, DIESEL |6115|OF AMERICA 1998 |FZz95101 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
64| 3330 |KS-44625 [YARD | 1982928 |AFEMS SET, DIESEL |6115|OF AMERICA 1998 |FZ95070 |A E4835 $20,903
GENERATOR HOLLINGSWORT MEP009
65| 3330 |KS-44625 [YARD | 1982950 |AFEMS SET, 200KW |6115|H JOHN R 1992 |Kz00152 |B E4835 $49,440
TRAILER,
GENERATOR STEVENS MFG 1A002M
66 | 3330 |KS-44625 [YARD | 2028200 |AFEMS 2 1/2 TON 2330|CO 1980 |1348 67 E4835 $1,446
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
67 | 3330 |KS-44625 [YARD | 1982897 |AFEMS SET, 72KW 0 |HJOHNR 1985 |KZ00608 |6D E4835 $33,905
GENERATOR DYNAMICS CP MEP816
68 | 3330 |KS-44625 [YARD | 1983110 |AFEMS SET, 60KW  [6115|OF AMERICA 1968 |FZ95085 |A E4835 $20,903
TRANSFORM TRILECTRON 281050
69| 3330 |KS-44625 [YARD | 1983124 |AFEMS ER RECTIFIER|6130|INDUSTRIES INC | 1987 [443359 |TR E4835 $2,248
6115
0127
GENERATOR [4739|DYNAMICS CP MEP816
70| 3330 |KS-44625 [YARD | 1983170 |AFEMS SET, 60KW 5 |OF AMERICA 1998 |Fz95091 |A E4835 $20,903
6115
0127
GENERATOR [4739|DYNAMICS CP MEP816
71| 3330 |KS-44625 [YARD | 1983173 |AFEMS SET, 60KW 5 |OF AMERICA 1998 |FZ95072 |A E4835 $20,903

6 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
GENERATOR DYNAMICS CP MEP816
72| 3330 |KS-44625 [YARD | 2023714 |AFEMS SET, 60KW  |6115|OF AMERICA 1998 |Fz95012 |A E4835 $20,903
GENERATOR F9505779|60DGC
73| 3330 |KS-44625 |[YARD | 1982868 |AFEMS#1 |SET, 60KW  [6115|ONAN CORP 1995 |59 B E4835 $15,608
GENERATOR, K950592 [360SGB
74| 3330 |KS-44625 |[YARD | 1982885 |AFEMS#1 |PORTABLE [6115|ONAN CORP 1997 |391 A E4835 $17,527
GENERATOR F9505790[60DGC
75| 3330 |KS-44625 |[YARD | 1982851 |AFEMS#10 |SET, 60KW  [6115|ONAN CORP 1995 |42 B E4835 $24,000
GENERATOR F9505790[60DGC
76 | 3330 |KS-44625 |[YARD | 1982855 |AFEMS#11 |SET,60KW  [6115|ONAN CORP 1995 |43 B E4835 $24,000
LIGHT
TOWER, SPECIALTY BTK64M
77| 3330 |KS-44625 [YARD | 1982887 |AFEMS#11 |PORTABLE  [6230|LIGHTING INC 1997 |97104701|H E4835 $7,695
GENERATOR F9505790|60DGC
78| 3330 |KS-44625 |[YARD | 1982847 |AFEMS#12 |SET,60KW  [6115|ONAN CORP 1995 |44 B E4835 $24,000
LIGHT
TOWER, SPECIALTY BTK64M
79| 3330 |KS-44625 |[YARD | 1982889 |AFEMS#12 |PORTABLE [6230|LIGHTING INC 1997 |97104702|H E4835 $7,695
LIGHT
TOWER, SPECIALTY BTK64M
80| 3330 |KS-44625 [YARD | 1982890 |AFEMS#13 |PORTABLE [6230|LIGHTING INC 1997 |97104703|H E4835 $7,695
GENERATOR F9505806|60DGC
81| 3330 |KS-44625 [YARD | 1982853 |AFEMS#14 |SET,60KW  [6115|ONAN CORP 1995 |72 B E4835 $24,000
LIGHT
TOWER, SPECIALTY BTK64M
82| 3330 |KS-44625 |[YARD | 1982891 |AFEMS#14 |PORTABLE [6230|LIGHTING INC 1997 |97104704|H E4835 $7,695
LIGHT
TOWER, SPECIALTY BTK64M
83| 3330 |KS-44625 [YARD | 1982888 |AFEMS#15 |PORTABLE [6230|LIGHTING INC 1997 |97104705|H E4835 $7,695
LIGHT
TOWER, SPECIALTY BTK64M
84| 3330 |KS-44625 |[YARD | 1982873 |AFEMS#16 |PORTABLE [6230|LIGHTING INC 1996 |9714706 |H E4835 $8,429

7 0of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | copE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTURE|NUMBER|MODEL|ACCOUNT| cosT
GENERATOR F9505779|60DGC
85| 3330 |KS-44625 |YARD | 3059152 |AFEMS#2 |SET,60KW  [6115|ONAN CORP 1995 |60 B E4835 $15,608
GENERATOR DYNAMICS CP MEP816
86| 3330 |KS-44625 |YARD | 1982534 |AFEMS#20 |SET,60KW  |6115|0OF AMERICA 1998 [Fz95013 |A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
87| 3330 |KS-44625 |YARD | 1982536 |AFEMS#21 |SET,60KW |6115|0F AMERICA 1998 [Fz95098 (A E4835 $20,903
GENERATOR F9505779|60DGC
88| 3330 |KS-44625 |YARD | 1982869 |AFEMS#3 |SET,60KW  [6115|ONAN CORP 1995 |61 B E4835 $15,608
GENERATOR DYNAMICS CP MEP816
89| 3330 |KS-44625 |YARD | 1982528 |AFEMS#36 |SET,60KW |6115|0F AMERICA 1998 [Fz95090 (A E4835 $20,903
GENERATOR DYNAMICS CP MEP816
90| 3330 |KS-44625 |YARD | 2020311 |AFEMS#37 |SET,60KW |6115|0F AMERICA 1998 [Fz95093 (A E4835 $20,903
QUANT
01| 3330 |KS-44625 |YARD | 1982877 |AFEMS#4 |LOAD BANK |[6625|SIMPLEX INC 1964 |64609241|UMs00 | E4835 $17,610
GENERATOR E950577 |60DGC
92| 3330 |KS-44625 |YARD | 1983172 |AFEMS#4 |SET,60KW  [6115|ONAN CORP 1995 |[962 B E4835 $15,608
GENERATOR DYNAMICS CP MEP816
93| 3330 |KS-44625 |YARD | 2023718 |AFEMS#40 |SET,60KW |6115|0OF AMERICA 1998 [Fz95087 (A E4835 $20,903
GENERATOR HOLLINGSWORT MEP005
94| 3330 |KS-44625 |YARD | 1982844 |AFEMS#49 |SET,30KW  [6115|H JOHN R 1985 [Kz05168 |A E4835 $14,891
GENERATOR F9505779|60DGC
05| 3330 |KS-44625 |YARD | 1982859 |AFEMS#5 |SET,60KW  [6115|ONAN CORP 1995 |63 B E4835 $24,000
QUANT
96| 3330 |KS-44625 |YARD | 1982870 |AFEMS#5 |LOAD BANK |[6625|SIMPLEX INC 1992 [92419241|ums00 | E4835 $17,271
LIGHT
TOWER, SPECIALTY BTK64M
97| 3330 |KS-44625 |YARD | 1982875 |AFEMS#5 |PORTABLE |[6230|LIGHTING INC 1996 (9612873 |H E4835 $8,429
GENERATOR, K950593 |360SGB
98| 3330 |KS-44625 |YARD | 1982886 |AFEMS#5 |PORTABLE |[6115|ONAN CORP 1995 (309 A E4835 $17,527
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
99| 3330 |KS-44625 |YARD | 1982836 |AFEMS#50 |SET, 100KW |[6115|co 1986 [BW00005(B E4835 $35,141
8 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
100| 3330 |KS-44625 |YARD | 1982839 |AFEMS#52 |SET, 100KW [6115|CO 1986 |RZ01364 |B E4835 $35,141
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
101| 3330 |KS-44625 |YARD | 3059145 |AFEMS#54 |SET, 100KW [6115|CO 1986 |BW00049|B E4835 $35,141
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
102| 3330 |KS-44625 |YARD | 1982832 |AFEMS#56 |SET, 100KW [6115|CO 1986 |BW00033|B E4835 $35,141
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
103| 3330 |KS-44625 |YARD | 1982840 |AFEMS#59 |SET, 100KW [6115|CO 1986 |BW00048|B E4835 $35,141
GENERATOR F9505779|60DGC
104| 3330 |KS-44625 |[YARD | 1982849 |AFEMS#6 |SET, 60KW  [6115|ONAN CORP 1995 |64 B E4835 $24,000
LIGHT
TOWER, SPECIALTY BTK64M
105 3330 |KS-44625 [YARD | 1982871 |AFEMS#6 |PORTABLE  [6230|LIGHTING INC 1996 9612874 |H E4835 $8,429
GENERATOR DYNAMICS CP MEP816
106| 3330 |KS-44625 |[YARD | 1982920 |AFEMS#6 |SET, DIESEL [6115|OF AMERICA 1998 |FZ95080 |A E4835 $20,903
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
107| 3330 |KS-44625 |YARD | 1982837 |AFEMS#61 |SET, 100KW |[6115|CO 1986 |RZ00316 |B E4835 $35,141
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
108| 3330 |KS-44625 |YARD | 3059336 |AFEMS#65 |SET, 100KW [6115|CO 1986 |RZ00368 |B E4835 $35,141
LIBBY CORP F-
GENERATOR LIBBY WELDING MEP007
109| 3330 |KS-44625 |YARD | 3059147 |AFEMS#67 |SET, 100KW |[6115|CO 1986 |RZ01386 |B E4835 $35,141
GENERATOR DYNAMICS CP MEP816
110 3330 |KS-44625 |[YARD | 2020312 |AFEMS#7 |SET, 60KW [6115|OF AMERICA 1998 |Fz95081 |A E4835 $20,903
GENERATOR HOLLINGSWORT MEP004
111| 3330 |KS-44625 |[YARD | 2020315 |AFEMS#7 |SET, 15KW  [6115|H JOHN R 1985 |KZ02045 |A E4835 $13,551

9 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
LIGHT
TOWER, SPECIALTY BTK64M
112| 3330 |KS-44625 |[YARD | 1982874 |AFEMS#7 |PORTABLE [6230|LIGHTING INC 1996 9622998 |H E4835 $8,429
GENERATOR F9505790|60DGC
113| 3330 |KS-44625 [YARD | 1982866 |AFEMS#8 |SET, 60KW  [6115|ONAN CORP 1995 |40 B E4835 $15,608
GENERATOR 97206485|DMT150
114| 3330 |KS-44625 |[YARD | 1982842 |AFEMS#90 |SET, 150KW [6115|DMT CORP 1997 |1 JDB E4835 $24,183
HOBART
GENERATOR BROTHERS CO AM32A8
115 3330 |KS-44625 |[YARD | 1982924 |AFEMS135 |SET,72KW  |6115|THE 1983 |Kz0607 |6 E4835 $26,114
TRANSFORM TRILECTRON 281050
116| 3330 |KS-44625 [YARD | 2020336 |AFEMS147 |ER RECTIFIER|6130|INDUSTRIESINC | 1987 [443368 |TR E4835 $2,248
TRAILER, PROLINE PLS1179
117| 3330 |KS-44635 |SHOP | 2161016 |USAF GENERATOR |[2330|ENTERPRISES 2003 |8 NONE E4840 $3,100
FOR
MEP000
PROTOTYPE 9
WHEEL DEVELOPMENT 92X1125 |GENER
118| 3330 |KS-44635 [YARD | 2023933 |AFEMS ASSEMBLY  |2530[INC 1990 |#7 ATR E4835 $4,500
GENERATOR HOLLINGSWORT MEP009
119| 3330 |KS-44635 [YARD | 1982507 |AFEMS SET, 200KW [6115|H JOHN R 1995 |KZ00169 |B E4835 $49,440
GENERATOR DYNAMICS CP MEP816
120| 3330 |KS-44635 [YARD | 2023717 |AFEMS SET, 60KW  [6115|OF AMERICA 1998 |Fz95083 |A E4835 $20,903
5MWBU6
KS- TRAILER, CROSLEY 1263500
121| 3330 |K61446 |YARD | 3058806 |USAF FLATBED 2330|TRAILERS IN 2004 2556 6X12 E4161 $2,596
MOTOROLA HO9KD
RADIO, COMMUNICATIO 326ACC1|CoPW5
122| 3380 |KS-1069 [102A 1662832 |USAF XTS3000 5820 (NS GROUP 2004 |588 AN E4810 $3,000
SCOPEMETE DM80402
123| 3380 |KS-1069 [102C 1645720 |USAF R 6625|FLUKE CORP 2002 |26 199 E4810 $2,825
10 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
POWER
SUPPLY,
UNINTERRUP TRIPPLITE DIV 8E01410 |SU2200
124| 3380 |KS-1069 [105 2030375 |USAF TIBLE 6130|TRIPP MFG 2002 |2518WO |RT2U E4810 $1,114
WASHER, CHEMFREE JwWo05211
125 3380 |KS-1069 [SHOP | 2161361 |USAF PARTS 4940(CORP 2002 |00000738|052 E4810 $1,146
POWER
SUPPLY,
UNINTERRUP TRIPPLITE DIV 8E01410 |SU2200
126 3380 |KS-56921 |105A 2030374 |USAF TIBLE 6130|TRIPP MFG 2002 |2519WO |RT2U E4810 $1,035
POWER
SUPPLY,
UNINTERRUP TRIPPLITE DIV 8E01410 |SU2200
127| 3380 |KS-56921 |105A 2030376 |USAF TIBLE 6130|TRIPP MFG 2002 |2516WO |RT2U E4810 $1,114
POWER
SUPPLY,
UNINTERRUP TRIPPLITE DIV 8E01410 |SU2200
128| 3380 |KS-56921 [108 2030369 |USAF TIBLE 6130|TRIPP MFG 2002 |2466WO |RT2U E4810 $1,035
POWER
SUPPLY,
UNINTERRUP TRIPPLITE DIV 8E01410 |SU2200
129| 3380 |KS-56921 [112A 2191314 |USAF TIBLE 6130|TRIPP MFG 2003 |2517W0 |RT2U E4810 $1,035
SAWING
130 3383 |KS-1708 [BAY 1983861 |AFEMS MACHINE 3405 [DOALL CO 1961 |5217355 |ML E4860 $1,838
MILLING VAN NORMAN 2HEAV
131| 3383 |KS-1708 [D116 1983846 |AFEMS MACHINE 3417(MACHINE CO INC| 1963 |4093 Y E4860 $6,370
SHAPER, HENDY JOSHUA
132| 3383 |KS-1708 [D116 1983836 |AFEMS METAL 3418|CORP 1994 |3196 298613 | E4860 $5,798
LEM
TESTER, INSTRUMENTS A188503 |HANDY
133| 3383 |KS-44600 |[YARD | 2506279 |USAF GROUND 6625|GMBH 2005 111 GEO E5010 $1,125

11 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS

Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
TESTER, AEMC
134 3390 |KS-00001 [A 2161126 |USAF GROUND 6625|INSTRUMENTS 2003 |09L29495|3711 E4940 $2,009
WILTON CORP
WILTON TOOL
135 3420 |KS-1608 [114 2161392 |USAF SAW, BAND  [3405|DIV 2002 0210398 |7014 E4980 $2,796
LIFT, SISSOR, PRESTO LIFTS
136| 3420 |KS-1608 |HIBAY | 2161117 |USAF MOBILE 3920(INC 2002 |NONE |XP36-15| E4980 $1,110
TECFORINC
PARTNER
137| 3420 |KS-1608 |HIBAY | 2161395 |USAF SAW, CHAIN [3695|INDUST. PROD 2003 |0300059 |K950 E4980 $1,296
YELLOW
METER, SPRINGS
138| 3420 |KS-54731 [101 2161045 |USAF OXYGEN 6630|INSTRUMENT CO| 2002 [03A0001 |5100 E4970 $1,339
YELLOW
METER, SPRINGS
139| 3420 |KS-54731 [101 1661468 |USAF OXYGEN 6630|INSTRUMENT CO| 2002 [02G0238 |5100 E4970 $1,537
OVEN, PRECISION
140| 3420 |KS-54731 [105 2161030 |USAF DRYING 6640|SCIENTIFIC INC 2003 |60308187|70D E4970 $1,390
AR
CONDITIONE DENSO SALES 05010472|PLUS
141| 3430 |KS-1608 |[YARD | 2030377 |USAF R, PORTABLE |4120|CALIFORNIA INC | 2002 |140 14 E5050 $2,201
TRAILER, ABEL TREE
FLAT BED, MOVERS DBA PLS1179
142| 3430 |KS-1608 |YARD | 2160971 |USAF 82"X10' 2330|PROLINE 2003 |7 8210 E5050 $1,125
MANITOWOC CO
ICE MAKING MANITOWOC 02096429|QD0602
143| 3430 |KS-1708 [BAY 2030367 |USAF MACHINE 4110|EQUIP 2002 |8 A-261 E5050 $1,834
12 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
1D907X1
TRAILER, MANUF. 875D536
144| 3500 |KS-44603 |2 3058941 |USAF FLAT BED 2330|UNKNOWN 2004 |580 7'X18' E5020 $1,500
VINBDM
VEHICLE, MANUF. UTXH1A6
145 3500 |KS-44603 |YARD | 2028144 |USAF UTILITY 2310|UNKNOWN 2005 |A05653A |CW11 E5020 $4,610
COMPACTOR, WP1550
146| 3500 |KS-44603 |[YARD | 3059290 |USAF PLATE 3895 |WACKER CORP 2004 |5522318 |RW E5020 $1,650
ALLIED
MOWER, PRODUCTS
147| 3500 |KS-49835 |SHOP | 3059288 |USAF BUSHHOG |3615|BUSH HOG DIV 2004 |1226272 |286 E5020 $1,850
KS- TESTER, HIGH VOLTAGE
148| 3610 |K61446D |SHOP | 2027593 |USAF CABLE 6625|INC 2001 078 PT5375 | E4135 $3,950
MEGOHMMET HIGH VOLTAGE PTS-
149| 3620 |KS-60748 [102 2028150 |USAF ER 6625|INC 2005 223 37.5 E5080 $4,500
CHANCE AB CO
F-PARK T40323
150/ 3620 |KS-60748 [102 2161385 |AFEMS TEST SET 6625 THOMPSON 1995 |NONE |11 E5080 $759
CHANCE AB CO
F-PARK T40323
151| 3620 |KS-60748 [102 2161386 |AFEMS TEST SET 6625 THOMPSON 1995 |NONE |11 E5080 $759
CHANCE AB CO
F-PARK T40323
152| 3620 |KS-60748 [102 2161388 |AFEMS TEST SET 6625 THOMPSON 1995 |NONE |11 E5080 $759
WESTON 00206625
INSTRUMENTS 00232110
153| 3620 |KS-60748 [112 3059177 |AFEMS AMMETER 6625|INC 1975 |4 633-85 | E5080 $134
DOBLE
SENSOR, ENGINEERING A374010 |03D-
154| 3620 |KS-60748 [117 2191180 |USAF MOISTURE  |6630|CO 2005 |2 1447-01| E5080 $4,040

13 of 39

As of 9/27/2006



Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
CHANCE A B CO
F-PARK T40323
155 3620 |KS-60748 [117 2161387 |AFEMS TEST SET 6625 THOMPSON 1995 |NONE |11 E5080 $759
ICE MAKING MANITOWOC CO 03096428|QD0272
156 3620 |KS-60748 [BAY 2161037 |USAF MACHINE 4110{INC 2003 |4 A E5080 $1,985
MOTOROLA HO9KD
RADIO, COMMUNICATIO 326ACC1|COPW5
157| 3620 |KS-60748 1662805 |USAF XTS3000 5820 (NS GROUP 2004 696 AN E5080 $3,000
MOTOROLA HO9RDF
RADIO, COMMUNICATIO 326CDJO |9PW7B
158| 3620 |KS-60748 2505786 |USAF XTS3000 5820 (NS GROUP 2004 |945 N E5080 $3,000
DC05032
PELCO SALES SN08889 |PT1250
159 3630 |KS-1711 [119 3059313 |USAF PAN & TILT  |5820[INC 2004 |83 DC E1370 $1,698
MILLIAMMETE SIMPSON ELECT
160 3630 |KS-1711 [119 3059364 |AFEMS R 6625|F-AMER GAGE 1990 |A622357 |270 E1370 $80
SIMPSON ELECT
161| 3630 |KS-1711 [119 3059367 |AFEMS MULTIMETER |6625|F-AMER GAGE 1990 |A618379 |260 E1370 $80
SIMPSON ELECT
162| 3630 |KS-1711 [214 3059363 |AFEMS MULTIMETER |6625|F-AMER GAGE 1990 |A619643 |260 E1370 $80
OSCILLOSCO 305DM
163| 3630 |KS-49750 |39 1980243 |USAF PE 6625| TEKTRONIX INC 1995 |J308533 |M E1370 $3,610
SHAKER, IMI CORNELIUS
164| 3710 |KS-52003 |7 2030306 |USAF VIBRATION  |6636|INC 2002 201 699A01 | E4315 $2,595
WASHER, P090510 |VHP3-
165| 3830 |KS-44625 |SHOP | 3060081 |USAF PRESSURE  |4940|LANDA INC 2005 6971 700 E4840 $3,050
POWR GARD
FLOODLIGHT GENERATOR
166| 3830 |KS-44625 [YARD | 3059532 |AFEMS SET, 6KW 6230|CORP 2004 |4987 FL-1D E4835 $12,000

14 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
POWR GARD
FLOODLIGHT GENERATOR
167| 3830 |KS-44625 [YARD | 3059533 |AFEMS SET, 6KW 6230|CORP 2004 |4988 FL-1D E4835 $12,000
POWR GARD
FLOODLIGHT GENERATOR
168| 3830 |KS-44625 [YARD | 3059534 |AFEMS SET, 6KW 6230|CORP 2004 5008 FL-1D E4835 $12,000
POWR GARD
FLOODLIGHT GENERATOR
169| 3830 |KS-44625 [YARD | 3059535 |AFEMS SET, 6KW 6230|CORP 2004 |4983 FL-1D E4835 $12,000
POWR GARD
FLOODLIGHT GENERATOR
170 3830 |KS-44625 [YARD | 3059611 |AFEMS SET, 6KW 6230|CORP 2004 |4990 FL-1D E4835 $12,000
POWR GARD
FLOODLIGHT GENERATOR
171| 3830 |KS-44625 [YARD | 3059612 |AFEMS SET, 6KW 6230|CORP 2004 |5014 FL-1D E4835 $12,000
POWR GARD
FLOODLIGHT GENERATOR
172| 3830 |KS-44625 [YARD | 3059613 |AFEMS SET, 6KW 6230|CORP 2004 5011 FL-1D E4835 $12,000
TRAILER, PROLINE
173| 3830 |KS-44635 |SHOP | 3060083 |USAF FLATBED 2330|ENTERPRISES 2005 |119082 |5'X10' E4840 $3,600
TRAILER, PROLINE
174| 3830 |KS-44635 |SHOP | 3060084 |USAF FLATBED 2330|ENTERPRISES 2005 |119083 |5'X10' E4840 $3,600
HAMMER, TE 905-
175| 3910 |KS-44600 |CAGE | 3064007 |USAF BREAKER 5130 [HILTI INC 2006 |07234939|AVR E5010 $1,350
HURST
TOOL, EMERGENCY 56119312|E673LH
176| 4230 |KS-50012 [1056 2161369 |AFEMS RESCUE 4240|PRODUCTS DIV 1997 |1527 K E1320 $13,493
HURST
TOOL, EMERGENCY 56119812|E673LH
177| 4230 |KS-50012 [1056 2161371 |AFEMS RESCUE 4240|PRODUCTS DIV 1997 |1520 K E1320 $13,493
TRANSCEIVE MOTOROLA HO9RDF
R, XTS3000R COMMUNICATIO 326ABW |9PW7B
178| 4230 |KS-50012 |VEH 2505812 |USAF ASTRO I 5820 (NS GROUP 2001 |0384 N E1320 $1,437

15 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
MOTOROLA M20QS
RADIO, COMMUNICATIO 585CEL1 |S9PW1
179| 4230 |KS-60701 1663005 |USAF XTL5000 5820 (NS GROUP 2004 |024 AN E1320 $4,324
MANITOWOC CO
ICE MAKING MANITOWOC
180| 4230 |KS-85010 |7 3064008 |USAF MACHINE 4110|EQUIP 2006 |04095282|QM30A | E1320 $1,052
TRANSCEIVE MOTOROLA HO9RD
R, XTS3000R COMMUNICATIO 326ABW [COPW5
181| 4230 |KS-85010 |ENG#5| 1654412 |USAF ASTRO 5820 (NS GROUP 2001 0332 BN E1320 $1,437
SHOTGUN, REMINGTON 1208094
182| 4300 |KS-60701 |11A 1661519 |AFEMS RIOT, 12MM | 1005|ARMS CO INC 1998 |V 870 E1335 $243
BERETTA USA
183| 4300 |KS-60701 |11A 1662340 |AFEMS006 |PISTOL 1005|CORP 1998 1312197 |[9MM E1335 $497
BERETTA USA
184| 4300 |KS-60701 |11A 1662376 |AFEMS042 |PISTOL 1005|CORP 1998 1312196 |9MM E1335 $497
BERETTA USA
185| 4300 |KS-60701 |11A 1662591 [AFEMS270 |PISTOL 1005|CORP 1998 |1312195 |[9MM E1335 $497
BERETTA USA
186| 4300 |KS-60701 [11A 1662592 |AFEMS272 |PISTOL 1005|CORP 1998 1312199 |[9MM E1335 $497
BERETTA USA
187| 4300 |KS-60701 |11A 1662660 |AFEMS346 |PISTOL 1005|CORP 1998 |1314313 |[9MM E1335 $497
MOTOROLA H18QD
RADIO, COMMUNICATIO 320CEQ8|FIPW6
188| 4310 |KS-1360 |3 2505693 |USAF XTS5000 5820 (NS GROUP 2004 |372 AN E1330 $4,324
MOTOROLA H18QD
RADIO, COMMUNICATIO 320CEQ8|FoPW6
189| 4310 |KS-1360 |3 1663027 |USAF XTS5000 5820 (NS GROUP 2004 |594 AN E1330 $4,324
MOTOROLA H18QD
RADIO, COMMUNICATIO 320CEQ8|FIPW6
190| 4310 |KS-1360 |3 1663141 |USAF XTS5000 5820 (NS GROUP 2004 |648 AN E1330 $4,324
MOTOROLA H18QD
RADIO, COMMUNICATIO 320CEQ8|FoPW6
191| 4310 |KS-1360 |3 2505670 |USAF XTS5000 5820 (NS GROUP 2004 777 AN E1330 $4,324

16 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
MOTOROLA H18QD
RADIO, COMMUNICATIO 320CEQ8|FoPW6
192| 4310 |KS-1360 |3 2505720 |USAF XTS5000 5820 (NS GROUP 2004 917 AN E1330 $4,324
MOTOROLA M20QS
RADIO, COMMUNICATIO 585CELO |S9PW1
193| 4310 |KS-1360 |VEH59| 1662926 |USAF XTL5000 5820 NS GROUP 2004 |576 AN E1330 $4,324
MOTOROLA M20QS
RADIO, COMMUNICATIO 585CELO |S9PW1
194| 4310 |KS-1360 |VEH63| 2506254 |USAF XTL5000 5820 (NS GROUP 2004 |577 AN E1330 $4,324
TRAILER, 03X0178 |UNKNO
195| 4330 |KS-1744 2161438 |USAF AIRBOAT 2330|UNKNOWN 1957 |4 WN E1345 $1,695
HEWLETT- CNBXC4
196| 4350 |KS-49750 |15 3059009 |USAF PRINTER 7025|PACKARD CO 2005 [5129 Q5403A| E1300 $1,691
RECEIVER,
INTRUSION SOUTHWEST
197| 4350 |KS-49750 |6 2191350 |USAF SYSTEM 6350/ MICROWAVE INC| 2005 [NONE |[RPO1 E1300 $4,710
RECEIVER,
INTRUSION SOUTHWEST
198| 4350 |KS-49750 |6 2191351 |USAF SYSTEM 6350/ MICROWAVE INC| 2005 [NONE |[RPO1 E1300 $4,710
INTRUSION
SYSTEM, SOUTHWEST 310BR99
199| 4350 |KS-49750 |6 2191349 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3040 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
200| 4350 |KS-49750 |6 2191352 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3033 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
201| 4350 |KS-49750 |6 2191353 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3035 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
202| 4350 |KS-49750 |6 2191354 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3038 310B E1300 $7,183
17 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
INTRUSION
SYSTEM, SOUTHWEST 310BR99
203| 4350 |KS-49750 |6 2191355 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3036 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
204| 4350 |KS-49750 |6 2191356 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3039 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
205| 4350 |KS-49750 |6 2191357 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3037 310B E1300 $7,183
INTRUSION
SYSTEM, SOUTHWEST 310BR99
206| 4350 |KS-49750 |6 2191358 |USAF MICROWAVE |6350|MICROWAVE INC| 2005 |3034 310B E1300 $7,183
PROJECTOR, F4J00498|CP-
207| 4401 |KS-51900 |101 3059529 |USAF MULTIMEDIA |6730|HITACHIMFG CO| 2005 |8 X340 E1270 $1,249
PROJECTOR, F5E0148 |CP-
208| 4401 |KS-51900 |101 3059376 |USAF MULTIMEDIA |6730|HITACHIMFG CO| 2005 |24 X345 E1270 $1,340
PROJECTOR, F4J00498|CP-
209| 4401 |KS-51900 |106 3059528 |USAF MULTIMEDIA |6730|HITACHIMFG CO| 2005 |6 X340 E1270 $1,249
210| 5111 |KS-1708 [D126 1642372 |AFEMS MULTIMETER | 6625|FLUKE CORP 1995 |5175258 |8060A E5040 $369
211 5111 |KS-1708 |D126 1642373 |AFEMS MULTIMETER | 6625|FLUKE CORP 1095 |4855369 |8060A E5040 $369
AMMETER, MULTI-AMP
212| 5111 |KS-1708 |D126 1642392 |AFEMS CLAMPON 6625|CORP. 1991 |A620022 |1037 E5040 $597
AMMETER, MULTI-AMP
213| 5111 |KS-1708 |D126 1642393 |AFEMS CLAMPON 6625|CORP. 1991 |A618440 |1037 E5040 $597
AMMETER, MULTI-AMP
214| 5111 |KS-1708 |D126 1642394 |AFEMS CLAMPON 6625|CORP. 1991 |A614776 |1037 E5040 $597
OSCILLOSCO 305DM
215| 5111 |KS-1708 |D126 1642395 |AFEMS PE 6625| TEKTRONIX INC 1993 |A619503 |M E5040 $3,028
MEGGER, ASSOCIATED
216| 5111 |KS-1708 |D126 1642399 |AFEMS CHEK 6625|RESEARCH INC 1987 |A480002 |35201 E5040 $450
MOTOROLA HO9RDF
RADIO, COMMUNICATIO 326CCS2|9PW7B
217| 5212 |KS-313  [126 2505798 |USAF XTS3000 5820 (NS GROUP 2004 |064 N E4770 $3,000

18 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
GATES RUBBER
CRIMPER, CO DIV GATES
218| 5212 |KS-313  [139 2020824 |AFEMS POWER, TIRE |4940|CORP 1987 |NONE |3000B E4770 $5,175
LATHE, AMMCO TOOLS
219| 5212 |KS-313  [139 2020825 |AFEMS BRAKE DRUM |4910|INC 1980 [3363A |NONE E4770 $563
LATHE, AMMCO TOOLS
220| 5212 |KS-313  [139 2020826 |AFEMS BRAKE DRUM |4910(INC 1980 |1084668 |NONE E4770 $1,362
SIOUX TOOL CO
GRINDER, F-ALBERTSON &
221| 5212 |KS-313  [139 2020827 |AFEMS VALVE 4910|co 1970 |58403  |645 E4770 $6,006
KLEER-FLO CO
222| 5212 |KS-313  [139 2020831 |AFEMS DEGREASER |4940|F-PRACTICAL 1980 |YY78 70B E4770 $1,005
CLEANER, OWATONNA
TORQUE TOOL CO DBA
223| 5212 |KS-313  [139 2020832 |AFEMS CONVERTER [4940|0TC SPX 1990 |NONE |60081 E4770 $1,263
MANITOWOC CO
ICE MAKING MANITOWOC 03056846|QD0282
224| 5212 |KS-313  |140 2161227 |USAF MACHINE 4110|EQUIP 2002 |4 A E4770 $1,296
TIRE SERVICE CORGHI
EQUIPMENT, ELETTROMECCA 01011146
225| 5212 |KS-313  |140 2030282 |USAF DUNKER 4940|NICA SPA 2002 |6 TS24 E4770 $2,995
DETECTOR, VAC-TEC
226| 5212 |KS-313  [140 2161034 |USAF LEAK 6665|SYSTEMS INC 2003 |VE0196 |2000E E4770 $1,795
MONARCH
MACHINE TOOL
227| 5212 [KS-313  [140 2020833 |AFEMS LATHE, 20"  |3416|cO THE 1952 |35388 |NONE E4770 $18,367
SPRINGFIELD
LATHE, MACHINE TOOL
228| 5212 |KS-313  |140 2020834 |AFEMS ENGINE 3416[CO 1960 |870598 |NONE E4770 $17,566
19 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
LATHE, SOUTH BEND 000072W
229| 5212 |KS-313  |140 2020835 |AFEMS ENGINE 3416 |LATHE CO INC 1965 |R 7388MC| E4770 $9,520
BENDER,
230| 5212 [KS-313  [140 2020836 |AFEMS TUBE 4910|HUTH MFG CORP| 1984 |6084 2739 E4770 $7,606
METAL
MASTE
231| 5212 [KS-313  [140 2020838 |AFEMS SAW, BAND  [3405|DOALL CO 1955 |NONE |R E4770 $16,239
MILLING VAN NORMAN NO2ME
232| 5212 [KS-313  |140 2020839 |AFEMS MACHINE 3417(MACHINE CO INC| 1955 [2225 DIUM E4770 $11,745
SCHROEDER
TOOL AND DIE
233| 5212 [KS-313  [140 2020869 |AFEMS TESTER 4940 (CORP 1985 |4459 HT1003 | E4770 $845
TESTER, HOPKINS MFG
234| 5212 [KS-313  [140 2020205 |AFEMS HEADLIGHT |4910|{CORP 1992 |00428651|B4A E4770 $557
LEAK,
DETECTOR
235| 5212 |KS-313  [140 2020206 |AFEMS HALOGEN 6665|MAC TOOLS 1992 |NONE |AC5550| E4770 $515
EXPERT GENERAL 10003293
236| 5212 |KS-313  |140 2020207 |AFEMS TECH 4910|MOTORS CORP 1992 |8 TECH1| E4770 $1,200
CHRYSLER
CORP SERV & DF49319
237| 5212 [KS-313  [140 2020208 |AFEMS TESTER 4910|PARTS DIV 1992 |668 DRB2 E4770 $1,185
CHRYSLER
DIAGNOSTIC CORP SERV &
238| 5212 [KS-313  |140 2020209 |AFEMS READOUT 6625|PARTS DIV 1992 |NONE |445 E4770 $277
FORD MOTOR T90P50
239| 5212 [KS-313  [140 2020210 |AFEMS TESTER 4910{CO FORD PARTS | 1993 |NONE [ALA E4770 $680
LIFT,
TRANSMISSIO FIELD POWER
240| 5212 |KS-313  [140 2020878 |AFEMS N, 2000LB 4910{CORP OTC DIV 1985 |NONE |NONE E4770 $1,212

20 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
OWATONNA
DOLLY, DUAL TOOL CO DBA
241| 5212 [KS-313  [140 2020185 |AFEMS WHEEL 4910|0TC SPX 1985 |NONE |NONE E4770 $852
KYSOR MACHINE
242| 5212 |KS-313  [142 2020842 |AFEMS SAW, BAND  |3405|TOOL 1967 |H5659 |H5 E4770 $10,413
TESTER,
243| 5212 |KS-313  [142 2020851 |AFEMS RADIATOR  |4910|UNKNOWN 1985 |NONE |NONE E4770 $775
LIFT, BLACKHAWK
TRANSMISSIO AUTOMOTIVE
244| 5212 |KS-313  [142 2020877 |AFEMS N, 2000LB 4910(INC 1985 |CF21015 |67562 E4770 $1,212
COMPRESSO INGERSOLL-
245| 5212 |KS-313  |BAY 2161380 |USAF R, AIR 4310{RAND CO 2002 |02025925|2475 E4770 $2,245
GRAY
JACK, AUTOMOTIVE
246| 5212 [KS-313  |BAY 2027591 |USAF HYDRAUIC, 6T|4910|PRODUCTS CO 2001 |004001 |FSJ120 | EA4770 $1,832
JACK, GRAY
HYDRAUIC, AUTOMOTIVE
247| 5212 |KS-313  |BAY 2027592 |USAF 10T 4910[PRODUCTS CO 2001 003476 |FST200| E4770 $2,312
AMMCO TOOLS P940112
248| 5212 [KS-313  |BAY 2020885 [AFEMS LIFT, VEHICLE|4910|INC 1992 |403 A09 E4770 $3,915
MILWAUKEE
ELECTRIC TOOL
249| 5212 [KS-313  |BAY 2020817 |AFEMS JACK, 4-TON [4910|CORP 1990 |NONE |4079632| E4770 $916
GUARD, AHCON
250| 5212 |KS-313  |BAY 2020821 [AFEMS SAFETY, TIRE [4910|INDUSTRIES INC | 1990 |10100034|7000 E4770 $6,428
JACK, BLACKHAWK
HYDRAULIC, AUTOMOTIVE
251| 5212 [KS-313  |BAY 2027739 |AFEMS 20T 4910(INC 1967 |NONE |67415 E4770 $1,005
DOLLY, DUAL USAF HQ CAP-
252| 5212 [KS-313  |BAY 2020849 [AFEMS WHEEL 4910 MAXWELL AFB 1985 |NONE |NONE E4770 $852
21 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
BLACKHAWK
AUTOMOTIVE
253| 5212 [KS-313  |BAY 2020850 [AFEMS JACK, DOLLY [4910]INC 1985 |1TON  |US14 E4770 $350
DOLLY,
HYDRAULIC, COATS MACHINE
254| 5212 |KS-313  |BAY 2020864 |AFEMS WHEEL 4910{TOOL CO 1992 |NONE |0501 E4770 $660
BALANCER, COATS MACHINE 07-90-06-
255| 5212 [KS-313  |BAY 3059524 |AFEMS TIRE 4910{TOOL CO 1992 |2829 6401 E4770 $7,100
ADAPTER, COATS MACHINE
256| 5212 |KS-313  |BAY 2020866 |AFEMS BUDD 4910{TOOL CO 1992 |NONE [143935 | E4770 $360
ADAPTER, COATS MACHINE
257| 5212 [KS-313  |BAY 2020868 |AFEMS RIM 4910{TOOL CO 1992 |NONE [143936 | E4770 $506
MOUNTER, COATS MACHINE
258| 5212 |KS-313  |BAY 2020871 |AFEMS TIRE 4910{TOOL CO 1992 |NONE  [8000A E4770 $12,037
MOUNTER- COATS MACHINE
259| 5212 [KS-313  |BAY 2020872 |AFEMS DEMOUNTER |4910{TOOL CO 1992 |NONE |NONE E4770 $1,419
USAF HQ CAP-
260| 5212 [KS-313  |BAY 2020873 |AFEMS BREAKER 4910 MAXWELL AFB 1975 |NONE |T01600 | E4770 $614
REEL AND REELCRAFT 5816EM
261| 5212 [KS-313  |BAY 2020874 |AFEMS HOSE ASSY |4930[INDUSTRIES INC | 1990 [239075 |P E4770 $636
REEL AND REELCRAFT 5816EM
262| 5212 [KS-313  |BAY 2020875 |AFEMS HOSE ASSY |4930|INDUSTRIESINC | 1990 [239038 |P E4770 $636
TESTER,
263| 5212 [KS-313  |BAY 2020879 |AFEMS TRAILER 4910|LITE-CHECK INC | 1992 |NONE [900R E4770 $2,231
PUMP, GRACO INC F-
264| 5212 [KS-313  |BAY 2020881 |AFEMS LUBRICANT |4930|GRACO LUBER 1985 |NONE |9653 E4770 $798
AMMCO TOOLS P000008
265| 5212 [KS-313  |BAY 2020883 |AFEMS LIFT, VEHICLE|4910|INC 1992 |160 A09 E4770 $3,915

22 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
AMMCO TOOLS P931212
266| 5212 |KS-313  |BAY 2020884 |AFEMS LIFT, VEHICLE|4910|INC 1992 098 A09 E4770 $3,915
AMMCO TOOLS P940112
267| 5212 |KS-313  |BAY 2020886 |AFEMS LIFT, VEHICLE| 4910|INC 1992  |404 A09 E4770 $3,915
PUMP, ALEMITE DIV OF
LUBRICANT HI STEWART-
268| 5212 |KS-313  |BAY 2020882 [AFEMS PRESSURE  |4930|WARNER 1985 |NONE  |9650 E4770 $880
RECYCLER,
REFRIGERAN SNAP-ON TOOLS A950902 |ACT450
269| 5212 [KS-313  |BAY 2020892 [AFEMS T 4940(CORP 1992 |09 0 E4770 $5,714
BRAKE GRAYMILLS ECONO
270| 5212 |KS-313  |BAY 2020895 [AFEMS WASHER 4910[{CORP 1992 |NONE |KLEAN | E4770 $824
PLATFORM,
MAINTENANC SEFAC TRADING
271| 5212 [KS-313  |BAY 2020183 [AFEMS E 4910|{CORP 1985 |5929 900M40 | E4770 $15,749
DRILLING
MACHINE, BUFFALO FORGE
272| 5212 |KS-511  |BAY1 | 2020813 |AFEMS UPRIGHT 3413|co 1967 |51614572|22 E4770 $3,413
WALKER-
JACK, TURNER DIV OF 66911406
273| 5212 |KS-511 |BAY2 | 2020815 |AFEMS BUMPER 4910|ROCKWELL 1985 |8 93689 E4770 $576
AMERICAN
WASHER, CLEANING
274 5212 |KS-511 |BAY2 | 2020816 |AFEMS PRESSURE  |4940|EQUIPMENT 1996 |951369 |NONE E4770 $1,390
SAW, BAND, KYSOR MACHINE
275| 5212 |KS-511  |BAY2 | 2020811 |AFEMS CUTOFF 3405[TOOL 1967 |685 HS E4770 $5,724
SAW, BAND,
276| 5212 |KS-511 |BAY2 | 2020812 |AFEMS METAL 3405 [DOALL CO 1967 |3152907 |36W E4770 $5,724
BRAKE NATIONAL
MACHINE, SHEETMETAL
277| 5212 |KS-511  |BAY2 | 2020810 |AFEMS METAL 3441 |MACHINE 1983 |NONE |NONE E4770 $3,857
23 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
CLEANING
MACHINE, CLEMENTS QUICKB
278| 5212 |KS-511  |BAY2 | 1982102 |AFEMS BLAST 4940 [NATIONAL CO 1967 |NONE |LAST E4770 $1,119
BRAKE
MACHINE, WHITNEY W A
279| 5212 |KS-511 |BAY2 | 1982103 |AFEMS METAL 3441|CORP 1967 |UB49  |614 E4770 $3,857
FAMCO MACHINE
SHEARING DIV BELCO
280| 5212 |KS-511 |BAY3 | 1982104 |AFEMS MACHINE 3445 [INDUST 1983 |50983455|2572 E4770 $49,456
WALKER-
JACK, TURNER DIV OF 68951911
281| 5212 |KS-511 |BAY3 | 1982101 |AFEMS BUMPER 4910|ROCKWELL 1985 |8 93689 E4770 $576
AGITATOR,
PAINT GRAINGER W W
282| 5212 |KS-511 |SHOP | 2020820 |AFEMS SHAKER 4940(INC 1985 |NONE |6 E4770 $2,770
CLEANER, INLAND
283| 5212 [KS-675 |BAY 3063987 |USAF PARTS 4250 TECHNOLOGY 2006 |70650219|IT-80 E4770 $6,077
GRAY
JACK, AUTOMOTIVE
284| 5212 |KS-676 |SHOP | 2161100 |USAF HYDRAULIC |4910|PRODUCTS CO 2002 062679 |TSL-50 | EA4770 $1,249
CAMERA, AQUA
VIDEO COMMUNICATIO AQBKO1
285| 5212 |KS-676 |SHOP | 2506271 |USAF INSPECTION |5836[NS INC 2005 |05041444|W E4770 $1,895
STEAM SIOUX STEAM S27D25
286| 5212 |KS-676 |SHOP | 3060138 |USAF CLEANER 4940(CLEANER CORP | 2005 |0512008 [0 E4770 $2,619
TESTER,
LIQUID GNY EQUIPMENT
287| 5212 |KS-676 |SHOP | 3059527 |AFEMS VOLUME 6680|LLC 1996 |FB7055 [667000 | E4770 $22,791
JACK,
HYDRAULIC, JET EQUIPMENT
288| 5220 |KS-1744 |BAY 2161462 |USAF 4T 4910|& TOOLS 2004 |01020358|FLJ45 E4910 $1,463

24 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
BALANCER,
VEHICLE COATS CO INC G42JV00
289 5220 [KS-1744 |BAY 3059076 |USAF WHEEL 4910|(DISCONTINUED) | 2004 |9 6200HS | E4910 $4,575
CHAMPION
COMPRESSO PNEUMATIC R151033 [HGR53
290| 5220 |KS-1744 |BAY 1984189 |AFEMS R 4310|MACHINERY 1994 |59 K E4910 $2,074
CHANGER, COATS MACHINE 09513641|H1T500
291| 5220 [KS-1744 |BAY 1984191 |AFEMS TIRE 4910{TOOL CO 1995 |8 0 E4910 $7,240
CHANGER, COATS MACHINE 00025339
292| 5220 |KS-1744 |BAY 1984193 |AFEMS TIRE 4910{TOOL CO 1990 |51 8028700 E4910 $1,483
GUARD, RANDALL MFG F-
SAFETY, TIRE RAMCO EQUIP G170801
293| 5220 [KS-1744 |BAY 1984194 |AFEMS INFLAT 4910|cp 1976 |3 NONE E4910 $1,625
JACK,
HYDRAULIC, 4 LINCOLN L657P16
294| 5220 |KS-1744 |BAY 2023927 |AFEMS TON 4910|ELECTRIC CO 1985 |337 965747 | E4910 $916
ALEMITE DIV OF
PUMP, STEWART-
295| 5220 |KS-1744 |BAY 2023722 |AFEMS LUBRICATION | 4930|WARNER 1995 |A9 NONE E4910 $464
POWER
CUTTER, ESAB WELDING PAJ3060 [CUT TM
296| 5220 |KS-49536 |BAY 2161018 |USAF PLASMA 3431|PRODUCTS INC 2003 |49 650 E4910 $1,837
STENCIL MARSH STENCIL
297| 5220 |KS-49536 |BAY 2161456 |USAF MACHINE 3610 |MACHINE CO 2004 |44605 |R1" E4910 $1,399
STENCIL MARSH STENCIL
298| 5220 |KS-49536 |BAY 2161457 |USAF MACHINE 3610 |MACHINE CO 2004 |36854  |S3/4" E4910 $1,295
JACK,
HYDRAULIC, LINCOLN
299| 5220 [KS-49536 |BAY 2023928 |AFEMS 10 TON 4910|ELECTRIC CO 1985 |NONE |NONE E4910 $1,461
25 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
SERVER, COMPAQ
DUAL COMPUTER D129FRY
300| 5321 |KS-M6342 |165B 2025814 |USAF PROCESSOR |7021|CORP 2001 |K093 ML370 | E1263 $3,669
SERVER, COMPAQ
DUAL COMPUTER D129FRY
301| 5321 |KS-M6342 |165B 2025812 |USAF PROCESSOR |7021|CORP 2001 |1K069 |ML370 | E1263 $3,669
SERVER, COMPAQ
DUAL COMPUTER D129FRY
302| 5321 |KS-M6342 |165B 2025813 |USAF PROCESSOR |7021|CORP 2001 |1K031 |ML370 | E1263 $3,669
GAGE BLOCK
303| 5324 |KS-1724 |13 2161027 |USAF SET 5210[JANSSON AA INC| 2003 [4300 88S E1265 $4,218
DRIVER, AKO INC
TORQUE TORQUE TSD102
304| 5324 |Ks-1724 |17 2028053 |USAF HANDLD 6625|SPECIALTIES DIV| 2002 [2014 0 E1265 $1,495
CRYSTAL
GAUGE, ENGINEERING GAUGE
305| 5324 |KS-1724 |24 3064005 |USAF PRESSURE |6685|CORP 2006 |NONE |CALXP | E1265 $1,495
THUNDER
GENERATOR, SCIENTIFIC
306| 5324 [KS-1724 |6 2019578 |USAF HUMIDITY 6625|CORP 2004 0401411 |2500ST | E1265 $35,280
WHAL CLEANER, LIBERTY
307| 5324 |KS-1724 |L 2030350 |USAF SHOE 3694 [INDUSTRIES INC | 2002 [4560 100FJ E1265 $1,600
WHAL CLEANER, LIBERTY
308| 5324 |KS-1724 |L 2030351 |USAF SHOE 3694 [INDUSTRIES INC | 2002 |4561 100FJ E1265 $1,600
AGILENT
MULTIMETER, TECHNOLOGIES US28031
309| 5325 [KS-981 |45 2020118 |USAF DIGITAL 6625|INC 2004 |278 3458A E1267 $6,838
HARSHAW
OSCILLOSCO CHEMICAL CO 9TDS51
310| 5325 [KS-981 |52 2161309 |USAF PE 6625|THE 2004 |B051427 |04 E1267 $14,311
OSCILLOSCO TDS305
311| 5325 [KS-981 |52 2019576 |USAF PE 6625| TEKTRONIX INC 2004 |B029902 |4B E1267 $9,651

26 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
OSCILLOSCO TDS305
312| 5325 [KS-981 |52 2019577 |USAF PE 6625| TEKTRONIX INC 2004 |B029954 |4B E1267 $9,651
OSCILLOSCO 85864811|9500B/3
313| 5325 [KS-981 |52 2020119 |USAF PE 6625|FLUKE CORP 2004 |6 200 E1267 $25,175
OSCILLOSCO TDS305
314| 5325 [KS-981 |52 2161306 |USAF PE, DIGITAL |6625|TEKTRONIX 2001 |B010355 |2B E1267 $7,539
OSCILLOSCO TDS305
315| 5325 [KS-981 |52 2161307 |USAF PE, DIGITAL |6625|TEKTRONIX 2001 |B023432 |2B E1267 $7,539
TRAILER, 4A6EB14
TANDEM WELLS CARGO 244A017
316| 5420 [KS-73020 3058829 |USAF AXLE 2330[INC 2004 |880 XP7142 | E4650 $5,222
MOTOROLA
ANNE RADIO, COMMUNICATIO 494CDJO |D43KM
317| 5441 |KS-66220 |X 3059228 |USAF SPECTRA A4 [5820|NS GROUP 2004 |791 A7IA4L E4680 $3,500
TRUCK, HOBART CORP 92X119
318| 5511 |KS-50211 |SKID 1980090 [AFEMS AIRCRAFT 2320|WORLD HQ 1992 991792 |6 E4785 $37,997
1730
MAINTENANC | 0029
E PLATFORM, |4888|USAF HQ CAP-
319| 5511 |[KS-605 |YARD | 2022654 |AFEMS AIRCRAFT 4 [MAXWELL AFB 1986 |GFP6336 |B5 E4785 $3,605
6150
0130
5886 [USAF HQ CAP-
320| 5551 |KS-1744 |YARD | 1983003 |AFEMS LOAD BANK 8 |MAXWELL AFB 1979 |790492 |AM24T8| E4790 $7,675
6115
0106
GENERATOR |1661|USAF HQ CAP- 611582A |[AM32A8
321| 5551 |KS-1744 |YARD | 1983006 |AFEMS SET, 72KW 0 |MAXWELL AFB 1982 |zz0473 |6D E4790 $33,905
ESSEX
CART, LIQUID CRYOGENICS OF TMU27
322| 5551 |KS-605 |SHOP | 2191308 |AFEMS OXYGEN 3655 |MISSOURI 1984 |0674 M E4790 $12,351

27 of 39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
BAG,
PNEUMATIC REGENT JACK
323| 5551 [KS-605 |YAR 2191189 [AFEMS LIFTING 5120|MFG CO 1999 |NONE |NONE E4790 $34,164
AIR FORCE
BAG, LOGISTICS
324| 5551 |[KS-605 |YARD | 2191307 |AFEMS PNEUMATIC |1730|COMMAND 1988 0095 NONE E4790 $2,103
STAND, AIR FORCE
MAINTENANC LOGISTICS
325| 5551 |[KS-605 |YARD | 2191303 |AFEMS E 1730|COMMAND 1990 0002 B5 E4790 $4,058
JACK,
HYDRAULIC NEAL MACHINE 82003680
326| 5551 |[KS-605 |YARD | 2191304 |AFEMS TRIPOD, 10TN [ 1730|CORP 1987 |58 B6 E4790 $2,048
FLOODLIGHT POWR GARD
SET, GENERATOR
327| 5551 |[KS-605 |YARD | 2191305 |AFEMS PORTABLE |6230|{CORP 2000 [1726 FLID E4790 $12,000
FLOODLIGHT POWR GARD
SET, GENERATOR
328| 5551 |[KS-605 |YARD | 2191306 |AFEMS PORTABLE |6230{CORP 2000 |1725 FLID E4790 $12,000
MOTOROLA HO9RDF
RADIO, COMMUNICATIO 326CCU2|9PW7B
329| 5551 |KS-691 |SHOP | 1662963 |USAF XTS3000 5820 (NS GROUP 2004 732 N E4790 $3,000
HOBART
GENERATOR BROTHERS CO AM32A8
330| 5551 |[KS-691 |YARD | 2020334 |AFEMS SET, 72KW  [6115|THE 1982 |3431 6 E4790 $33,906
TRANSFORM TRILECTRON 281050
331| 5551 |[KS-691 |YARD | 2028203 |AFEMS ER RECTIFIER|6130|INDUSTRIES INC | 1985 |NONE |TR E4790 $2,248
GENERATOR HOLLINGSWORT AM32A8
332| 5551 |[KS-691 |YARD | 2028210 |AFEMS SET, 72KW  |6115|H JOHN R 1979 |7901155 |6 E4790 $33,905
TOWBAR, AIR FORCE
AIRCRAFT, LOGISTICS
333| 5551 |[KS-691 |YARD | 2027665 |AFEMS NOSE 1730|COMMAND 1996 |R065 MD1 E4790 $2,881

28 of 39

As of 9/27/2006



Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
AIR FORCE
TOWBAR, LOGISTICS
334| 5551 |[KS-691 |YARD | 2027667 |AFEMS AIRCRAFT 1730|COMMAND 1967 |0124 NONE E4790 $966
AIR FORCE
TOWBAR, LOGISTICS
335| 5551 |[KS-691 |YARD | 2027668 |AFEMS AIRCRAFT 1730|COMMAND 1970 |NONE |NONE E4790 $966
DOLLY,
DISABLED R.E. ATCKISON MHU10
336| 5551 |[KS-691 |YARD | 2027671 |AFEMS WHEEL 1730|CO., INC. 1983 |2434079 |4E E4790 $1,635
DOLLY,
DISABLED R.E. ATCKISON MHU10
337| 5551 |[KS-691 |YARD | 2027672 |AFEMS WHEEL 1730|CO., INC. 1983 2434069 |4E E4790 $1,635
STAND, AIR FORCE
MAINTENANC LOGISTICS
338| 5551 |[KS-691 |YARD | 2027673 |AFEMS E 1730|COMMAND 1982 |0001 B5 E4790 $4,058
STAND, AIR FORCE
MAINTENANC LOGISTICS
339| 5551 |[KS-691 |YARD | 2027676 |AFEMS E 1730|COMMAND 1982 |0002 B4 E4790 $3,500
JACK,
HYDRAULIC NEAL MACHINE
340| 5551 |[KS-691 |YARD | 2027677 |AFEMS TRIPOD, 10TN | 1730|CORP 1987 |1303 B6 E4790 $2,048
AIR FORCE
JACK, WING, LOGISTICS
341| 5551 |[KS-691 |YARD | 2027679 |AFEMS 30TN 1730|COMMAND 1991 0001 NONE E4790 $4,115
AIR FORCE
JACK, WING, LOGISTICS
342| 5551 |[KS-691 |YARD | 2027680 |AFEMS 30TN 1730|COMMAND 1991 |0002 NONE E4790 $4,115
AR
CONDITIONE ENGINEERED AIR
R, TRAILER SYS F- MA3D100
343| 5551 |[KS-691 |YARD | 2027681 |AFEMS MTD 4120|AMERICAN 1997 |805 MA3D E4790 $49,761

29 of 39

As of 9/27/2006



Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
AR
CONDITIONE ENGINEERED AIR
R, TRAILER SYS F- MA3D100
344| 5551 |[KS-691 |YARD | 2161459 |AFEMS MTD 4120|AMERICAN 1997 |784 MA3D E4790 $49,761
AIR FORCE
TEST STAND, LOGISTICS
345| 5551 |[KS-691 |YARD | 3059150 |AFEMS HYDRAULIC |4920|COMMAND 1985 |300 MK3A1 | E4790 $41,054
HYDRAULICS
TEST STAND, INTERNATIONAL
346| 5551 |[KS-691 |YARD | 2027684 |AFEMS HYDRAULIC |4920|INC 1996 |596 MJ2A1 | E4790 $30,163
AIR FORCE
COMPRESSO LOGISTICS CD3179D
347| 5551 |[KS-691 |YARD | 2027685 |AFEMS R, AR 4310{COMMAND 1994 |983158 |MC7 E4790 $8,187
STAND, AIR FORCE
MAINTENANC LOGISTICS
348| 5551 |[KS-691 |YARD | 2027688 |AFEMS E 1730|COMMAND 1994 0001 B4 E4790 $3,500
JACK, FLOOR, LINCOLN
349| 5551 |[KS-691 |YARD | 2027691 |AFEMS 4TN 4910|ELECTRIC CO 1993 |6089 MIL657 | E4790 $890
JACK, FLOOR, LINCOLN
350| 5551 |[KS-691 |YARD | 2027692 |AFEMS 4TN 4910|ELECTRIC CO 1993 0240 MIL657 | E4790 $890
FUEL SPOKANE BOW20
351| 5551 |[KS-691 |YARD | 2027693 |AFEMS BOWSER 2330|INDUSTRIAL 1993 |359092 |005 E4790 $5,000
AIR FORCE
CART, LOGISTICS
352| 5551 |[KS-691 |YARD | 2027695 |AFEMS OXYGEN 3655 |COMMAND 1988 |9212 NONE E4790 $1,919
ESSEX
CART, LIQUID CRYOGENICS OF TMU27
353| 5551 |[KS-691 |YARD | 2027696 |AFEMS OXYGEN 3655 |MISSOURI 1998 |0044 M E4790 $12,351
WASHER, P089679 |P65430
354| 5551 |[KS-691 |YARD | 2027700 |AFEMS PRESSURE  |4940|LANDA INC 1991 |52 321 E4790 $2,040
AIR FORCE
CART, LOGISTICS
355| 5551 |[KS-691 |YARD | 2027701 |AFEMS HYDRAULIC |4910|COMMAND 1989 0001 NONE E4790 $1,797

30 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls

Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
CART, STEWART
356| 5551 |[KS-691 |YARD | 2027703 |AFEMS HYDRAULIC |4910[AVIONICS INC 1993 |620893 |NONE E4790 $472
JACK,
AIRCRAFT, COLUMBUS JACK
357| 5551 |[KS-691 |YARD | 2027705 |AFEMS 35TN 1730|CORP. 1994 |245 NONE E4790 $4,416
TELECTRO-MEK PMU29
358| 5551 |[KS-691 |YARD | 2027706 |AFEMS CART, OIL 4930[INC 1984 |84586327|E E4790 $890
JACK,
HYDRAULIC, REGENT JACK 53D220
359| 5551 |[KS-691 |YARD | 2027709 |AFEMS 5TN 1730|MFG CO 1985 |3684 20 E4790 $490
JACK,
HYDRAULIC, REGENT JACK 53D220
360| 5551 |[KS-691 |YARD | 2027710 |AFEMS 5TN 1730|MFG CO 1985 |3679 20 E4790 $490
AIR FORCE
JACK, LOGISTICS
361| 5551 |[KS-691 |YARD | 2027707 |AFEMS TRIPOD, 3TN |1730|COMMAND 1987 |0758 8587 E4790 $981
JACK, COLUMBUS JACK
362| 5551 |[KS-691 |YARD | 2027712 |AFEMS HYDRAULIC |1730|CORP. 1999 99427  |8925 E4790 $1,957
GENERATOR HOLLINGSWORT KA73003 [MEP016
363| 5551 |[KS-691 |YARD | 2027713 |AFEMS SET 6115|H JOHN R 1973 |04830 |A E4790 $4,491
VAN
STEENBURGH
ENGINEERING
364| 5551 |[KS-691 |YARD | 2027718 |AFEMS RECLAIMER |4130(LAB 1993 |07953207|JV90A1 | E4790 $2,327
TRAILER, AIR FORCE
MAINTENANC LOGISTICS
365| 5551 |[KS-691 |YARD | 2027729 |AFEMS E 2330|COMMAND 1980 0001 NONE E4790 $3,654
AIR FORCE
BLOWER, LOGISTICS
366| 5551 |[KS-691 |YARD | 2027719 |AFEMS GAS ENGINE |1730|COMMAND 1980 0975 NONE E4790 $1,992
AIR FORCE
BLOWER, LOGISTICS
367| 5551 |[KS-691 |YARD | 2027720 |AFEMS GAS ENGINE [1730|{COMMAND 1980 0996 NONE E4790 $1,992

310f39

As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
AIR FORCE
BLOWER, LOGISTICS
368| 5551 |[KS-691 |YARD | 2027721 |AFEMS GAS ENGINE |1730|{COMMAND 1980 0047 NONE E4790 $1,992
AIR FORCE
BLOWER, LOGISTICS
369| 5551 |[KS-691 |YARD | 2027722 |AFEMS GAS ENGINE |1730|COMMAND 1980 |4118 NONE E4790 $1,992
AIR FORCE
BLOWER, LOGISTICS
370| 5551 |[KS-691 |YARD | 2027723 |AFEMS GAS ENGINE |1730|{COMMAND 1980 |1115 NONE E4790 $1,992
AIR FORCE
BAG, LOGISTICS
371| 5551 |[KS-691 |YARD | 2027724 |AFEMS PNEUMATIC |1730|COMMAND 1988 0001 NONE E4790 $2,103
AIR FORCE
BAG, LOGISTICS
372| 5551 |[KS-691 |YARD | 2027725 |AFEMS PNEUMATIC |1730|COMMAND 1988 |0004 NONE E4790 $2,103
AIR FORCE
BAG, LOGISTICS
373| 5551 |[KS-691 |YARD | 2027726 |AFEMS PNEUMATIC |1730|COMMAND 1988 |0084 NONE E4790 $2,103
AIR FORCE
BAG, LOGISTICS
374| 5551 |[KS-691 |YARD | 2027728 |AFEMS PNEUMATIC |1730|COMMAND 1988 |0285 NONE E4790 $2,103
CART, PACIFIC
NITROGEN CONSOLIDATED
375| 5551 |[KS-691 |YARD | 2028079 |AFEMS SERVICE 3655|IND 2002 |77770911|NONE E4790 $45,000
CART, PACIFIC
NITROGEN CONSOLIDATED
376| 5551 |[KS-691 |YARD | 2028080 |AFEMS SERVICE 3655|IND 2002 |77770915|NONE E4790 $45,000
CONSOLE,
PNEUMATIC USAF HQ CAP-
377| 5551 |[KS-691 |YARD | 2028081 |AFEMS BAG 1730|MAXWELL AFB 2002 |0105 NONE E4790 $6,798
FLOODLIGHT POWR GARD
SET, GENERATOR
378| 5551 |[KS-691 |YARD | 2161461 |AFEMS PORTABLE |6230{CORP 2000 [1723 FLID E4790 $12,000

32 0f 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
FLOODLIGHT POWR GARD
SET, GENERATOR
379| 5551 |[KS-691 |YARD | 2022661 |AFEMS PORTABLE |6230{CORP 2000 [1727 FLID E4790 $12,000
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
380| 5551 |[KS-691 |YARD | 1982903 |AFEMS SET, 72KW 0 |HJOHNR 1985 |KZ00979 |6D E4790 $33,905
COMPRESSO LIBBY CORP F-
R, GAS LIBBY WELDING AM32A9
381| 5551 |[KS-691 |YARD | 1982992 |AFEMS TURBINE 2835|CO 1997 |RZ00815 |5 E4790 $145,686
COMPRESSO LIBBY CORP F-
R, GAS LIBBY WELDING AM32A9
382| 5551 |[KS-691 |YARD | 1982993 |AFEMS TURBINE 2835|CO 1997 |RZz00814 |5 E4790 $145,686
6230
FLOODLIGHT |0087|POWR GARD
SET, 7917|GENERATOR
383| 5551 |[KS-691 |YARD | 1982996 |AFEMS PORTABLE 2 |CORP 1997 00305  |FLID E4790 $12,000
6230
FLOODLIGHT |0087|POWR GARD
SET, 7917|GENERATOR
384| 5551 |[KS-691 |YARD | 1982997 |AFEMS PORTABLE 2 |CORP 1997 00307  |FLID E4790 $12,000
6230
FLOODLIGHT [0122|POWR GARD
SET, 4093|GENERATOR
385| 5551 |[KS-691 |YARD | 1982998 |AFEMS PORTABLE 8 |CORP 1998 00306  |FLID E4790 $12,000
6115
0042 (LIBBY CORP F-
0848 (LIBBY WELDING RZ79007 [AM32A6
386| 5551 |[KS-691 |YARD | 1983000 |AFEMS GENERATOR | 6 |cO 1979 |86 0A E4790 $241,643
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
387| 5551 |[KS-691 |YARD | 2028204 |AFEMS SET, 72KW 0 |HJOHNR 1986 |KZ02791 |6D E4790 $33,906

330f39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
6130
0122
TRANSFORM |2047|TRILECTRON 281050
388| 5551 |[KS-691 |YARD | 1983005 |AFEMS ER RECTIFIER| 5 [INDUSTRIESINC | 1986 [37970527|TR E4790 $2,248
6115
0106
GENERATOR |[1661|HOLLINGSWORT AM32A8
389| 5551 |[KS-691 |YARD | 2161460 |AFEMS SET, 72KW 0 |HJOHNR 1986 |NONE |6D E4790 $33,905
6130
0122
TRANSFORM |2047|TRILECTRON 281050
390| 5551 |[KS-691 |YARD | 1983009 |AFEMS ER RECTIFIER| 5 [INDUSTRIESINC | 1986 [37940764|TR E4790 $2,248
6115
0106
GENERATOR |[1661|HOLLINGSWORT 611582A |[AM32A8
391| 5551 |[KS-691 |YARD | 2028202 |AFEMS SET, 72KW 0 |HJOHNR 1982 |zz0198 |6D E4790 $33,906
6130
0122
TRANSFORM |2047|TRILECTRON 281050
392| 5551 |[KS-691 |YARD | 2020335 |AFEMS ER RECTIFIER| 5 [INDUSTRIESINC | 1985 |37870063|TR E4790 $2,248
6115
0042 (LIBBY CORP F-
0848 (LIBBY WELDING RZ79001 [M32A60
393| 5551 |[KS-691 |YARD | 1983105 |AFEMS GENERATOR | 6 |cO 1980 |091 A E4790 $241,643
LIBBY CORP F-
LIBBY WELDING RZ79001 [AM32A6
394| 5551 [KS-691 |YARD | 1983107 |AFEMS GENERATOR [6115|CO 1962 |085 0A E4790 $241,643
GENERATOR USAF HQ CAP- 611586A |AM32A8
395| 5551 |[KS-691 |YARD | 1983108 |AFEMS SET, 72KW  |6115|MAXWELL AFB 1962 |zz3395 |6D E4790 $33,905
LIBBY CORP F-
LIBBY WELDING RZ79001 [AM32A6
396| 5551 |[KS-691 |YARD | 1983111 |AFEMS GENERATOR [6115|CO 1980 |083 0A E4790 $241,643

34 of 39 As of 9/27/2006




Copy of NEMS Plant Equip 20060920.xls Plant Equipment in NEMS
Air Force Right of First Refusal Property

A B C D E F G H | J K L M
OR-
GANI-
ZA- EQUIPMENT| UNIQUE YEAR OF
TION CONTROL |EQUIPMENT MANU- | SERIAL
1 | CODE |BUILDING|ROOM| NUMBER | NUMBER | ITEM NAME |NSN|MANUFACTURER|FACTUREINUMBER|MODEL|ACCOUNT| COST
HOBART
GENERATOR BROTHERS CO 79PS010 [AM32A8
397| 5551 |[KS-691 |YARD | 1983125 |AFEMS SET, 72KW  [6115|THE 1979 |2 6 E4790 $33,905
SCALE, FAIRBANKS 02206020 HR2300
398| 6250 |KS-K7164 |1 2029711 |USAF FLOOR 6670|SCALES INC 2002 0018 2 E1450 $3,420
SCALE, FAIRBANKS 02206020 HR2300
399| 6250 [KS-K7164 |1 2029712 |USAF FLOOR 6670|SCALES INC 2002 [0022 2 E1450 $3,420
SWITCH, CABLETRON 20709913|2E4327
400| 8040 |KS-1611 [S202 2505865 |USAF SMART 2200 |[5895|SYSTEMS 2000 0001240 |R E3290 $4,349
ROUTER, CISCO SYSTEMS JAB0440
401| 8040 |KS-1641 [108 2505857 |USAF ETHERNET |5895|INC 2000 |8B34 2621 E3290 $3,523
PAIRGAIN
TECHNOLOGIES 58720135(1501150
402| 8040 |KS-1641 [108 2505858 |USAF MODEM, LAN |7025|INC 2000 |4 01 E3290 $1,784
SWITCH, SCA0451
403| 8040 |KS-1641 [108 2191342 |USAF CATALYST  [5895|CISCO SYSTEMS | 2000 [025R 6509 E3290 $56,861
SWITCH, CISCO SYSTEMS FAA0434 [WSC35
404] 8040 |KS-1704 [1109 2505866 |USAF CATALYST  [5895|INC 2000 |FODN  |48XLEN| E3290 $4,022
HUB,
ETHERNET, CABLETRON 10947080
405| 8040 |KS-1704 |1215 2505864 |USAF STACKABLE |[5895|SYSTEMS 2000 |72604GG |SEHI24 | E3290 $1,959
WS-
SWITCH, CISCO SYSTEMS FHK0617 |C3524-
406| 8040 |KS-1711 |125A 2505860 |USAF NETWORK  |5895[INC 2002 |YOKD  |XL-EN E3290 $2,203
WS-
SWITCH, CISCO SYSTEMS FHK0617 [C3524-
407| 8040 |KS-1711 209 2505861 |USAF NETWORK  |5895|INC 2002 |203s XL-EN E3290 $2,203
SWITCH, CISCO SYSTEMS FAB0443 [WSC29
408| 8040 |KS-1724 |7A 2505855 |USAF ETHERNET |5895|INC 2000 |T1DQ  |24XLEN| E3290 $2,161
SWITCH, CISCO SYSTEMS FAB0443 [WSC29
409| 8040 |KS-1724 |7A 2505856 |USAF ETHERNET |5895|INC 2000 |51A5 24XLEN| E329